PREMEREFR
‘

/TiE

A -FA EB#FIF

KREE#EZHMIT/OEM and ODM Factory
MHERARRY - RABERY -BEHERY - REEERY - THERES

1D0a

Wil

‘-FAﬁaﬁ:Ir
FHRENYE, BHlFs/ 38

Accurate every Data,Control every Process

TTHRFHE VAL

add: [ RERETKRESDNET7S
https://www.fazcwj.com

TEL: +86 769-85303229

E-mail: jennyguo@fazcwj.com

uaydbuayz

H-ATREZER



EFRAES®
- oon B A o e

ARTERBEEARAIVNUFPEHNEWRE--T"RE
AETEKRE, EREGSESEVPEHIHLERGETHERN
—&, FRANKRE, REKEZL, KAHEE, ENHERE
, ERENEENMRIRBEOEAH.

ARETEREEERLATBE2002FEFRILIURAEREE —,
MEELNLEER, —HURRIIREALET,

NERREA REENAKREEFZTEFATUEREYZ—,

EFRESZEGMTL. MBEE,

ARAFREBECHALN, BEEHRASHREKBREL, BEHE
£, KIEE, EMUHK, TRRLEAHSEREMT M@,
AEFENGELR. RUBLAGRHENGEEESN,
ZTRREXNEREERAESD, BELRTRELHE/N
NEBHELEE XHEIARMERS EERT MBME
EAEG, A—KLONHBE, ERKBLEEBRTRNE
IR, EAMKFHEHFREMEN,
LITHRESIN  m. RRESPNMBER, B, ZEH
xETEH.

MIHHEEE

T 8 23 53 7 R

=

:\:ti._%—_':» o I 57[ : o ;

——

e B s 2 D¢

213y 349 ?,U




CONTENS
H=x

WEEERT 01
B Sk 2 2 51 54
i 40 4 22 51 54
0 818 #F %5 07
AR R 19
I 71198 4 31 -
5 78 4 K1 14>
REREL R 162
IT VRS -
XERT 185
PEEYPY) -
i {1 4 3 5) 213
. 22 " . 2 | | g s
g @ # R 284 '

Bl 52 55 R 51 303

=
b ]




B Y

by 0 .
A P i h__ | | { | / |
A [} f N E [ ) U f !

o _

L LAMNVEREW

o g,;ﬁ_uggsa _,,

@. nﬁﬁﬁtﬁ.ﬁﬁﬁ'\‘@ﬁvﬁv

iiiiiiiiiiii

_L.‘yg¢¢¢44¢4¢¢4&¢¢

) %_J.,%?;z%gs

SN ampmame R nE Y~

Spring Plunger

ZHENGCHEN HARDWARE



w SHEERESE
= Spring Plungers

=l BT Type+M - S Part Number Type+M - S
Bign ZPJH 10-10 order ZPJH 10-10

[ 1 IM3, MAKUERE TOATATIALIE.

[ ! 1Thread-locking adhesive is not applied on M3 and M4.

[ ! 15Emin TRIAGRE , max BROEEAENRERNGE.

[ ! IMin. is the initial load, and max. is the loadwhen the tip is fully compressed.

_ BHALE
min max loosening prevention treatment
/(M57M30)

7

=5 SRS 1%
§+g. 5 t _ B
Los

3 RXIERFE (Materials)
ZF{FMain Body 4Pin JEEESpring
s TR
Load Category Standard | M ;5 HmibE M ;5 EEIbE MR
Material | Hardness Surface Treatment Material | Hardness Surface Treatment Material
BERE B TR
Ultra Light Load ZPJS S45¢ 29~35HRC Black Oxide S45¢ >7~63HRC Trivalent Chromate SWP-B
ZEL N
. ol ZPJL S45C 29~35HRC EE S45C 57~63HRC . FEFERE SWP-B
|| gk Light Load Black Oxide Trivalent Chromate
MBI
Steel Nose S
Heavy Load ZPJH S45C 29~35HRC Black Oxide S45C 57~63HRC Black Oxide SWP-B
29~35HR ~ -
Extra Heavy Load ZPiX S45¢ 9~35HRC Nickel Plating S45¢ >7~63HRC Black Oxide SWPp-8
3 EXIE8Z& (Materials)
- BT ZE{KkMain Body $4Pin EESpring
gy
Load Category No Thread R s EEINE HE s EEINE &R
Locking Material | Hardness Surface Treatment Material | Hardness Surface Treatment Material
BEE R SRR
. = 29~35HRC . ~ . 5
Ultra Light Load ZPJS-N 545C Black Oxide S45C >7~63HRC Trivalent Chromate SWP-B
2R > Mz332,
. 25 ZPJL-N S45C 29~35HRC E’%. S45C 57~63HRC . TR SWP-B
ae Light Load Black Oxide Trivalent Chromate
G ol
Steel Nose - N .
= RE KB
- 29~35HRC ~ . =
Heavy Load ZPJH-N S45¢ Black Oxide S45¢ >7~63HRC Black Oxide SWp-8
HEEH R KR
Extra Heavy Load ZPIX-N S45¢ 29~35HRC Nickel Plating S45¢ >7~63HRC Black Oxide SWP-B




w SHEERESE
= Spring Plungers

BsSTfl ESe

Type+M - S

fugn

ZPJH 10-10

[ 1 IM3, MAKUERE TOATATIALIE.
[ ! 1Thread-locking adhesive is not applied on M3 and M4.

[ ! 15Emin TRIAGRE , max BROEEAENRERNGE.
[ ! IMin. is the initial load, and max. is the loadwhen the tip is fully compressed.

Part Number
order

SEINIEBFE (Specifications)

Type+M - S

ZPJH

10-10

mst - BERN | BE/N ZER/N
Part Number d ? ERH/RH/ER EEH B Ultra Light Light Load Heavy Load Extra Heavy Load
Ultra Light / Light / | Extra Heavy Load

Type M| S Heavy Load Load min. [ max.| min.|  max. min.|  max. min. max.
3 [15]11] 1005 10 15 0.9 | 0.05]0.32] 044 16 0.9 42 25 5.1

3| 3| 11| 1500 15 20 09 |009]032[029| 10 11 49 25 6.8

4| 2 [ 16| 1509 15 24 13 | 0.23]065| 09 41 19 8.7 6.2 153

a | a|1s6 24 24 24 13 [ 0.24]065| 07 22 |o029 83 48 15.0

5 | 3 [20] 2007 20 27 15 | 0.74|295| 15 9.8 2.0 225 11.0 304

5 | 5 |20 2739 27 39 15 (072|295| 16| 104 |25 234 116 315

6 | 3 |25 2530 25 30 2 |oss| 32|34 104 [125| 338 17.2 46.6

6 | 5 |25 30036 30 36 2 |oss| 32| 19 9.7 6.2 326 16.8 474

6 | 10 | 25 30 39 / 2| /7| /7 |15 109 |50 327 / /

s | 3 |31 2527 25 27 25 09]33] 35 94 |117] 312 281 56.9

8 | 5 [31] 2730 27 35 250933 29 96 8.3 319 10.5 399

g | 1031 30 43 / 25| /| /7 |32 112 | 84| 364 / /

10| 5 |38 30 30 35 3 | 19]47] 28 141 [114| 510 17.0 73.7

10 | 10 | 38 30 43 53 3 | 17]47] 29 146 | 95 60.8 137 75.5

10 | 15 | 38 30 58 / 3| /| /|34 170 7.2 57.3 / /

12| 5 | 55| 3035 30 43 4 | 15|47 35 17.1 56| 410 353 107.9

12 | 10 | 55 35 43 58 4 135925 211 5.2 55.9 127 107.9

zps | 12 | 15 | 55 35 51 78 4 | 16| 59|23 194 | 51 53.6 167 140.2
zp)L [ 12 ] 20 | 55 35 78 / a | /| /7 1a1| 225 |87 56.1 / /
ZPJH 16 | 10 | 8 35 60 60 5 | 1.7 |128]|121| 380 |265| 780 29.6 157.9
Zf:.::(N 16 | 15| 8 35 60 70 5 | 17 [128] 97 397 |142| 794 10.0 1422
PN | 16 [ 20 | 8 35 85 90 5 | 17|128] 86| 401 |168| 804 43 146.1
ZPJH-N [ 16 | 30 | 8 35 125 125 s |/ | /|17 38 198| 812 5.2 1407
ZPJX-N 1 16 | 40 | 8 35 125 / s | /| 7/ |s5]| 412 76 | 843 / /
16 [ 50| 8 35 155 / s | /| /7 |44] 483 |75 78.8 / /

16 | 60 | 8 35 159 / 5| /| /| 41| 496 64| 781 / /

16 |70 8 35 185 / s | /| /|31 557 | 43 95 / /

16 | 80 | 8 35 185 / s | /| /7 |25] 513 32| 1035 / /

20 | 15 | 10 45 60 80 6 | /| 7 |144] 794 |225] 1471 145 2746

20 | 20 | 10 45 72 / 6 | /| 7 |139] 834 23 | 1579 / /

20 | 30 | 10 45 9% / 6 | /| 7 |136] 883 |[186| 154 / /

20 | 40 | 10 45 120 / 6 | /| 7 |134| 1008 |[268| 1951 / /

24| 7 | 10 45 60 / 10| /| 7 |278] es9 [407]| 1279 / /

24 | 15 | 10 45 60 84 10| /| /7 |255| 1069 |469| 2265 55.1 375.2

24 | 20 | 10 45 75 / 10| /| /s |153] 101 [431| 2246 / /

24 | 30 | 10 45 100 / 10| /| 7 |191] 1000 [478| 2314 / /

24 | 40 | 10 45 124 / 10| /| 7 |171] 981 [a41]| 2255 / /

30 | 15 | 14 45 66 / 14| /| /7 | 93| 1044 |324] 2599 / /

30 | 20 | 14 45 78 / 14| /| 7/ |552| 1569 [726| 3565 / /

30 | 30 | 14 45 100 / 14| /| /7 |284| 1283 |416| 2903 / /

30 | 40 | 14 45 123 / 14 | 7 | 7 |147] 1002 [444| 303 / /




w SHEERESE
= Spring Plungers

=l BT Type+M - S Part Number Type+M - S
Bign ZNPJH10 - 10 order ZNPJH10 - 10

[ 1 IM3, MAKUERE TOATATIALIE.

[ ! 1Thread-locking adhesive is not applied on M3 and M4.

[ ! 15Emin TRIAGRE , max BROEEAENRERNGE.

[ ! IMin. is the initial load, and max. is the loadwhen the tip is fully compressed.

A B

min max loosening prevention treatment
(M57M30)

7

= O Y

s

Los

A EJERZE (Materials)
Hgizx L Nf?ﬁfjd %153 E:Ef S REAIE %f;;] gﬁ%;;r =
Load Category Standard . > > > -
Locking Material | Hardness Surface Treatment Material Material
#BiE#F Ultra Light Load ZNPJS ZNPJS-N S45C 29~35HRC A& 2Black Oxide BRY5EEPolyacetal | SWP-B
S = ] 12#Light Load ZNPJL ZNPJL-N S45C 29~35HRC A& BBlack Oxide R4gBEPolyacetal [ SWP-B
Plastic Tip E#Heavy Load ZNPJH ZNPJH-N S45C [ 29~35HRC & HBBlack Oxide R4gEgPolyacetal [ SWP-B
#BE#H Extra Heavy Load ZNPJX ZNPJX-N S45C 29~35HRC #E=ENickel Plating BR4gEEPolyacetal | SWP-B
ik L /N BH/N E#H/N HBEH/N
Part Number d 4 BE/E/EY mEs B |UttraLight Load Light Load Heavy Load Extra Heavy Load
Type M S Ultriq;fv';tfozght/ Extra Heavy Load min. | max. [ min. max. min. max. min. max.
3 15| 11 10(15) 10 15 0.9 (0.05(0.32] 044 16 0.9 4.2 2.5 51
3 3 11 15(20) 15 20 0.9 10.09]0.32]0.29 1.0 11 49 25 6.8
4 2 1.6 15(24) 15 24 13 10.23|065( 0.9 41 19 8.7 6.2 15.3
4 4 16 24 24 24 1.3 ({0.24(0.65( 0.7 2.2 0.29 8.3 4.8 15.0
5 3 |20 20(27) 20 27 15 10.74|1295( 1.5 9.8 20 22.5 11.0 304
5 5 120 27(39) 27 39 1510.721295( 1.6 104 2.5 23.4 116 315
6 3 2.5 25(30) 25 30 2 [085( 32| 34 10.4 12,5 33.8 17.2 46.6
ZNPJS [ 6 | 5 [ 25| 30036) 30 36 2 |os8s5| 32|19 9.7 6.2 32,6 16.8 474
ZZ:::JJI'_" 8 | 3 |31| 2527 25 27 25|09 33|35 94 |117| 312 2811 56.9
ZNPJX 8 5 31 27(30) 27 35 25109 ]33] 29 9.6 8.3 319 10.5 399
10 5 3.8 30 30 35 3 19| 47| 28 14.1 114 51.0 17.0 73.7
ZNPJS-N | 10 | 10 | 338 30 43 53 3 [17]47|29| 146 |95| 608 137 75.5
ZZ:::JJ::I-_':‘ 12 5 5.5 30(35) 30 43 4 15| 47 | 35 17.1 5.6 41.0 353 107.9
ZNPIX-N | 12 | 10 | 55 35 43 58 4 | 135925 211 5.2 55.9 127 107.9
12 | 15 | 55 35 51 78 4 16 | 59| 23 19.4 51 53.6 16.7 140.2
16 | 10 8 35 60 60 5 17 (128|121 38.0 26.5 78.0 29.6 157.9
16 | 15 8 35 60 70 5 1.7 | 128 | 9.7 39.7 14.2 79.4 10.0 142.2
16 | 20 8 35 85 90 5 17 (128 86 40.1 16.8 80.4 43 146.1
16 | 30 8 35 125 125 5 / |[17.0 38.0 19.8 81.2 5.2 140.7
20 | 15 10 45 60 80 6 / | 144 79.4 22.5 147.1 14.5 274.6
24 | 15 | 10 45 60 84 10 / | 255 106.9 46.9 226.5 55.1 375.2




w SHEERESE
= Spring Plungers

AN LS B Type+M - S Part Number Type+M - S
Flan ZPJHW10 - 10 order ZPJHW10 - 10

SR

e LU R RN

" aaanaunnn’

AAAAAAAA . 3A8AAAS

[RBESEZRT AL ISER

[ ! 1Thread-locking adhesive is not applied.

[ ! 15Emin TRIAGRE , max BROEEAENRERNGE.

[ ! IMin. is the initial load, and max. is the loadwhen the tip is fully compressed.

min  max

=0 SRR RE|
! . —
+0.5 f
S )
0
L-os
SE388%& (Specifications)
s N - ZF{kMain Body £4Pin JEESpring
Boss iiz?ﬁ;:atio n Loajick:::gco ry S'Z\r’\%%d # E. # E. R M E.
Material Material Hardness Material
#BE#Ultra Light Load ZPJLSW SUS303 SUS420 55HRC~ SUS304
TR Z#Light Load ZPILW SUS303 SUS420 55HRC~ SUS304
Stainless Steel Nose H#kHeavy Load ZPJHW SUS303 SUS420 55HRC~ SUS304
#BE#Extra Heavy Load ZPJXW SUS303 SUS420 55HRC~ SUS304
#Bt2# Ultra Light Load ZPJLSK SUS303 BRYrEEPolyacetal / SUS304
e E Z#Light Load ZPJLK SUS303 RYEEEPolyacetal / SUS304
Plastic Nose Z=#Heavy Load ZPJHK SUS303 E4EFgPolyacetal / SUS304
#BE%;Extra Heavy Load ZPJXK SUS303 BRYEEEPolyacetal / SUS304
BiztPart Number d ? L B UItrzgfiéjft/ ’I\_load Liﬁfﬁ{c’:‘ad He%viyk {Ead ExtraEci I-%iz/;NLoad

Type M S min. max. min. max. min. max. min. max.

3 1.5 | 1.0 15 15 | 09 [ 0.12 0.4 0.4 13 0.8 2.94 11 342

3 3 [10] 15| 15| 09 |0.12 04 0.2 13 0.6 2.93 0.8 341

4 2 | 16| 15| 15 | 1.3 |0.27 0.65 0.9 2 2.0 8.8 6.1 13.8

4 4 | 16| 24| 24| 13018 0.65 0.6 21 19 8.75 5.8 13.6

5 3 201 20 | 20 | 15| 04 3 14 9.7 2.7 16.3 6.8 220

5 5 20 | 27 | 27 | 1.5 (035 3 11 10.3 1.0 17.1 5.7 215

ZZPI:JLLSV‘\IIV 6 | 3 [25]2s]2s] 2 [18] 305 [eo0 98 |80 | 264 [158] 356

ZPJHW 6 5125|3030 | 2 |15 3.05 34 9.86 44 26.6 129 344

ZPJXW 8 3 |31 25| 25 (25| 19 3.15 6.0 9.9 14.7 27.0 219 36.3

ZPJLSK | 8 | 5 | 31|27 |27 |25]| 14 3.15 4.0 9.83 6.7 26.6 14.7 345

zZ:le:i 10 5 3830|303 |16| 46 |57| 147 |[82| 457 [245] 586

ZPIXK 10 | 10 | 3.8 | 30 | 43 3 |16 46 44 14.7 6.2 45.1 19.8 58.7

12 5 55| 30 | 30 4 1.7 4.7 5.8 14.7 18.2 49.0 349 63.6

12 | 10 | 55| 35| 43| 4 | 16 47 5.0 14.7 8.2 49.1 25.5 63.6

12 | 15 [ 55| 35 51 4 1.8 4.7 6.9 14.7 7.5 48.9 20.1 63.7

16 | 10 | 80 35 57 5 2.8 10.8 9.2 34.2 18.9 68.5 38.7 88.4

16 | 15 | 80 35 57 5 2.6 10.8 8.6 34.4 14.4 68.6 33.9 88.1

16 | 20 | 80 | 35 | 65 5 2 11 7.1 344 42 68.6 254 88.1




wdi

n FERUEHEITER

BISIfl

= Spring Plungers-Short Type

B Type+M-S

ZPJLS10-10

Part Number
order

Type+M - S

ZPJLS 10 - 10

[ ! 15Emin TRIAGRE , max BROEEAENRERNNE.
[ ! IMin. is the initial load, and max. is the load when the tip is fully compressed.

[ ! IPJLS/PIFWSRFBFFIAIEIE | BEKLURIGAIEE.

[ ! IPJLS/PJFW features Due to the special steucture , these plungers have a short full length L.

NS

loosening prevention treatment

§+g, 5

min max
rd
\ ¥ [ 2 -
S A

7

A

L-os

Y

1A RIERE (Materials)

BSType F{KAMain Body $HPin 3EESpring
£K k=4 R BE RELE BE REALE MR
Length Load Material Hardness Surface Treatment | Material Hardness Surface Treatment Material

= 251 BB T
Short Light Load ZPILS S45¢ 29~35HRC Black Oxide >7~63HRC Trivalent Chromate SWP-B

DSes] B k3R &R
Extra Short Light Load ZPIFW S45¢ 29~35HRC Black Oxide >7~63HRC Black Oxide SWPp-8

SEIIEBFE (Specifications)

L fagLoad(N)
Biz{Part Number =
d B ZPJLS ZPJFW
ZPJLS ZPJFW
Type M S max. min max.
10 5 3.8 22 3 18.1 / /
10 | 10 38 30 3 16.4 / /
12 5 5.5 22 19 4 18.2 5.7 16.2
ZPJLS 12 | 10 5.5 30 23 4 224 27 159
ZPJFW 12 | 15 5.5 39 30 4 225 25 16.7
16 | 10 8.0 / 24 5 / 3.6 22.6
16 | 15 8.0 / 33 5 / 3.3 211
16 | 20 8.0 / 38 5 / 3.0 21.9




w Al FEEH SR
= Spring Plungers with Flat Nose

=l BT Type+M - S Part Number Type+M - S
Bign ZPJLF 10 - 10 order ZPJLF 10 - 10

[ ! 1GREmIn TTAIARE , max RRDEEAENRERTIGE.
[ ! IMin. is the initial load, and max. is the load when the tip is fully compressed.

PIHARLIE

min max loosening prevention treatment

= o [Py
co. 3 S+8'5 2

A EXTERZE (Materials)

S Type FEfkMain Body HPin EESpring
Lz 2git] %154 e REAE )5 e RELE %15
Light Load [ Material | Hardness Surface Treatment Material | Hardness Surface Treatment Material
ZPJLF S45C 29~35HRC BIacyffxide S45C 57~63HRC Trivalenigéiromate SWP-B

BistPart Number q . L B fa#kLoad(N)

Type M S min. max.
5 3 (20| 20 | 20 | 15 2 9.8
5 5 (20| 27| 27 | 15 2 9.8
6 3 | 25| 25| 25 2 5.9 9.8
6 5 25| 30| 30 2 2 9.8

ZPJLF 8 3 [31| 25| 25| 25 5.9 9.8
8 5 (31| 27| 27 | 25 29 9.8
10 5 (38| 30| 30 3 5.9 14.7
10 | 10 | 3.8 | 30 | 43 3 29 14.7
12 | 10 | 55| 35 | 43 4 29 19.6




n NAHELRE TR
= Spring Plungers - Hex-Pin Type

=l BT Type+M - S Part Number Type+M - S
Bign ZPJLR10-10 order ZPJLR 10 - 10
[ ! IREmin BRIAGRE , max FROIERAENRERITE.
[ ! IMin. is the initial load, and max. is the load when the tip is fully compressed.

[ ! IPJLR/PJHREIFHE AT 2B , T ASEIRFRE | TREHIRE.

[ ! JFeatures of PJLR and PJHR Because the pin shape is hexagonal , the pins can be installed
using a wrench , no special wrench isrequired.

_ GLAVISE
R min max loosening prevention treatment

4

W o
— WVVVVVVV
0
L-os
3 RXIERFE (Materials)
F{A&Main Body $HPin S8EESpring
e =3 7R RELE %15 R RELE %15
Load Category Type Material #EEHardness Surface Treatment Material Hardness Surface Treatment Material
o .
Liglﬁil_koad ZPILR S45¢ 29~35HRC Blacyf’fxide S45¢ >7~63HRC Trivalenitgéiromate SWp-B
Hea;i;gl_zoad ZPJHR S45C 29~35HRC BIacjffxide S45C 57~63HRC Blacf;%xide SWP-B
Bs{ fh#kLoad(N)
Part Number H R { L B ZPJLR ZPJHR

Type M S min. max. min. max.

10 5 140 | 19|30 | 30 3 2.8 14.1 114 51.0

10 | 10 |40 | 19| 30 | 43 3 29 14.6 9.5 60.8

12 5 50| 2930 | 30 4 35 17.1 5.6 41.0

12 | 10 | 50 | 29 | 35 | 43 4 2.5 211 5.2 55.9

12 | 15 | 50 | 29 | 35 | 51 4 23 19.4 5.1 53.6

16 | 10 | 70 | 41 | 35 | 60 5 12.1 38 26.5 78.0

ZPJLR 16 | 15 | 70 | 41 | 35 | 60 5 9.7 39.7 14.2 79.4

ZPJHR 16 | 20 |70 | 41|35 | 8 | 5 8.6 40.1 16.8 80.4

16 | 30 | 70 | 41| 35 (125 5 17.0 38.0 19.8 81.2

16 | 50 | 70 | 41| 35 (155 5 44 48.3 7.5 78.8

16 | 80 | 70 | 41| 35 (185 5 2.5 51.3 3.2 103.5

24 7 (100 52| 45 | 60 | 10 27.8 65.9 40.7 127.9

24 [ 15 |[100| 52 | 45 | 60 | 10 25.5 106.9 46.9 226.5

30 | 20 |13.0| 76 | 45 | 78 | 14 55.2 156.9 72.6 356.5




» BRI AFLESREE SR

m Spring Plungers with Hexagonal Socket

=l BT Type+M - S Part Number Type+M - S
Bign ZPJLH 10 - 10 order ZPJLH 10 - 10

[ ! 15Emin TRIAGRE , max BROEEAENRERNGE.
[ ! IMin. is the initial load, and max. is the load when the tip is fully compressed.

FrHAALTE

min max loosening prevention treatment

7
cUV VO =

S+0. 5 B
0
0
L-os

N

ZF{FMain Body 4Pin JEEESpring
pEZES me
%154 WE REAE MR W REAE %15
Load Category Type . . ]
Material | Hardness Surface Treatment Material | Hardness Surface Treatment Material
L2 KR e
Light Load ZPILH S45¢ 29~35HRC Black Oxide S45¢ >7~63HRC Trivalent Chromate SWP-B
SEIIEBFE (Specifications)
Bzt Part Number 2#Light Load(N)
d { L Bl | B2
Type M S min. max.
8 3 [30]25 |25 |25 3 5.8 9.8
8 5 [30]25 |25 |25 3 2.7 9.8
10 5 (40| 30 | 34 3 4 5.8 14.7
ZPJLH
10 [ 10 | 40 | 30 | 38 3 4 2.6 14.7
12 5 [50 | 35 | 35 4 5 5.6 14.7
12 | 10 | 5.0 | 35 | 40 4 5 3.0 19.7




w EETHEEE
= Spring Plungers with Flanges

L= LM BT Type+M - S

fugn

ZFPJL10 - 10

Type+M - S

Part Number
order

[ ! 1TEmin XRYIIARTREL , maxFE R

ZFPJL10 - 10

DERAENRERIAIRE.

[ ! IMin. is the initial load, and max. is the load when the tip is fully compressed.

BTVNSE S

min max loosening prevention treatment
/ (M5"M16)
—
L Aol b W R
r ‘ ' |—J ff \” 5” VRV {
. | —_—
S+0. 5H 0 £
J 0 _Tl—_o. 1 B
0
I Los
3 RXIERFE (Materials)
F{A&Main Body $HPin S8EESpring
TRERDHE BE
Load Category |  Type HIE W EEINE M e EmEgE HIE
Material Hardness Surface Treatment Material Hardness Surface Treatment Material
. .
Liglﬁil_koad ZFPIL S45¢ 29~35HRC BIacyfffxide S45¢ >7~63HRC Trivalenitgéiromate SWp-B
Hea;i;gl_zoad ZFPJH S45C 29~35HRC Blacjffxide S45C 57~63HRC Blacfé)%xide SWP-B
SEIIEBFE (Specifications)
B Part Number fgiLoad(N)
d D T { L B a ZFPJL ZFPJH
Type M S min max. min max.
3 |15]11 5 |115]| 5 10 | 09 | 05 0.44 1.6 0.9 42
3 3 |11 5 115] 5 151 09| 05 0.29 1.0 11 49
4 2 |16 6 [ 18| 6 15 | 1.3 | 0.7 0.9 41 1.9 8.7
4 4 |16 6 | 18| 6 24 | 13| 07 0.7 2.2 0.3 83
5 3 |20 7 (20| 8 20 | 15| 1.2 1.5 9.8 2 225
5 5120 7 (20| 8 27 | 15| 1.2 1.6 10.4 2.5 234
6 3 |25 8 [ 25| 9 25 1.5 34 104 125 338
6 5125 8 [ 25] 9 30 1.5 1.9 9.7 6.2 326
8 3 (31| 10| 2512 | 25| 25| 15 35 9.4 11.7 31.2
ZFPJL 8 5 (3110|2512 (27 | 25| 15 29 9.6 83 31.9
ZFPJH 10 5 (38| 12 | 25| 15 | 30 3 |15 2.8 141 11.4 51.0
10 | 10 |38 | 12 [ 25| 15 | 43 3 |15 2.9 14.6 9.5 60.8
12 5 [55| 14 |30 )20 | 30| 4 |20 35 17.1 5.6 41
12 | 10 |55 | 14 (3.0 | 20 | 43 4 |20 2.5 211 5.2 55.9
12 | 15 | 55| 14 |30 | 20 | 51 4 |20 2.3 194 51 53.6
16 | 10 |80 | 18 [ 3.0 | 25 | 60 5120 12.1 38 26.5 78
16 | 15 | 80 | 18 | 3.0 | 25 [ 60 5120 9.7 39.7 14.2 79.4
16 | 20 |80 | 18 [ 3.0 | 25 | &5 5120 8.6 40.1 16.8 80.4
16 | 30 |80 | 18 |30 [ 25 [125| 5 |20 17 38 19.8 81.2
16 | 40 |80 | 18 (3.0 [ 25 [125| 5 |20 5.5 41.2 7.6 84.3




» PEFRETE

m Spring Plungers for Slanted Surfaces

=l BT Type+M - S Part Number Type+M - S
Bign ZPJHZ10 - 10 order ZPJHZ10 - 10

PJHZA9%FK PJHZ's strengths

1 RAEHGEE , B8 T HEEINKREYE | 1 The special structure imporoves resistance to wear

AIERHE L. and seizure , allowing use on slanted surfaces.
2 FTERIEEEILAMER, 2 Can be used oil-free.
3 {FEAE/EE0°~30°, 3 Angles of use : 0°~30°.
. gL
min max /Ioosen ing prevention treatment
s

-

LA VY \/
S+g‘5 'Special bushing 2

0
Los
A EXIERZE (Materials)

o ZF{kMain Body $4Pin JEESpring
%:e HIE i EEALE HIE i FEALE IR
Material | Hardness Surface Treatment Material | Hardness Surface Treatment Material
ZPJHZ S45C 29~35HRC BIaciifxide S45C S50HRC~ Nickfﬁating SWP-B
BxPart Number q . L B fagiLoad(N)
Type M S min. max.
10 | 10 4 | 30 | 43 3 9.5 60.8
12 | 10 5 35| 43 4 5.2 55.9
12 | 15 5 [ 35 51 4 5.1 53.6
ZPJHZ 16 | 10 8 |35 | 60 5 26.5 78.0
16 | 15 8 | 35 | 60 5 14.2 794
16 | 20 8 [ 35 | 85 5 16.8 80.4
16 | 30 8 [35 |125| 5 19.8 81.2

[ ! 1fAaEmin RRRE , max FROEEXENRENINGRE,
[ ! IMin. is the initial load, and max. is the load when the tip is fully compressed.



w TR B R T

= Spring Plungers with Tapped Nose
LO=d M B Type+ M-S

ZPJLTP10 - 10

Type+ M-S
ZPJLTP10 - 10

fugn

Part Number
order

[ ! 1GREmIn TTAIARE , max RRDEEAENRERTIGE.
[ ! IMin. is the initial load, and max. is the load when the tip is fully compressed.

. U
U] mas loosening prevention treatment
%
UJW VY I"\}jx"_ Q‘jr VA T\{? VAV \}’/H b

__ L1
il Los

A EXIEBE (Materials)

ZF{FMain Body 4Pin JEEESpring
Ezmar BE
%154 E REAE MR W REAE %15
Load Category Type . . ]

Material | Hardness Surface Treatment Material | Hardness Surface Treatment Material

L2 KR R
el s ZPJILTP S45C 29~35HRC Black Oxide S45C 57~63HRC Nickel Plating SWP-B
Heavy Load ZPJHTP S45C 29~35HRC Black Oxide S45C 57~63HRC Black Oxide SWP-B

SEIIEBFE (Specifications)
) BHI(N) FH(N)
B Light Load Heavy Load
Part Number d L (mf|Lr|{wl|r B
ZPJLTP ZPJHTP

Type M S min max. min max.

12 ( 15 | 55| 51 | 35 | M3 | 6 4 4 4 29 19.6 49 49.0

12 ( 20 | 55| 78 | 35 | M3 | 6 4 4 4 35 19.6 6.9 49.0

16 | 15 8 60 | 35 [ M4 | 8 7 5 5 39 39.2 12.7 78.5

ZPJLTP 16 | 20 8 85 | 35 | M4 8 7 5 5 49 39.2 9.8 78.5

ZPJHTP | 16 | 30 [ 8 [125| 35 | M4 | 8 7 5 5 29 39.2 6.9 78.5

20 | 15 [ 10 | 60 | 45 | M5 | 10 8 6 6 12.7 78.5 24.5 147.1

20 | 20 [ 10 | 72 | 45 | M5 | 10 8 6 6 11.7 78.5 22.6 147.1

20 | 30 [ 10 | 96 | 45 | M5 | 10 8 6 6 11.7 78.5 22.6 147.1



n FEITOHEETEE
= German Standard spring plunger

. Ea=ed B Type + M Part Number Type + M
— fugn ZCPWFL10 order ZCPWFL10
=

=

=

e

e

S

[ ! 1GREmIn TTAIARE , max RRDEEAENRERTIGE.
[ ! IMin. is the initial load, and max. is the load when the tip is fully compressed.

A e
E ﬁ “ —I W '\yr ‘.E/'/T '\,‘u.l'le I

AN il JII /) -
| \ .
S #.5 0
0 0.5
#1EXIBRZE (Materials)

BISType F{kMain Body 4Pin JEEESpring
12529 =4 IR W REE %15 e RELE %15
Light Load Heavy Load Material | Hardness Surface Treatment Material | Hardness Surface Treatment Material
BB BB
ZCPWFL ZCPWFH S45C 29~35HRC Black Oxide S45C 55HRC~ Black Oxide SWP-B
ZCSPWL ZCSPWH S45C 29~35HRC Black Oxide Polyacetal / / SWP-B
ZCPWNL ZCPWNH SUS303 / / SUS440C | 55HRC~ / SUS304
ERyERE
ZCSPNL ZCSPNH SUS303 / / Polyacetal / / SUS304
SEIIERZE (Specifications)
Bzt BE(N) EE=1())
Part Number d S L B Light Load Heavy Load
Type M min max. min max
3 |10 1 12 | 0.7 2 4 / /
ZCPWEL 4 | 15|15 15 | 13 4.5 16 / /

ZCSPWL 5 ]124]23]| 18 | 15 6 19 11 40

ZCPWNL 6 [ 27| 25| 20 2 6 19 15 43

ZCSPNL 8 [35] 3 [ 2225 10 39 20 75

ZCPWFH 10 | 4.0 3 22 3 10 39 20 75

ZCSPWH 12 | 60 | 4 28 | 4 12 53 45 120

ZCPWNH 16 |75( 5 | 32| 5 45 100 64 160

ZCSPNH 20 | 10 7 | 40 6 52 125 75 195

24 | 12 | 10 | 52 8 70 170 75 245




n EHIENBHEEEE
= American press in spring

=M BT Type + D Part Number Type + D
fusn ZPFBBO0.25 order ZPFBB0.25

[ ! 1GREmIn TTAIARE , max RRDEEAENRERTIGE.
[ ! IMin. is the initial load, and max. is the load when the tip is fully compressed.

-— !
g &) _J.__._.____ \ LA LSAL AR _
= INVAVAVAY .
: N
[0 ]
|
min max
#2EYIBRZE (Materials)
F{KMain Body $4Pin JEESpring
BE
Type MR WE FERLE R R RELE MR
Material Hardness Surface Treatment Material Hardness Surface Treatment Material
kR y22)
ZPFBB S45C 29~35HRC Black Oxide S45C 55HRC~ Black Oxide SWP-B
RE RYAEE
ZPFPP S45C 29~35HRC Black Oxide Polyacetal / / SWP-B
ZPSSN SUS303 / / SUS420C 55HRC~ / SUS304
BRYEEE
ZPSNN SUS303 / / Polyacetal / / SUS304
SEIERZ (Specifications)
i thEk/fE
Part Number D1 d S L H Load/LBS
(inch) (inch) (inch) (inch) (inch)
Type D(inch) min. max.
0.125 0.187 0.07 0.062 0.252 0.03 1 2
ZPFBB 0.188 0.25 0.121 0.094 0.441 0.04 1.5 4.5
ZPEPP 0.25 0.312 0.168 1/8 0.521 0.05 2.5 6
ZPSSN 0.312 0375 0.186 0.151 0.643 0.06 4 10
ZPSNN 0.375 05 0.234 0.187 0.786 01 5 14
0.5 0.688 0.332 1/4 11 0.13 8 18




» HIERRE TR
= Short Spring Plungers-Standard

Eo=s Il B Type + M Part Number Type + M
fusn ZSPJS 10 order ZSPJS 10

[ ! 1GREmIn TTAIARE , max RRDEEAENRERTIGE.
[ ! IMin. is the initial load, and max. is the load when the tip is fully compressed.

BrFAALEE

mi N loosening prevention treatment

max . (M5"M16)
|
— (NI U/wrt
1T 1 | IV
O o1 KA
LU Y e
! \ /
S+0. 5 0
0 ~0.5
E— — — =]
A EXIEBE (Materials)
it i AR ZF{fMain Body 4Pin JEEESpring
NETT 7N/
o No Thread | % W HERLE & 4 HEGNE R
Load Category Standard . : . ]
Locking Material Hardness | Surface Treatment [ Material Hardness Surface Treatment Material
B KB R
Ultra Light Load ZSPJs ZSPIS-N | SCM435 | 29~35HRC Black Oxide S45¢ >7~63HRC Trivalent Chromate SWP-B
REL Mz33Z ava
. el ZSPJL ZSPJL-N | SCM435 |29~35HRC ﬁ% S45C 57~63HRC . FEFERE SWP-B
|| gk Light Load Black Oxide Trivalent Chromate
Ml
Steel Nose S
ey ZSPJH ZSPJH-N [ SCM435 | 29~35HRC Black Oxide S45C 57~63HRC Black Oxide SWP-B
BEH iR )
Extra Heavy Load ZSPJF ZSPJF-N | SCM435 |29~35HRC Nickel Plating S45C 57~63HRC Black Oxide SWP-B
Ultra Light Load ZSPRRS | ZSPRRS-N| SCM435 | 29~35HRC Black Oxide Polyacetal / / SWp-B
.
L ijfl_k d ZSPRM | ZSPRM-N | SCM435 |[29~35HRC Bl ff id nggﬁﬁt | / / SWP-B
RS ight Loa ack Oxide olyaceta
Heavy Load ZSPRH !/ SCM435 129~35HRC Black Oxide Polyacetal / / SWp-B
HBE ] RYERE
Extra Heavy Load ZSPRF ZSPRF-N | SCM435 | 29~35HRC Nickel Plating | Polyacetal / / SWP-8
SEIVIEBZE (Specifications)
Bzt BEHE(N) BEE(N) =EH(N) HBEH(N)
Part Number d S L ? B Ultra Light Load Light Load Heavy Load Extra Heavy Load
Type M min. max. min. max. min. max. min. max.
ZSPJS ZSPJS-N 3 112] 1 7 1|15 0.11 0.48 0.4 15 0.8 2.0 / /
ZSPJL ZSPJL-N 4 |21 12 9 15 2 0.49 1.55 16 5.0 2.0 9.0 44 119
ZSPJH  ZSPJH-N [ 5 (27| 15| 12| 2 | 25 0.53 2.53 2 7.8 49 14.7 41 249
ZSPIF - ZSPIEN e s T 1s [ 13 [ 25| 3 | o089 311 2.9 9.8 5.9 196 77 306
ZSPRRS JSPRREN 8 [40 (20 | 15 | 25| 4 0.9 3.14 29 9.8 5.9 19.6 8.6 43.0
ZSPRM 7SPRM -N 10 | 50 | 25 | 16 3 5 1.76 471 4.9 14.7 9.8 294 141 53.1
ZSPRH  coppn | 12|60 [ 35] 20 | 3 6 1.96 4.82 49 14.7 9.8 29.4 23.1 58.3
ZSPRF 16 [80 |45] 22| 3 | 8 3.29 9 9.8 294 196 58.8 266 7838




» FEHIEEIEEE
= Stainless Steel Short Spring Plungers

Eo=s Il B Type + M Part Number Type + M
fusn ZSPJY 10 order ZSPJY 10

[ ! 1GREmIn TTAIARE , max RRDEEAENRERTIGE.
[ ! IMin. is the initial load, and max. is the load when the tip is fully compressed.

=
>

=
QO
>

AR
| /

R o J—
0
=0.5
A EXIEBE (Materials)
F{KMain Body $Pin JEESpring
pEZES AR
Load Category Standard Mﬁ. Mﬁ. (e Mﬁ.
Material Material Hardness Material
B
Ultra Light Load ZSPJY SUS304 SUS420 55HRC~ SUS304
. i ZSPJK SUS304 SUS420 55HRC~ SUS304
] Light Load
Steel Nose =
ZSPJZ SUS304 SUS420 55HRC~ SUS304
Heavy Load
BE ZSPJX SUS304 SUS420 55HRC~ SUS304
Extra Heavy Load
fiiZ 2 RYFEE
Ultra Light Load i SR Polyacetal / SR
22 i
. B ZSPRK SUS304 i / SUS304
] Light Load Polyacetal
Plastic Tip = BRURE
eesd ZSPRZ SUS304 Polyacetal / SUS304
BE s
Extra Heavy Load ZSPRX SUS304 Polyacetal / SUS304
S#FJEBZE (Specifications)
B3y BEE(N) BH(N) BHH(N) HBEE(N)
Part Number d S L ? B Ultra Light Load Light Load Heavy Load Extra Heavy Load
Type M min. max. min. max. min. max. min. max.
3 12 1 7 1 15 0.11 0.49 0.5 1.51 0.8 2.0 / /
;::j; 4 (2112 9 |1s5] 2 0.51 1.54 16 438 20 9.0 4.0 115
ZSPJZ 5 27| 15| 12 2 | 25 0.62 2.49 2 7.9 5.1 14.7 6.0 24.2
ZSPJX 6 | 32| 15| 13 | 25 3 0.97 3.06 2.8 9.9 5.5 19.6 9.4 29.5
ZSPRY 8 | 4 |20 15| 25| 4 1.16 3.26 3.6 10.9 6.1 19.6 13.5 437
;Z';E; 105 |25]16] 3| s 1.54 4.76 42 14.6 9.6 294 19.1 533
ZSPRX 12 6 | 35| 20 3 6 1.81 4.82 4.6 14.8 104 29.4 24.5 58.8
16 8 | 45| 22 3 8 31 9.1 9.9 29.3 18.0 58.8 26.6 78.7




w SHIEEIESE
= American made short plunger

EO=En Tl BT Type + d1 Part Number Type + d1
Bign ZCSPL 6#-32 order ZCSPL 6#-32

[ ! 1GREmIn TTAIARE , max RRDEEAENRERTIGE.
[ ! IMin. is the initial load, and max. is the load when the tip is fully compressed.

PrRa4b3e

mi n loosening prevention treatment

maXx

0
-0.5
12 EIEBZE (Materials)
F{KMain Body $4Pin JEEESpring
=5arS Bg
%54 WE RELE (%153 TR RELE %15
Load Category Type . : ]
Material Hardness Surface Treatment Material Hardness Surface Treatment Material
B BB B
Light Load ZCPHL S45C 29~35HRC Black Oxide S45C 55HRC~ Black Oxide SWP-B
Heavy Load ZCPHH S45C 29~35HRC Black Oxide S45C 55HRC Black Oxide SWP-B
EH ZCSPL SUS304 / / 440C 55HRC~ / SUS304
Light Load
=1
ZCSPH SUS304 / / 440C 55HRC~ / SUS304
Heavy Load
SEIIERFE (Specifications)
Biz{Part Number B2E EJH/E
a1 a2 L S ws Light Load/LBS Heavy Load/LBS
Type (inch) (inch) (inch) (inch)
UNC/UNF min. max. min. max.
6#-32 0.046 17/32 0.063 1/16 0.5 1.5 1.5 34
8#-32 0.07 5/8 0.094 5/64 0.8 23 2.6 6.6
10#-32 0.093 3/4 0.125 3/32 14 2.7 3.2 9.0
1/4-20 0.119 1" 0.188 1/8 1.0 4.0 31 10.1
ZCPHL | 1/4-28 0.119 1" 0.188 1/8 1.0 40 31 10.1
ZZCCF;I:::' 5/16-18 0.135 1" 0.188 5/32 1.5 4.5 3.0 15.0
ZCSPH 3/8-16 0.186 1-1/8 0.188 3/16 2.7 7.2 5.5 12.7
1/2-13 0.248 1-1/4 0.25 1/4 2.7 9.3 6.6 16.0
5/8-11 0.31 1-1/2 0.313 5/16 3.5 10.6 10.5 222
3/4-10 0.374 1-3/4 0.313 3/8 5.5 14.5 6.7 33.0
1-8 0.499 2-13/32 0.5 3/8 4.0 31 16.0 60.0




(1 ST

» —FERIEE
m Slotted short plunger

Eo=s Il B Type + M Part Number Type + M
Flan ZQP 10 order ZQP 10

[ ! 1GREmIn TTAIARE , max RRDEEAENRERTIGE.
[ ! IMin. is the initial load, and max. is the load when the tip is fully compressed.

LLALL ALY

mi

>

= T, -I__J\w TV =

U]
S+0. 5 J
ME_ e

—0. S

N

#1EXIBBZE (Materials)

- ZF{KkMain Body #HPin JEEESpring
f;fe IR o FEALIE IR i FEALE MR
Material | Hardness Surface Treatment Material | Hardness Surface Treatment Material
ZQP S45C 29~35HRC BIacyffxide S45C 55HRC~ Blaciifxide SWP-B
ZQS SUS303 / / SUS440C | 55HRC~ / SUS304
Bizg ta#kLoad
Part Number d S L n (N)
Type M min max
4 1.8 1.5 9 0.6 45 125
5 24 2 12 0.8 13
6 27 2 14 1 6 17
Jop 8 3.8 2 16 1.2 16 33
ng 10 4.5 2.5 19 1.5 19 42
12 6.0 35 22 2 22 57
16 8.5 4.5 24 2 38 78
20 10 6.5 30 2.5 39 81
24 13 8 34 3 72 155




 FERYVRME TR
= Short Micro Spring Plungers

EO=n Il B Type+ D-S Part Number Type+D-S
fan ZMPFS 5-4 order ZMPFS 5-4
[ ! 1AL EF LR T ADHT,
[ ! IRecommended Diameter of Mounting Hole: DH7.

[ ! IERAETIRER | LBLERGE.

[ ! ]Use adhesive to prevent loosening.

u E3LBY(Flat) = BREBY(Spherical)

+0.5 I_ 0 +0.5 0
0.5 - -0.5

0.5

0

@)
O
U
%)
;U

’
i

— , P =
A, T |2 a

min max min max
2 EYIBBZE (Materials)
ESType FfEMain Body #5Pin s Spring
DS ——— ;
Load Category | T2 HRER RIS MR B
Flat Spherical Material Material Material
25 ZMPFS ZMPJS SUS303 SUS304 SUS304
Light Load

SHFJEBFE (Specifications)

BIstPart Number fa#kLoad(N)
d D1 L C
Type D phy S min. max.
15 15 0.5 2 9.5 0.05 0.49 0.98
2 1.5 1 2.5 8 0.1 0.49 0.98
ZMPFS
ZMPJS 3 3 2 3.5 10 0.15 0.49 147
4 3 3 4.5 10 0.2 0.59 147
5 4 4.0 5.5 115 0.3 0.64 1.96




w /VEEHEITER
= Micro Spring Plungers-Standard

=S B Type + D - S

Type+D-S

fugn

ZMPFL 5-4

ZMPFL 5-4

Part Number
order
[ ! BENAIZREF LR T ADHT,

[ ! IRecommended Diameter of Mounting Hole: DH7.
[! ISR EFIREER | LB LR,

[ ! ]Use adhesive to prevent loosening.

n LB (Flat)

n BB (Spherical)

C
=\
'D |

D1

S+0.5 0 +g-5 0
0 05 - e 05
L C r~
I~ =
i ki) T = it < 1o
min max min max
n §ffSLRBY (Taper R)
+0.5 0
X 05
Y = ~
— N
oo Co i -0
min max
HAEERER (Materials)
BEType ZF{fMain Body $84Pin SEESpring
EawaeS - -
Load Category Sl BREEL §ESLREY MR (%153 MR
Flat Spherical | TaperR Material Material Material
i
.ié?}jaﬁ: ZMPFL ZMPJL ZMPTL SUS303 SUS304 SUS304
Light Load
- F
BRE ZMPFH ZMPJH / SUS303 SUS304 SUS304
Heavy Load
SHFIERE (Specifications)
BztPart Number d b1 L c R Z2#AILight Load(N) FH A Heavy Load(N)
Type D7 S min. max. min. max.
1.5 15| 0.5 2 13 [ 0.05( 0.15 0.49 0.98 0.93 1.86
2 15| 1 | 25| 16 | 0.1 ] 03 0.49 0.98 1.96 3.92
2 3 1 |25]| 26| 01|03 0.49 0.98 1.67 3.73
3 3 2 35| 16 | 0.15(| 0.5 0.49 147 245 3.92
ZMPFL
ZMPEH 3 6 | 2 |35]| 26015 05| 049 147 226 3.73
ZMPJL 4 3 3 451 15 | 0.2 1 0.59 147 343 53
ZMPJH 4 6 | 3 45|20 (02| 1 049 2.06 245 5.3
ZMPTL
4 9 3 145|132 (02 1 0.69 3.92 2.94 6.47
5 4 4 55 ( 17 | 0.3 | 1.5 0.64 1.96 3.73 6.96
5 8 4 55( 24 (03| 15 0.78 3.82 3.04 7.06
5 12 4 55| 32 ( 03| 15 0.83 5.79 2.75 7.06




w RLL[E R VR REE R
= Micro Spring Plungers-Flat, Set Screw

L=l BV Type + D - S Part Number Type+D-S
fan ZMPFLTS - 4 order ZMPFLT5 - 4
[ ! 1AL EF LR T ADHT,
[ ! IRecommended Diameter of Mounting Hole: DH7.

[ ! IERAETIRER | LBLERGE.

[ ! ]Use adhesive to prevent loosening.

S’ L
C 0.5 G

D1

Dh7

min max
12 EYIEBZE (Materials)
#SType | FfKMain Body 4Pin 3#EESpring
= 5arS
Load Category ] HE MR HIE
Flat Material Material Material
i)
.Eﬁkﬁ: ZMPFLT SUS303 SUS304 SUS304
Light Load
i)
ERA ZMPFHT SUS303 SUS304 SUS304
Heavy Load
SHFJERZE (Specifications)
BIztPart Number B2 ALight Load(N) E# A Heavy Load(N)
d D1 L { F G C - -
Type Dhy S min. max. min. max.
1.5 1.5 | 0.5 2 |175( 25| 05 1 [0.05 0.49 0.98 0.93 1.86
2 1.5 1 251205 25| 0.5 1|01 0.49 0.98 1.96 3.92
2 3 1 25 (305 25| 0.5 1|01 0.49 0.98 1.67 3.73
3 3 2 3.5 (205 25| 0.5 1 [0.15 0.49 1.47 2.45 3.92
3 6 2 35 (305 25| 0.5 1 [0.15 0.49 1.47 2.26 3.73
ZMPFLT
ZMPEHT 4 3 3 |145(205] 35| 0.8 1|02 0.59 1.47 3.43 5.3
4 6 3 | 45 (255] 35| 0.8 1|02 0.49 2.06 2.45 5.3
4 9 3 |45 (375] 35| 0.8 1|02 0.69 3.92 2.94 6.47
5 4 4 55 (225] 35 | 0.8 1|03 0.64 1.96 3.73 6.96
5 8 4 55 (295] 35| 0.8 1|03 0.78 3.82 3.04 7.06
5 12 4 55 [375] 35 | 0.8 1|03 0.83 5.79 2.75 7.06




» UEEEER
m lateral plungers smooth with seal

BISIfl

A=, Model No.

fugn

ZPT55A-0603-010

Model No.

Part Number
order

ZPT55A-0603-010

2 E¥IEBZE (Materials)
ZE{KkMain Body fHFpin SEEESpring
BEType
IR FEE %154 TR FEE %153
Material Surface Treatment Material | Hardness Surface Treatment Material
@ | ZPT55A
FEHE tAAL e s45C | HRC4s~ _ER SWP-B
R ZPT55B oxidation Trivalent Chromate
i@ | ZPT56A 4
deiiial) $aAL Aty SRYEEE / / SWP-B
#wim@ | ZPT56B oxidation Polyacetal

SEIE8E (Specifications)

Biz{Part Number
A B [P(N)|] C D F
Model No.
ZPT55A-0603-010 6 3 10 4 7 0.5
ZPT55A-0603-020 6 3 20 4 7 0.5
ZPT55A-0603-040 6 3 40 4 7 |05
ZPT55A-1005-020 10 5 20 | 67| 11 | 0.8
ZPT55A-1005-050 10 5 50 [ 67 | 11 | 0.8
ZPT55A-1005-100 10 5 100 | 6.7 | 11 | 0.8
ZPT55A-1006-040 10 6 40 |110.7| 11 | 1.0
ZPT55A-1006-075 10 6 75 1107 11 | 1.0
ZPT55A-1006-150 10 6 | 150 (10.7| 11 | 1.0
ZPT55A-1208-050 12 8 50 | 139 13 | 13
ZPT55A-1208-100 12 8 100 | 139 13 | 13
ZPT55A-1208-200 12 8 [200(139] 13 | 13
ZPT55A-1610-100 16 10 | 100 [ 16.7| 17 | 1.6
ZPT55A-1610-200 16 10 | 200 | 16.7| 17 | 16
ZPT55A-1610-300 16 10 | 300 | 16.7| 17 | 1.6
SHVJEBZE (Specifications)
Biz{Part Number
Model No. A B PN} < P F
ZPT56A-0603-010 6 3 10 4 7 0.5
ZPT56A-1005-020 10 5 20 6 12 | 0.8
ZPT56A-1006-040 10 6 40 | 10 12 1
ZPT56A-1208-050 12 8 50 | 13 14 | 13
ZPT56A-1610-100 16 | 10 | 100 | 16 18 | 1.6

SEIEBZE (Specifications)

Bzt Part Number
A B [P(N)[ C D F
Model No.
ZPT55B-0603-010 6 3 10 4 0.5
ZPT55B-0603-020 6 3 20 4 0.5
ZPT55B-0603-040 6 3 | 40 0.5
ZPT55B-1005-020 10 5 20 | 67 | 12 | 0.8
ZPT55B-1005-050 10 5 50 [ 67 12 | 0.8
ZPT55B-1005-100 10 5 100 6.7 | 12 | 0.8
ZPT55B-1006-040 10 6 40 | 10.7| 12 1
ZPT55B-1006-075 10 6 75 1107 12 1
ZPT55B-1006-150 10 6 150 | 10.7| 12 1
ZPT55B-1208-050 12 8 50 1139 14 | 13
ZPT55B-1208-100 12 8 100 1139| 14 | 13
ZPT55B-1208-200 12 8 200139 14 | 13
ZPT55B-1610-100 16 10 | 100 | 16.7| 18 | 1.6
ZPT55B-1610-200 16 10 | 200 | 16.7| 18 | 1.6
ZPT55B-1610-300 16 | 10 | 300|16.7| 18 | 1.6
SEIEBZE (Specifications)
Bzt Part Number
Model No. A B [PIN)[ C D F

ZPT56B-0603-010 6 3 10 4 7 0.5
ZPT56B-1005-020 10 5 20 | 67 11 | 0.8
ZPT56B-1006-040 10 6 40 | 10.7| 11 1
ZPT56B-1208-050 12 8 50 | 139 13 | 1.3
ZPT56B-1610-100 16 | 10 | 100|16.7| 17 | 1.6




- » SHEEIE EE

= Guide Plungers with Hexagonal Socket

L=l B Type +M Part Number Type +M
Blan ZGPL 4 order ZGPL 4

[ [EERECEENENIEE |, ATEEHE%.

[ ! IShift the knob to the stopper position(lower step)to prevent the pin from moving.

J
D1 P4\ E /Stopper Position IEEH/Knob
; t

— 7
- ] A v
Gi/stroked) ) (7 T i
M S |
RE /Depth | . : - L
- a ] I H E
—=p, M2 b0 —
o + : o T 3 ] :T—?: ) C
I Sl H : H L : H H ]
El F |
A
A EJERZE (Materials)
FE(N) ZE{kMain Body $#Pin F#EESpring | hEdKnob
s i
Type Load Table Unit (N) R EEGNE & EEINE & &
min. max. Material Surface Treatment Material Surface Treatment Material Material
L il HBE: FEMEREE R ERYERE
Light Load ZGPL 06 25 Aluminum Alloy Clear Anodize 545C Nickel Plating SUS304 Polyacetal
ESE=id] AR FeEpkaEtE R RuErs
Heavy Load ZGPH 09 38 Aluminum Alloy Clear Anodize 545¢ Nickel Plating SUS304 Polyacetal
EEHE E1=) REpEREaE R ERYERE
Heavy Load ZGPX 14 >9 Aluminum Alloy Clear Anodize 545C Nickel Plating SUS304 Polyacetal
SHFIIRFE (Specifications)
Bix{Part Number $HPin ZF{KMain Body hEtHKnob
S
Type M D L W H A B C T G E F d S1 | H1 J D1 | Wl
ZGPL 4 6 8 22 6 5 18 | 26 |115( 4 18 4 10 | 45| 15 (245] 55| 15 | 10
ZGPH
ZGPX 5 10|10 |27| 8|10 |32f3 195|256 ]|20]|55]3][35]|13]18]15




ALLLELELEEE R

n {TTEH
= Spring Pins

BISIfl

B® Type +M-D

fugn

ZSPPL 6 - 5

» fERIIHPIN tip

M=

©
&
L?_’- i
6 | W

» (TiEfEStroke pins

{Ti8stroke (2)

[ ! /SEMRNECHME | FTHRE,
[ ! 1The rear nut is swaged , it cannot be removed.

[! TR TEEERT M.

[ ! ]Can be used as a replacement stroke.

Part Number Type +M - D
order ZSPPL 6 - 5

—
: i) 1 ) ~
K-N ::::::::::_:_.__ — o & — ._._‘i"",i - ) —D
I ) }
e | E— |
O L : - 1
I
6 05| \M
B L1 B.5 L t
» {TiZidstroke pins / ZSPPL
1A EYIEBE (Materials)
@HAHR % QEE @BH (OES @FHTE @2iE
Pin End Pin Spring Shim Body Oil Free Bushing Nut
s
il ST b b
wee | T | corerod | HE W HE | HE FEiE I M FEIE
Material Material Material Material Material Material
HEMaterial Treatment Treatment
ZSPPL RIGEE SUS303 SUS303 SUS304 SUS304 S45C %EE,%E%E%E PTEE SUM23 . e
Polyacetal Nickel Plating Trivalent Chromate
> {Figtlstroke pins / ZSPPL
SEIE8E (Specifications)
Biz{Part Number 7= fh#kLoad(N
- foigstroke | | ol B | | L P P fadkLoad(N)
Type M D S min. max.
6 5 10 8 7 14 | 275 20 | 1.2 | 25 2 20 5.9
ZSPPL 8 6 10 9 8 14 |1 285|265 1.6 3 25 3.8 8
10 8 15 12 [ 10 | 15 | 395|315 18| 4 3 4.7 12.6
» iEEliRpin tip / ZSPPHA » iEEiiRpin tip / ZSPPHA
#ARXIERR (Materials) SHIARE (Specifications)
@#EaiRPin End Biz{Part Number BT v | w NP
=] B SES Type D Applicable Itinerary Sales
Type Tip Core Rod 5 ZSPPL6-5 5 | 4 [M25%045
4 EMaterial ZSPPHA 6 ZSPPL8-6 5 M3*0.5
4 8 ZSPPL10-8 6 7 M4*0.7
ZSPPHA SRAEEE SUS303
Polyacetal




w MRATIEH

= Micro Spring Pins
pA=en Il BT Type +M - D Part Number Type +M - D
Bign ZJJPPN 2-15 order ZJPPN 2-15
[ ! IEDETEXEISRITmIRE TR L | BNATRR SECEERIR,
[ ! IStroke should not exceed S dimension, otherwise the spring may be damaged.
[ ! MRIEM2iE7E23.43NLAT. M3~ 57£98.07NLARRTI#HITREE,
[ ! ITighten the nut with forces under 23.43N for M2, 98.07N for M3-5.

H-0.5 m B L1 T L t L2
ﬁ%%strokeJ

T T
12 EIEBZE (Materials)
(@5=Fl @ QHE @E[F GR
Fiti=) Pin End Pin Spring Sleeve Collar
Type 154 154 T TEAE %154 %154 TEE L7154
Material Material Hardness Surface Treatment Material Material Surface Treatment Material
BRYRER Heat Treated Hardness TFoER ARG ToEEARTER BS(Z$H)
ZJJPPN Polyacetal SK HV 620~720 Nickel Plating SUs304 SK Nickel Plating BS (Brass)
SEIBE (Specifications)
B Part Numb 552 th#Load(N
Fpart Number frigstoke| b g | T L] | d]al ‘*gk M
Type M D S min. max.
2(48FFine Thread) 1.5 8 25| 2 351 14 | 05| 9 |08 17 1|42 0.2 0.883
2JJPPN 3(¥8F Coarse Thread) 2.5 11 35| 25 6 19 1 15 1 |225|1172( 7 0.39 3432
4(#8F Coarse Thread) 3.5 11 45 1 25 6 19 1 15 1 3 |1245] 7 0.76 3432
5(#8F Coarse Thread) 4.5 11 55| 25 6 19 1 15 1 4 (345] 7 1.28 3432




n FEER

m Block Plungers

L= AU Type + H Part Number Type + H
Bugn ZPJSB 10 order ZPJSB 10
A 14
¢ 5
12 /@ 52 17 4 ‘
© PR :
e, AR
i M R REE
SR2/ C
T M8*1. 25
ame mE
5 28 AEIREView A
tARYIERE (Materials)
=F{K Main Body Biils Nose 3EE Spring
e ws
Load Category Type & HEINE & W HELNE &
Material Surface Treatment Material | Hardness Surface Treatment Material
M LEs=%ic) ToEEAREIR ToEEfRER
Steep Tip Light Load ZPISB 55400 Nickel Plating S45¢ >7~63HRC Nickel Plating SWp-B
STtz LEs=%id) ToEBAREIR BRYERE
Plastic Tip Light Load ZNPSB 55400 Nickel Plating Polyacetal / / SWP-B
SRR (Specifications)
B Part Number H fhELoad(N)
Type min. max.
» 10 5.8 15.5
ZPJSB(iNFltH/Steep Tip)
ZNPSB(#i50H/ Plastic Tip) 15 >8 155
20 5.8 15.5
w IR RLREOE R
m Roller Plungers/Bolt Type
A= AU, Type + M Part Number Type + M
2 Buan ZRBPJ 16 order ZRBPJ 16
L1 45 B T
(§t_roléle) M ‘
7321057 /- A
i I m
— L 3 ; ~
— 7 I v/
— i XU/
\@m ¥ HE i |
bearings Pin Bushing Main body
HERSERSR (Materials)
ZF{KMain Body fHpin dhi&Bearing| #JEBushing | 38ESpring BiHE(IRIEN ut*2pcs)
BS b b b
: HE FHEILE HE RELE HE HE HE | HE RHEAE
ype . Surface . Surface . . . . Surface
Material Material Material Material Material Material
Treatment Treatment Treatment
L7570 FoREREIR ToEEARER HFEE FEIR
Light Load ZRBP) S45C Nickel Plating S45C Nickel Plating SUi2 Brass Alloy SUS304 55440 Nickel Plating
BEE FoRBREIR FoEEARER =HRESE TEIR
Heavy Load ZRBS) S45¢ Nickel Plating S45¢ Nickel Plating su2 Brass Alloy SUS304 55440 Nickel Plating
SEIFIEBZE (Specifications)
Bix{Part Number 1248 frLoad
ki d| b | E |11 Nut (N)
Type M pitch -
B ©) T min. max.
RER 16 2.0 10 4 9 25 | 24 | 27.7| 10 1.6 4.8
. ZRBPJ
Light Load 20 25 19 6 |11.5| 30 | 30 |346( 12 1.6 4.8
EaF37i0) ZRBS) 16 2.0 10 4 9 25 | 24 | 27.7| 10 2.9 8.4
Heavy Load 20 25 19 6 |11.5| 30 | 30 |346( 12 29 84




n ZRENRIEE

m Roller Plungers/Compact

=L B Type + NO.
fan ZCBPJ 9

Type + NO.

Part Number
order

ZCBPJ 9

[! [RTETREGRRRIR , BHERERR.
[ ! 1By tightening adjustment screw@® , the load can be adjusted freely.

~ 30 FFAEX
% 20 5 Tightening Amount X
[Ho
il% e S/Win. (X=3)
g o
™
1
=
3 o
« . Q
©
&
™ =
B AMax. (X=0)
[
\ w ST ol @
\‘ | T -
HAEXERER (Materials)
OROEN/E/ AR QL] @8I
Fiti=] Man Body/Arm/Adjustment Screw @ Bearing Shaft oumE | olags Nut
Type *Z”ﬁ i@&tﬁ Bea ring *ZE EJ—E Spring Set screw Mﬁ ;EE&JZIE
Material Surface Treatment Material | Hardness Material Surface Treatment
ZCBPJ S45C %%ﬁﬁﬁ SUS440 SuUJ2 58HRC~ SUS304 SCM435 SWCH %E@,ﬁgigiﬁ
Nickel Plating Nickel Plating

SEIVIERZE (Specifications)

FAER/NT FANERKH
1)
BlztPart Number Min.Tightening(X=3) Max.Tightening(X=0)
fh#fLoad(N) fhgfLoad(N)
Type NO. - -
min. max. min max.
ZCBPJ 9 0.4 4.2 6.6 10.2




» STZRRRICHEE
= Roller Plungers/Mounting

=gl BT Type + NO. Part Number Type + NO.
fan ZTBPJ 1 order ZTBPJ 1

25
L1 9 30 12
e -8.
1TIES v —= ==
& =l
i 598 B 588 f’©\\ °
SlARR S \&),
< | |G fEEn EER aEEn t—
1
= 4-8
(stroke) N s
LS /—$|:|5+G.5 ik w"E
18 48 bear ings 1THED o $8Pin  Main body Bushing
: e P—\ < - :,
Rs)
#2EXIEBZE (Materials)
F{FMain Body Hpin #EBearing | #JEBushing | #E&Spring
ﬂl:l
Ty:e %154 RELE %154 RELE R %15 MR
Material Surface Treatment Material Surface Treatment Material Material Material
&R ToEBRRIEIR ToEBRRIEIR BiiGE
side ZTBPJ S45C Nickel Plating S45C Nickel Plating sul2 Brass Alloy SUS304
) ToEBAREIR ToEBARIEIR BiEas
vertical Z5BPJ S45¢ Nickel Plating S45¢ Nickel Plating su2 Brass Alloy SUS304

SEIIERFE (Specifications)

, s

B Part Number d b £ 1 Load(N)
Type NO. min. | max.

e 1 |14 s {12 3 [s1
Light Load ZTBP) a9 | 6 [128]275] 3 |51
— sppy | 2 | 14| 5 [11] 25 ] 61104
Heavy Load 2a | 19 | 6 [128]275] 61 | 104




lobunjd |leg

Bk
B
H=*
=
=
4l

ZHENGCHEN HARDWARE




@ = AR

m Press Fit Plungers
si=s ) BIZS Type + D Part Number Type + D
fusn ZPFSSN 3 order ZPFSSN 3
[ ! IR ST E LA LR, [ ! IENRIZREFLR T 9D +0.08~+0.13,
[ ! ]Use adhesive to when installing. [ ! JRecommended Diameter of Mounting Hole D+0.08~+0.13.
[ ! 1TEmin RRTIARRE . AEmax TRECLREAKENRENIIGRE.,

[ ! ]Load values min. “indicate an initial load” and max. “a load when the ball is fully sunk.”
[ ! ID2}I8 RBEPFSSN2ELE, [ ! 1D2 specification only has PFSSN2 model.

#AEIERER ( Materials )

HSType ZE{KkMain Body BkskBall SHEESpring
Lzt E=HE %154 %154 = %15
Light Load Heavy Load Material Material Hardness Material
ZPFSSN ZPFSSR SUS303 SuUS440C 55HRC~ SUS304
ZPFSPN ZPFSPR SUS303 FRUTEE / SUS304
Polyacetal
ZPFPSN ZPFPSR RIGEE SuUSs440C 55HRC~ SUS304
Polyacetal
ZPFPPN ZPFPPR SRUEE AR / SUS304
Polyacetal Polyacetal
ZPFBSN ZPFBSR Bfaﬁlss SuUS440C 55HRC~ SUS304
SEXIERFE (Specifications) SEIERFE (Specifications)
B#ALight Load #jload (N) Eood] #H(N)
BIztPart Number ZPFSSN ZPFPSN Heavy Load Load
D1 | L S | d [ di | ZPFSPN  ZPFBSN | ZPFPPN BztPart Number )
Type D - D1 L S d d1l | min.| max.
min. max. min. [ max. Type D
2% | 25 3 03 | 15| 05 0.54 0.78 / / 4 46 | 65| 0.8 3 2 31| 87
3 36| 4 | 06 2 1 0.74 0.98 0.74 ( 0.94 ZPFSSR 5 5.6 8 1 4 25 ] 51 [135
ZPFSPR
4 | 4. 5 0.8 3 15 0.65 5.6 13| 64 6 | 6.6 9 16 3 5.3 | 16,5
ZPFSSN 6 ZPFPSR
zprspn | 5 [ 56 6 | 1| 4| 2 2.8 6.3 27| 80 speppr | 8 |86 12 [ 19635 3 | 8 | 28
ZPFPSN 6 6.6 7 16 5 25 2.95 9.6 115 10.2 ZPFBSR 10 | 106 13 | 24 3 17 | 37
ZPFPPN | g 1 86| 9 |19 [635] 3 6.5 117 |615[172 10B | 10.6]|145| 24 3 [135]305
ZPFBSN
10 | 106 115| 24 8 3 9 15 2.1 | 188
10A| 106| 13 | 24 8 3 8.5 185 39| 10
12 | 13 | 16 | 35| 10 3 12 26.5 6.2 | 14.6




w EATUBRSAEEE/E
m Press Fit Plungers(blue)
si=ed] ] B Type+D Part Number Type+D
f5i4n ZNPS 3 order ZNPS 3
[ ! ISR ARISERLN LRSS,
[ ! ]Use adhesive to when installing.
[ ! BN ZREFRTHD+0.08~+0.13,
[ ! IRecommended Diameter of Mounting Hole D+0.08~+0.13.
[ ! IREmin ZBAIRHRE, | faEimax. TRk A ENRERRE.
[ ! ]Load values min. “indicate an initial load” and max. “ load when the ball is fully sunk.”

HARRFIEBER ( Materials )

e F{KMain Body BkLBall S8EESpring
S L Type #EMaterial t1EMaterial EHardness t1EMaterial
P 7] IEEERER
1_i0' 1 ZNPS Blue Polyacetal SUS440C 55HRC~ SUS304
IEERYEEE RYsrE
ZNPP Blue Polyacetal Polyacetal / SUs304
SEIARE (Specifications)
Biz{Part Number fhagkLoad (N
= p1| L | s |d]|d Biload (N)
Type D min. max.
3 3.5 4 0.6 2 1 0.74 0.98
4 4.6 5 0.8 3 1.5 0.65 5.6
5 5.6 6 1 4 2 2.8 6.3
ZNPS
ZNPP 6 6.5 7 1.6 5 2.5 3 10
8 8.5 9 19 (635 3 6.5 11.7
10 11 | 135 24 8 9 15
12 13 16 | 35| 10 3 14 30

n EARBRLATE/RE
m Press Fit Plungers(black)

sl B Type+dl Part Number Type+dl
Hlan ZPPS 4 order ZPPS 4

[ ! IfREmin FRDBGE , Emax RRECLBEAENRERAIRE.

[ ! ]Load values min. “indicate an initial load” and max. “a load when the ball is fully sunk.”

+0.1
0

d1

#3RIFEBER ( Materials ) SHYIARFR (Specifications)

ZF{KMain Body BksLBall S8EESpring Biz{Part Number Ffload (N)
Eill=] d2 | d3 | d4 | L1 S L2 -
Type & ME R MR Type dl min. max.
Material Material | Hardness | Material 4 3 |46 | 4 5 108]| 1 3 6.5
5 4 5.6 5 6 1 1 6 9.4
ZPPS RERIEE SUS440C | 55HRC~ SUS304 ZPPS
Black Polyacetal ZPPN 6 5 165| 6 7 16| 1 6.2 12.6
B2y 4 8 |6.35| 85 8 9 1.9 1 10 20.4
ZPPN REIRIEEE RO / SUS304
Black Polyacetal | Polyacetal 10 | 8 | 11 | 10 |13.5]| 24 | 15 11.9 223




w EFIEAN BRI

= American type plunger

si=s ) BIZS Type + D Part Number Type + D
fuan ZFNB 0.125 order ZFNB 0.125

[ ! 1GaEEmin RATIARE, | adimax ZRRIRSLEAENRERAGE,
[ ! ]Load values min. “indicate an initial load” and max. “ load when the ball is fully sunk.”

A EYIERE ( Materials )

ESType FfkMain Body Bf3LBall W Spring
B EE=1 MR RELLE MR BE MR
Light Load Heavy Load Material Surface Treatment Material | Hardness | Material
BB
ZFNBL ZFNBH S45C . SUS440C | 55HRC~ SUS304
Black Oxide
ZFNTL ZFNTH S45C Black Oxide Polyacetal / SUS304
ZFNSL ZFNSH SUS303 / SUS440C | 55HRC~ SUS304
ZFNNL ZFNNH SUS303 / AR / SUS304
Polyacetal

S#FJERZE (Specifications)

Bzt Part Number 3% JJload (N )
L D1 s d L1 — -
Type . D inch inch inch inch inch #&ilight Load E&iHeavy Load
inch min. max. min. max.
0.125 0.252 0.187 0.035 0.094 0.032 18 59 34 12
ZENBL  ZFNBH | 0-188 0.394 0.25 0.058 0.156 0.04 45 113 9 22
ZENTL  ZFNTH 0.25 0471 0312 0.07 0.187 0.045 6.8 15.8 135 30
ZFNSL  ZFNSH | 0312 0.643 0375 0.09 0.25 0.045 9 225 18 45
ZFNNL  ZFNNH 7 375 0.786 05 011 0312 0.078 113 315 225 62
0.5 11 0.688 0.161 0437 011 18 405 36 80




» SEREAER
= Ball Plungers / Plain

sioedl ] Bis Type + D Part Number ™ Il Y-SR}
Flan ZBSZP 5 order ZBSZP 5

[! 15Emin RRIARE , REmax BRI AENRERIIGRE.
[ ! ]Load values min. “indicate an initial load” and max. “ load when the ball is fully sunk.”

tARAIERE ( Materials )

m : n F{kMain Body EksLBall 3EEESpring
[ Be
o Type & & s IR
max Material Material Hardness Material
ZBSZP SUS303 SUS440C | 55HRC~ SUS304
SEFIERZE (Specifications)
- @© BIztPart Number EH(N)
L S d { a Load
Type D
min max
10 | 0.8 3 2.2 1 49 19.6
11 | 0.8 3 2.8 1 9.8 294
0 -0.05
S +0 2 L—o_ 3 D it ZBSZP 8 | 13| 1 4 | 37|15 12.7 39.2
10 | 13 | 1.2 5 | 47 2 18.6 49
12 | 17 | 1.8 | 7.14| 47 3 19.6 58.8
» TFBRSLAEE

= Ball Plungers / Plain
sl B Type+dl Part Number Type+dl
Ban ZBPC3 order ZBPC3

[ ! 15agmin RRVIARE , fAEkmax JRRESLREAENRERIGRE,
[ ! JLoad values min. “indicate an initial load” and max. “ load when the ball is fully sunk.”

t2®R¥IEBIR ( Materials )

o ZF{KMain Body BkLBall S#EESpring
%:_e MR IR o HE
S Material Material | Hardness | Material
. L ZBPC SUS303 SUS440C | 55HRC~ SUS304
S
| 3
1 BztPart Number O (N)
— % Type dl d2 : > Load
min max.
3 2 7 |0.65 45 7.5
g 35| 25 9 0.8 6 14.5
4 3 11 | 0.9 14
ZBPC 45| 32| 12 [0.95 9.5 16.5
5 | 35| 13 1 11 18
5.5 4 14 | 1.2 15.5 25
6 45| 15 | 15 18 31




w SEEIRELE AR
m Copper double / ended

si=s ) BIZS Type + D Part Number ™ E:<= LY/ oW b}
Flan ZCBP25 order ZCBP25

[ ! 1GREmIn JTADARE , AEmax BFREKLRAENRERRIRAE.
[ ! ]Load values min. “indicate an initial load” and max. “ load when the ball is fully sunk.”

HARAIERE ( Materials )

F{&kMain Body BksLBall 3 Spring
BnE
i Tvpe MR MR HE MR
E?:EIZ. yp Material Material Hardness | Material
Knurling process o
/ ZCBP ik SuUS440C 55HRC~ SUS304
brass
[ N <
E § SHFIIRF (Specifications)
3
\[ V ﬁ Bzt Part Number EH(N)
L s |pb1fd Load
Type D -
min. max.
S L S 25| 53 ]065(252] 2 13 2.5
‘ ‘ 3 |73]08]305| 25 2 4.5
4 9 0.9 |405| 3 2.5 7.5
/A ZCBP 5 | 108 1.2 |5.05| 4 3.5 8
o ' o 6 |126] 16 [605] 5 35 105
7 14 2 |7.05] 6 12
8 | 18 | 21 |805( 6.5 6 15

w SR BT EE
» Flanged Ball Plungers

sl B Type + M Ul | B3 Type + M
fan ZFBPJ5 order ZFBPJ5S

[ ! IfREmin FRDBGE , Emax RRECLBEAENRERAIRE.

[ ! JLoad values min. “indicate an initial load” and max. “ load when the ball is fully sunk.”

#2EIEBE ( Materials )
F{KMain Body ERLBall 3#EESpring
=

Type MR REAE HE MR EE MR
Material Surface Treatment Hardness | Material Hardness | Material
ZFBPJ S45C & ZBlack Oxide 29~35HRC| SUS440C | 55HRC~ SUS304
ZFBPJS SUS303 / / SUS440C 55HRC~ SUS304
ZFBPJB Brass / / SUS440C 55HRC~ SUS304

SEYIEBZR (Specifications)
(e BztPart Number %fload (N )
D L S d a ZFBPJ ZFBPJS/ZFBPJB
Type | M , :

d min. | max. min. max.

L o9 ] W 7 5 0.8 3 0.8 | 0.6 | 5.6 13 6.4

© = ‘, = 6 | 8| 6| 1| 4] 1]|28]|63 2.7 8

ZFBPJ 10 7 [16] 5 [15]29]096 13 102

ZFBPJS
ZFBPJB 10 12 9 19 [6.35| 1.5 | 64 | 117 6.1 17.2
12 14 | 115 24 | 794 15 9 15 21 18.8
max
: 16 | 18 | 16 | 3.2 |9.53| 2 99 | 215 13 25.5
min




» —FREBRSLAESE
m Slotted ball head plunger

sl ] B Type+M Part Number Type+M
Flan ZBPES 5 order ZBPES 5

[ ! 1GaEEmin RATIARE, | adimax ZRRIRSLEAENRERAGE,
[ ! ]Load values min. “indicate an initial load” and max. “ load when the ball is fully sunk.”

[
= N
/RN
-1 e T e e
Nl S
~ Ve
i
max
min
HRXIERER ( Materials )
F{KMain Body ERLBall JEESpring
Bs
Type & eSS e IR W R
Material Surface Treatment Hardness Material Hardness Material
kR

ZBPES SCM435 . 29~35HRC SuJ2 55HRC~ SUS304

Black Oxide
ZBPEN SCM435 Black Oxide 29~35HRC Polyacetal / SUS304
ZBPEU SUS303 / / SUS304 / SUS304

RYEEE

ZBPNN SUS303 / / Polyacetal / SUS304

SHFIIRR (Specifications)

BYs{Part Number H(N)
L d S a Load
Type M -

min max.

3 | 7 15 04| 1 1.5 29

49 10 12 2.5 07| 1 3.9 9.8

5|10 12 16 20 3 08 | 1.2 49 19.6

ZBPES 6 [ 12 14 16 20 3.5 1|12 49 29.4
ZBPEN 8 [10 12 16 20 15 | 15 12.7 39.2
ZBPEU | 10| 16 19 25 30 6 18| 15 18.6 49
ZBPNN "5 120 22 25 30 8 27| 2 196 58.8
16 | 24 30 10 35| 2 29.4 98

20 | 30 12 3 35 120

24 | 35 15.87 6 | 3 81 237




» RAERLEE

= Ball Plungers

BISf)

B Type+M

f5uen

ZBPY 5

[ ! IFERRIM3,

MARUB KB TRARL IR,

Type+M

Part Number
order

ZBPY 5

[ ! IThread locking Treatrnentis not provided on M3 and M4 of Standard Type.
[! 15Emin RRIARE , REmax BRI AENRERIIGRE.
[ ! ]Load values min. “indicate an initial load” and max. “ load when the ball is fully sunk.”

FFARATHALEE (M5™M16)

Loosening prevention treatment (M5 M16)

I
AN

)

Nz
[ i
0 [y g
S 0.5 B
HARRFIERER ( Materials )
BISType F{KMain Body ERLBall 3EESpring
2SS S D=5 IR AR MR REALE BE MR BE MR
Ball head Category Load Category | Standard | No thread locking | Material Surface Treatment Hardness | Material | Hardness | Material
BRH BB
Ultra Light Load ZBPY ZBPY-N SCM435 Black Oxide 29~35HRC SuJ2 55HRC~ SWP-B
RS
Li ﬁ:? d ZBPJF ZBPJ-N SCM435 Bl 75? id 29~35HRC SuJ2 55HRC~ SWP-B
SEBRSL ight Loa ack Oxide
Metal Ball B
ZBSJF ZBSJ-N SUS304 / / SuJ2 55HRC~ SWP-B
Heavy Load
73
BER ZBPW ZBPW-N SCM435 . iy . 29~35HRC SuJ2 55HRC~ SWP-B
Extra Heavy Load Nickel Plating
BRH ot BRYREE
Ultra Light Load ZNBPS ! SCM435 Black Oxide 29~35HRC Polyacetal / SWp-B
.
Li f‘:if d ZNBPJ / SCM435 Bl 75? id 29~35HRC P §|§£T§§§t | / SWP-B
PIISERSL ight Loa ack Oxide olyaceta
Plastic Ball =5 s ERYERS
Heavy Load ZNBS) ! SCM435 Black Oxide 29~35HRC Polyacetal / SWp-B
Extra Heavy Load ZNBPW / SCM435 Black Oxide 29~35HRC Polyacetal / SWp-B

SEIIEBZE (Specifications)

BxtPart Number BEH (N) BH(N) B (N) BER (N)
d S L ? B Ultra Light Load Light Load Heavy Load Extra Heavy Load
Type M - - - -

min. max. min. max. min. max. min. max.

3 [15] 04 1 |15 03 0.64 1 2 15 29 22 5
ZZBB:JYF 4 |238] 07 15| 2 06 16 2 49 3.9 9.8 25 125
sesF zepyn |5 | 3 |os|12] 2 |25 1 312 29 9.8 49 19.6 11.2 241
ZBPW  zBPJN | 6 | 35| 1 | 13[25] 3 16 485 49 147 9.8 29.4 17.7 334
ZNBPS ZBSJ-N 8 15| 16 | 25| 4 24 6.36 6.9 19.6 12.7 39.2 21.4 453
i:ﬁ:ﬂ ZBPW-N 44 18116 3| 5 3 8.1 8.8 245 186 49 235 587
ZNBPW 12 27120 3] 6 35 9.68 9.8 294 19.6 58.8 241 62.3
16|10(35[]25] 3] 8 5.7 15.8 15.7 49 29.4 98 436 116




L) » AR BER LS

= Ball Plungers
s=sd ] B Type+M Part Number Type+M
fuan ZBSZF 5 order ZBSZF 5
[ ! IFRE TR,
[ ! IThread-locking adhesive not applied.

[ ! 1GaEEmin RATIARE, | adimax ZRRIRSLEAENRERAGE,
[ ! ]Load values min. “indicate an initial load” and max. “ load when the ball is fully sunk.”

I = (>
o/
0 '['

S L—O_ 5 B

1 RIIERFE ( Materials )
BEType F{KMain Body EksLBall JEESpring
By Ry FERL MR ) TR R
. #EMaterial .
Ball head Category Load Category Standard Material Hardness | Material
B
ZBM ~
Uftrallight Uoad S SUS304 SUS440C 55HRC SUS304
. 2 ZBSM SUS304 SUS440C 55HRC~ SUS304
SEBRL Light Load
Metal Ball B
ZBSZF SUS304 SuUS440C 55HRC~ SUS304
Heavy Load
BES ZBSX SUS304 SUS440C 55HRC~ SUS304
Extra Heavy Load
B RYFEE
Ultra Light Load ZNBSS SUS304 Polyacetal / SUS304
. il ZNBSM SUS304 SRR / SUS304
BIRSERSL Light Load Polyacetal
Plastic Ball s BRUERS
Heavy Load ZNBSZ SUS304 Polyacetal / SUS304
BEH RYFRE
Extra Heavy Load ZNBSX SUS304 Polyacetal / SUS304
SEIIEBZE (Specifications)
Biz{Part Number BEE (N) BH (N) BH (N) HBEE (N)
d S L ? B Ultra Light Load Light Load Heavy Load Extra Heavy Load
Type M - - - -
min. max. min. max. min. max. min. max.
ZBMS 3 15| 04 7 1 15 0.3 0.64 1 2 15 2.9 2.2 5
ZBSM 4 238|107 9 | 15| 2 0.6 1.6 2 4.9 39 9.8 2.5 12.5
ZBSZF 5 3 08 | 12 2 2.5 1 3.12 29 9.8 49 19.6 11.2 24.1
ZBSX 6 35 1 [13]25] 3 16 4.85 49 147 9.8 294 17.7 334
ZNBSS 8 15| 16 | 25| 4 24 6.36 6.9 19.6 12.7 39.2 214 453
ZNBSM 10 6 18| 16 3 5 3 8.1 8.8 24.5 18.6 49 235 58.7
ZNBSZ 12 8 | 27| 20| 3| 6 35 9.68 9.8 29.4 19.6 58.8 24.1 62.3
ZNBSX 16 10]35[25] 3| 8 57 158 157 49 294 98 436 116




S

w RN

= Ball Plungers

BISf)

B Type+M

f5uen

ZBPUS

Type+M

Part Number
order

ZBPUS

[! 15Emin RRIARE , REmax BRI AENRERIIGRE.
[ ! ]Load values min. “indicate an initial load” and max. “ load when the ball is fully sunk.”

e

0
L—O. 5

-{-

/}\
N

B

3 BXIERIR ( Materials )

F{KMain Body ERLBall 3EESpring
s REDE

MR REAE e %15 e %15

Type Load Category : : ]
Material Surface Treatment Hardness | Material | Hardness | Material
ZBPU el Lozt SCM435 Trivalent Chromate 29~35HRC SuJ2 55HRC SWP-B

3 SERALZI3Z,
ZBPM B SCM435 ,ig@my‘m:ﬂﬂ 29~35HRC SuJ2 55HRC~ SWP-B
Heavy Load Trivalent Chromate
BEH REREL IR

ZBPQ Extra Heavy Load Sehings Trivalent Chromate CEEEAlNG S Sl Sl

SHIEBZE (Specifications)

BiztPart Number BEH (N) BH(N) HBEH (N)
d S L ? B Light Load Heavy Load Extra Heavy Load
Type M - - -

min. max. min. max. min. max.

3 15|04 7 | 1|15 1 2 15 2.9 2.2 5
4 123807 9 | 24| 2 2 49 3.9 9.8 25 125
5 | 308|112 2|25 2.9 9.8 49 19.6 11.2 241
ZBPU 6 | 35| 1 |13]|25]( 3 49 14.7 9.8 294 17.7 334
ZBPM 8 15| 16 | 25| 4 6.9 19.6 12.7 39.2 214 453
ZBPQ (10| 6 (18] 16| 3| 5 8.8 245 18.6 49 235 58.7
12| 8 [27| 20| 3 | 6 9.8 29.4 19.6 58.8 241 62.3
16 |10 [35] 25| 3 | 8 15.7 49 294 98 436 116
20 12| 5 | 40| 6 | 10 53.9 784 784 1476 84.6 196.6




» KEEFRA AR
= Ball Plungers

sd=edi] ] B Type+M-L Part Number Type+M-L
fusn Z BBP 5-12 order Z BBP 5-12

[ ! 1GaEEmin RATIARE, | adimax ZRRIRSLEAENRERAGE,
[ ! ]Load values min. “indicate an initial load” and max. “ load when the ball is fully sunk.”

0
0.5 B

192

HRYIERER ( Materials )
F{kMain Body EksLBall JEESpring
BE
Tvoe W HERLE o , 4 .
P Material Surface Treatment Hardness H&Material Hardness HEMaterial
kR
ZBBP SCM435 . 29~35HRC SuJ2 55HRC~ SWP-B
Black Oxide
RE RYFEE
ZBCNB SCM435 Black Oxide 29~35HRC Polyacetal / SWP-B
ZBPS SUS303 / / SuUS440C 55HRC~ SUS304
RYEEE
ZBNBP SUS303 / / Polyacetal / SUS304
SHFIIRR (Specifications)
BIz{Part Number wH(N)
d S B Load
Type M L -
min max
3 5 6 7 10 13 16 20 1.5 04 | 1.5 15 2.9
4 6 8 9 10 12 16 20 2.38 0.7 2 3.9 9.8
5 8 10 12 16 18 20 25 30 35 40 3 08 | 25 49 19.6
ZBBP 6 8 10 13 16 20 25 30 35 40 50 3.5 1 3 49 294
ZBCNB g T30 12 16 20 25 30 35 40 50 5 15| 4 12.7 39.2
ZBPS 10| 16 20 23 25 27 30 35 40 45 50 6 1.8 5 18.6 49
ZBNBP 12 | 20 25 30 32 35 40 50 8 27 | 6 19.6 58.8
16 | 25 30 35 40 45 50 55 60 10 3.5 8 294 98
20 | 40 43 50 12 5 10 35 120
24 | 48 15.87 6 12 81 237




» BERINKE AN ARERER

= Ball Plungers / Long
B Type+M Type+M
ZBPSL5 ZBPSL5

[ ! 1GaEEmin RATIARE, | adimax ZRRIRSLEAENRERAGE,
[ ! ]Load values min. “indicate an initial load” and max. “ load when the ball is fully sunk.”

min
max
~ —
\\
S LS :
o -0.5
ESType EfAMain Body BksLBall WESpring
Bk % e wER | MR RESLE BE | | B i3
Ball head Category Load Category Standard | Material Surface Treatment Hardness > Hardness Material
iBEE BB
Ultra Light Load ZBPSL S45C Black Oxide 29~35HRC SuJ2 55HRC~ SWP-B
s
. e ZBPJL S45C % . 29~35HRC SuJ2 55HRC~ SWP-B
SEBRL Light Load Black Oxide
Metal Ball B
ZBSJL SUS304 / / SuJ2 55HRC~ SWP-B
Heavy Load
BE ]
Extra Heavy Load ZBPWL S45C Nickel Plating 29~35HRC SuJ2 55HRC~ SWP-B
iBEE B ERYEEE
Ultra Light Load ZNPSL S45C Black Oxide 29~35HRC Polyacetal / SWP-B
R O
. e ZNPJR S45C % . 29~35HRC BRAERE / SWP-B
HIBSERsL Light Load Black Oxide Polyacetal
Plastic Ball 55 s BRYERS
Heavy Load ZNSIL S45C Black Oxide 29~35HRC Polyacetal / SWP-B
tBER R BRYERE
Extra Heavy Load ZNSWL S45¢ Nickel Plating 29~35HRC Polyacetal / SWP-8
B5tPart Number BEH (N) B (N) B (N) HBEH (N)
d S L ! B Ultra Light Load Light Load Heavy Load Extra Heavy Load
Type M - - - -
min. max. min. max. min. max. min. max.
3 |15 04| 13 1 |15 0.3 0.64 1 2 15 29 22 5
ii:f:_- 4 |238] 07| 15| 15] 2 0.6 16 2 49 3.9 9.8 25 126
ZBSJL 5 3 108 18 2 |25 1 3.12 29 9.8 4.9 19.6 11.7 251
ZBPWL 6 [35] 1 20 | 25| 3 1.6 4.85 49 14.7 9.8 29.4 18.7 353
ZNPSL | 8 15| 23 | 25| 4 24 6.36 6.9 19.6 12.7 39.2 245 46.8
?::ij 10 18] 27| 3 | 5 3 8.1 8.8 245 186 49 267 587
ZnswL | 12| 8 | 27| 32 3 6 35 9.68 9.8 29.4 19.6 58.8 26.1 62.3
16 | 10 | 3.5 | 40 3 8 5.7 15.8 15.7 49 294 98 55.4 116




BISf)

f5uen

» REEMIMSBI 7 A Bk ki
= Ball Plungers / Long

B Type+M

ZBMSL5

Type+M

Part Number
order

ZBMSL 5

[ ! 1GaEEmin RATIARE, | adimax ZRRIRSLEAENRERAGE,
[ ! ]Load values min. “indicate an initial load” and max. “ load when the ball is fully sunk.”

min
max
~ o —
\\
S L t
- 0.5
A R¥IEBZE (Materials )
BISType F{kMain Body kL Ball FESpring
2SS S D=5 S sy R ) W MR
. t4EMaterial .
Ball head Category Load Category Standard Material Hardness Material
LT
Ultra Light Load ZBMSL SUS304 SuUS440C 55HRC~ SUS304
BH
Light Load ZBSML SUS304 SuUs440C 55HRC~ SUS304
SEBRSL ight Loa
Metal Ball B
ZBSZL SUS304 SuUSs440C 55HRC~ SUS304
Heavy Load
— ZBSXL SUS304 SuUs440C 55HRC~ SUS304
Extra Heavy Load
BRH BRYREE
Ultra Light Load ZNMSL SUS304 Polyacetal / SUS304
.
Li f‘:? d ZNSML SUS304 P %éﬁﬁt | / SUS304
PIISERSL ight Loa olyaceta
Plastic Ball = BRUERS
s e ZNSZL SUS304 Polyacetal / SUS304
iBER BRYREE
Extra Heavy Load ZNSXL SUS304 Polyacetal / SUS304

S#¥IE8ZER (Specifications)

Bz{Part Number HBEE (N) BE(N) BH (N) HEEH (N)
d S L ? B Ultra Light Load Light Load Heavy Load Extra Heavy Load
Type M - - - -

min. max. min. max. min. max. min. max.

3 (1504 13] 1|15 03 0.65 1 2 15 29 22 5
;:Q"Jt 4 [238] 07| 15[15] 2 06 162 19 49 3.9 9.8 25 125
smszi | 5 | 3 o8| 18] 2|25 11 321 33 9.8 49 19.6 11.2 241
zBsxL | 6 |35 1 [20[25] 3 17 4.96 5.1 153 9.8 29.4 17.7 334
ZNMSL 8 15| 23 [ 25| 4 25 6.56 5.5 19.1 12.7 39.2 21.4 453
ZZT\ISS'\ZA:- 10 18127 3| s 32 8 8.9 24.1 186 49 235 60
ZnsxL | 12 27132 3] 6 35 9.8 105 29.3 19.6 58.8 241 637
16|10 (35[4 | 3 8 6.1 156 149 489 29.4 98 436 116




» BERIEE MRS R
= Ball Plungers - Selectable Length

B Type + M-L

Type + M- L

Z BPSLSS - 30

Z BPSLSS - 30

[ ! 1GaEEmin RATIARE, | adimax ZRRIRSLEAENRERAGE,
[ ! ]Load values min. “indicate an initial load” and max. “ load when the ball is fully sunk.”

min
max
N
S L
] 0.5
BISType F{KkMain Body Ek3LBall 3EESpring
PR S R RESE R R W R
Standard Load Category Material Surface Treatment Hardness | Material | Hardness | Material
BEH "B
ZBPSLS Ultra Light Load S45C Black Oxide 29~35HRC SuJ2 55HRC~ SWP-B
ZBPJLS Light Load S45C Black Oxide 29~35HRC SuJ2 55HRC~ SWP-B
=1 53R
ZBSJLS Yorwy e S45C Black Oxide 29~35HRC SuJ2 55HRC SWP-B
BEH R
ZBPWLS Extra Heavy Load S45C Nickel Plating 29~35HRC SuJ2 55HRC~ SWP-B
B bz ERYEEE
ZNPJRS Light Load S45¢ Black Oxide 29~35HRC Polyacetal / SWP-8
BstPart Number BEH (N) B (N) B (N) BER (N)
d S ? B Ultra Light Load Light Load Heavy Load Extra Heavy Load
Type M . , - -
min. max. min. max. min. max. min. max.
3 120 30 (15(04]| 1 |15 0.3 0.64 1 15 2.9 2.2 5
4 | 20 30 (238|077 | 15| 2 0.6 16 2 49 3.9 9.8 25 12.6
ZBPSLS 5130 40| 3 |08 2 |25 1 3.12 29 9.8 4.9 19.6 11.7 251
izzjtz 6 [30 40 35] 1 [25] 3 16 4.85 49 147 9.8 294 187 353
ZBPWLS 8 |40 50| 5 | 15| 25| 4 24 6.36 6.9 19.6 12.7 39.2 24.5 46.8
ZNPJRS 10 | 40 50 18| 3 5 3 81 8.8 245 18.6 49 26.7 58.7
12 ([ 50 60| 8 27| 3 6 35 9.68 9.8 29.4 19.6 58.8 26.1 62.3
16 | 50 60 | 10 | 35| 3 8 5.7 15.8 15.7 49 29.4 98 55.4 116




» REEMIMSBI 7 A Bk ki
= Ball Plungers / Long

sd=ed] ] BE Type + M- L Part Number Type + M- L
Bign Z BSSLSS - 30 order Z BSSLSS - 30

[ ! 1GaEEmin RATIARE, | adimax ZRRIRSLEAENRERAGE,
[ ! ]Load values min. “indicate an initial load” and max. “ load when the ball is fully sunk.”

Q

/|

] =

_f-
S Loos

A R¥IEBE ( Materials )
BEType F{AMain Body BRLBall JESpring
IR =% S MR MR BE .
Standard Load Category Material Material | Hardness HEMaterial
[T
ZBSSLS Ultra Light Load SUS304 SUS440C | 55HRC~ SUS304
BH
ZBSMLS . SUS304 SUS440C | 55HRC~ SUS304
Light Load
BH
ZBSZLS SUS304 SUS440C | 55HRC~ SUS304
Heavy Load
ZBSXLS B SUS304 SUS440C | 55HRC~ SUS304
Extra Heavy Load

SEIIERFE (Specifications)

Biz{Part Number BEE (N) BH (N) = (N) RBEH (N)
d S ¢ B Ultra Light Load Light Load Heavy Load Extra Heavy Load
Type M L - - - -

min. max. min. max. min. max. min. max.

3 120 30|15|04(| 1 |15 03 0.65 1 2 15 29 22 5
4 |20 302380715 2 0.6 1.62 1.9 49 3.9 9.8 25 12.5
ZBSSLS 5 |13 40| 3 |08 2 | 25 1 312 33 9.8 49 19.6 11.2 241
ZBSMLS 6 [ 30 40 35| 1 |25]| 3 16 4.96 5.1 15.3 9.8 29.4 17.7 334
ZBSZLS 8 |40 50| 5 [15| 25| 4 24 6.56 5.5 19.1 12.7 39.2 214 453

ZBSXLS 1040 50| 6 | 18] 3| 5 3 8 8.9 24.1 186 49 235 60
12 (50 60| 8 |27 ]| 3 6 35 9.8 10.5 29.3 19.6 58.8 24.1 63.7
16 | 50 60| 10 | 35| 3 8 5.7 15.6 14.9 489 29.4 98 436 116.3




n FERU/ ARSI SR
= Short Ball Plungers

sl ] B Type+M Part Number Type+M
Flan ZBPK 5 order ZBPK5

[! 15Emin RRIARE , REmax BRI AENRERIIGRE.
[ ! ]Load values min. “indicate an initial load” and max. “ load when the ball is fully sunk.”

+3[RIJERE ( Materials )

F{KMain Body ERLBall 3#EESpring
BE
Type MR MR WE MR
Material Material Hardness | Material
ZBPK SUS304 SUS440C 55HRC~ SUS304
S#FIARZE (Specifications)
,J;i | -—= BztPart Number HAO(N)
! L|d|s|s Load
Y Type M
min max
3 5 15| 04 | 15 1 2
S L ey 4| 6 (23807 2 11 37
— — ZBPK 5 8 3 08 | 25 2.2 5.9
6 8 3.5 1 3 4.6 8.7
8 10 5 15 4 7.5 11.9

w TR R T EIBR AT 22

i Aﬂh m Ball Plungers - Load Adjustable

.&;1 s B Type+M Part Number Type+M
; — K Bian ZBPCF 8 order ZBPCF 8
[! IFIREREIRTFE | EAMNR/BILRETEERE , FERTERER , h—FERE,

[ ! Has slits for a wrench on the tip.The rear hex socket is provided for load adjustments and can not be

used to tighten the unit. Only the straight slit is used for tightening.
[ INFRIGREASEE  FIHRIHE.

[ ! ]Load values are for reference,not guaranteed.
[! 1fRigEhEEEREIRIEERE,

[ ! IFix the plunger with the rear nut after load setting.

+A[EIEBE ( Materials )
F{AKMain Body BkLBall 3EESpring
S g 5 £S5 MR HE MR
-0. T . I ISZ. DAY
) 2 ype HERMaterial Material | Hardness | Material
1 ZBPCF SUS303 SUS440C | 55HRC~ SUS304
// ~ “ ZNPCF SUS303 P RO / SUS304
\ / olyacetal
kz__z/ SEIEBFE (Specifications)
| | |E=tpart Number NSNS | AR
d S L £ C X (X=0) ( Xmax )
2 5 Type | M . .
. min. | max. | min. [ max.

8 4 1 16 [ 64| 1 0~2.6 10 [ 20 | 32 | 41
10 5 112) 18| 65|13 0~2.7 7 21 | 38 | 52
12 | 71| 18| 22 | 66 | 1.8 0~2.8 3 29 | 42 | 62

ZBPCF
ZNPCF




» WEEEUERSLIEE

m Ball Plungers / Resin

BS5h

B Type + M

f5ugn

ZBSMN 8

Type + M

Part Number
order

ZBSMN 8

[ ! 1GREmIn JTADARE , AEmax BFREKLRAENRERRIRAE.
[ ! ]Load values min. “indicate an initial load” and max. “ load when the ball is fully sunk.”

MMl

2®EXIEBR ( Materials )

[ ! ITEmin ZrIIIAGE , iEimax RnERkE AR ENRERAIGRE.

[ ! ]Load values min. “indicate an initial load” and max. “ load when the ball is fully sunk.”

:;; &\/\m\/%\ \ /
&

RS F{KMain Body BksLBall SEESpring
IR DE=waeS R IR W IR
Standard | Load Category Material Material Hardness | Material
ZBSMN . el RERIEE SuUs440C 55HRC~ SUS304
S |_ 0 Light Load black polyacetal
0.5
7 4
ZBSZN B !‘:‘I@,%%_ﬁﬁ SUS440C 55HRC~ SUS304
Heavy Load white polyacetal
/ / :/ ; \ | ZBNMN Li Eiﬁé d bl %@%ﬁﬁt | h?@%ﬁ@t | / SUS304
‘O' \ \,/\ ///x\ /A\ ///(\/ = o ight Loa ack polyacetal | white polyaceta
VRVRVAVAY]! e = nemeE | CeRmE | sussos
\ Heavy Load white polyacetal | white polyacetal
max |
; SEIERE (Specifications)
min B5tPart Number 2#/N =H/N
d S L a Light Load Heavy Load
Type M - -
min. max. min. max.
ZBSMN 32|08 13| 1 0.2 5 8 16
ZBSZN
ZBNMN 4 1 15 | 1.2 2 12 15 30
ZBNZN | 10 (476 1.2 | 16 | 15 25 16 20 39
w ORIk EE
m Ball Plungers / Resin
s B Type+M Part Number Type+M
f5ugn ZPB8 order ZPB8

+A[EIEBE ( Materials )
F{KMain Body BXLBall 3EESpring
ggl:l
Type HE HE o HE
Material Material Hardness | Material
SRRk IS ERYERE
zpB Steel Ball Blue Polyacetal SUS440¢ >SHRC~ LR
WIBETRSL IEEERYERE B&RyER:
zpp Plastic Ball Blue Polyacetal | White Polyacetal / SUS304

BEIERZE (Specifications)

Bix{Part Number EH(N)

d|s|L]|a Load

Type M -

min max.

35109 | 14 1 12 17

ZPB

7pp 15] 16 | 1.2 20 35

10 ( 6 | 19| 19 | 15 25 45




» ISRk E

m Ball Plungers / Resin

si=edi] ] BS Type+M - L Part Number Type+M - L
fusn ZBPHLS - 20 order ZBPHLS - 20

[ ! 1GaEEmin RATIARE, | adimax ZRRIRSLEAENRERAGE,
[ ! ]Load values min. “indicate an initial load” and max. “ load when the ball is fully sunk.”

S 0
0.5

- Q ‘
;
=
o |
(C)

HRAIERER ( Materials )

F{AxMain Body ERLBall 3#EESpring
= aarS s
MR REAE W %15 B %54
Load Category Type . - -
Material Surface Treatment Hardness | Material | Hardness | Material
L34 KR
lightilead ZBPHL SCM435 Black Oxide 29~35HRC SuJ2 55HRC SWP-B
L
. ZBPLS SUS304 / / SUS440C 55HRC~ SUS304
Light Load
5 R
Heavy Load ZBPHH SCM435 Nickel Plating 29~35HRC SuJ2 55HRC SWP-B
5
ZBPHS SUS304 / / SUS440C 55HRC~ SUS304
Heavy Load
SRR (Specifications)
BIx{Part Number 28 (N) B (N)
d S H B | (© Light Load Heavy Load
Type M L - -
min. max. min. max.
4 10 15 20 30 238| 07| 28| 7 |81 1.9 49 39 9.8
5 16 20 30 40 3 (08|35 8 |92 33 9.8 49 19.6
ZBPHL 6 [ 16 20 30 40 35| 1 | 4 | 10 [115 5.1 153 98 29.4
ZZBB::;:' 8 16 20 30 40 50 5 15| 55| 13 15 5.5 19.1 12.7 39.2
ZBPHS 10|16 20 30 40 50| 6 |18 64| 17 [196[ 89 24.1 18.6 49
12 ({ 25 30 40 50 8 [ 27| 75| 19 | 219 10.9 29.3 19.6 58.8
16 | 30 40 50 60 10 | 35| 10 | 24 | 27.7 14.9 48.9 29.4 98




» AR BUIR TSR

= Hexagon Socket Head Cap Screw

BISf)

B Type+M - L

f5uen

ZBPRLS - 20

Type+M - L

Part Number
order

ZBPRLS - 20

[ ! 1GaEEmin RATIARE, | adimax ZRRIRSLEAENRERAGE,
[ ! ]Load values min. “indicate an initial load” and max. “ load when the ball is fully sunk.”

ax
ol /
- <C /
\
o
\\--.__—/
0
S Los E B1
HRXIERER ( Materials )
F{KMain Body ERLBall 3#EESpring
= aarS s
MR REAE W %15 B %54
Load Category Type . . :
Material Surface Treatment Hardness | Material | Hardness | Material
L34 KR
lightilead ZBPRL SCM435 Black Oxide 29~35HRC SuJ2 55HRC~ SWP-B
s
. e ZBPRSL SUS304 / / SUS440C 55HRC~ SUS304
Light Load
=5 R
Heavy Load ZBPRH SCM435 Nickel Plating 29~35HRC SuJ2 55HRC SWP-B
=5 ZBPRSH SUS304 / / SUS440C 55HRC~ SUS304
Heavy Load

ations)

SHHIRR (Specific

Bix{Part Number 28 (N) B (N)
d S E B1 A Light Load Heavy Load
Type M L - -

min. max. min. max.

4 10 15 20 30 2.38| 0.7 4 3 7 1.9 4.9 3.9 9.8
5 16 20 30 40 3 0.8 5 4 8.5 3.3 9.8 4.9 19.6

ZBPRL 6 | 16 20 30 40 35| 1| 6 | 5|10 5.1 15.3 9.8 29.4
ZZBBF:;T_:- 8 16 20 30 40 50 15 8 6 13 5.5 19.1 12.7 39.2
ZBPRSH 10({16 20 30 40 50| 6 | 18| 10| 8 | 16 8.9 241 186 49
12 | 25 30 40 50 27 | 12 10 18 10.9 29.3 19.6 58.8

16 | 30 40 50 60 10 | 35| 16 | 14 | 24 14.9 48.9 29.4 98




w B RIS
m Ball Plunger with Cap

s =ed] ] B Type+M Part Number Type+M
f5i4n ZBPCT 8 order ZBPCT 8

[ ! I#Emin FRRIDAGE , hEmax RRECKEAENRERAIGRE.

[ ! ]Load values min. “indicate an initial load” and max. “ load when the ball is fully sunk.”

e F{AMain Body BRLBall SEESpring
e | ME wELE HE | @mE | HE
S L T H Material Surface Treatment Material | Hardness | Material
== - ZBPCT SCM435 Blacffxide SuJ2 55HRC~ SWP-B
M
'/7 1 ZBPCS SUS303 / SUS440C | 55HRC~ SUS304
d =
?
W W Ml / ,,,,, BIF{Part Number %5 (N)
[ e |m| SO S|HB] T Load
max min max.
1 n e 4 7 |238] 0.7 6 2 2.5 5.8 11.7
= ZBPCT | 5 3 |08 25| 3 5.9 138
ZBPCS | 6 35| 1 35| 15 7.5 17.6
8 11 5 15 | 115 4 2 11.6 26.2
w SRR 2R
= Ball Plunger with Slotted
si= sl ] B Type+M Part Number Type+M
fugn ZBPST 8 order ZBPST 8

[ ! ITEmin ZriIiAGE , hEimax RnEkEAENRERAIGRE.

[ ! ]Load values min. “indicate an initial load” and max. “ load when the ball is fully sunk.”

e F{KMain Body EksLBall SEEESpring
f;fe R IS R W R
S L L1 D Material Surface Treatment Material | Hardness | Material
I M ZBPST S45C Blacyffxide SuJ2 55HRC~ SWP-B
d ‘\ ) /\ ZBPNI SUS303 / SUS440C | 55HRC~ SUS304
a -
NTTE / \
Bs{Part Number WH(N)
\J L|{Lwlw|Dbo|d]s Load
max e Type M min max.
min 4 | 65 2.38| 0.7 8 14
5 1185)| 4 3 108 8 14
ZBPST 6 9 10 | 35 1 11 18
ZBPNI 8 [ 11|55 13 1.5 18 31
10 | 14 16 1.8 24 45
12 | 15 18 27 26 49




BS5h

f5ugn

w HAFFERLATEE
m Ball Plungers / Fine Thread

B Type + M

Z BMPJ 5

min
max

Part Number
order
[ ! 1faEmin TTAMARE , fkmax TR AENRERRIAE,
[ ! ]Load values min. “indicate an initial load” and max. “ load when the ball is fully sunk.”

Type + M

Z BMPJ 5

=
0 -£-
S_ -0.5
3 R3IERE ( Materials )
HESType F{&Main Body BkLBall 3HEESpring
R D=5 S R FREALE R R B MR
Standard Load Category | Material Surface Treatment Hardness | Material | Hardness | Material
B rR
ZBMPJ e Lozt S45C Black Oxide 29~35HRC SuJ2 55HRC~ SWP-B
BH "R
ZBMSJ Heavy Load S45C Black Oxide 29~35HRC SuJ2 55HRC~ SWP-B
SRR (Specifications)
BIF{Part Number 123/N J|H/N
?EE—F@EE L d S ? B Light Load Heavy Load
Type M Fine Thread
min. max. min. max.
3 0.35 7 |15(05] 1 |15 1 2 15 29
4 0.5 9 23808 | 15| 2 19 49 39 9.8
ZBMPJ
ZBMS) 5 0.5 12 3 (08| 2 |25 33 9.8 49 19.6
6 0.75 13 3 108]| 25 4.9 147 9.8 29.4
8 0.75 15| 4 1 [25] 4 6.9 19.6 12.7 39.2
m BRSLEMR
= Ball Buttons - Tapped
s BT Type + M Part Number Type + M
fian ZTBBTS order ZTBBT 5

R 1

N\

[! 1SEAHEASERN | BERMRIER™ 5.
[ ! ILWhen using it with a ball plunger,select the same M.”

tARIEEZR (Materials )

Bs IR REALE e
Type Material Surface Treatment Hardness
ToRERREIR
ZTBBT SK4 Nickel Plating 55HRC~

SHIFIRZE (Specifications)

90°

Biz{Part Number
B L C T R d
Type M

4 7 8 2 84 | 15

5 8 6 9 2 1102 2

6 10 8 12 2 18 2

ZTBBT

8 13 10 15 3 1276 3

10 | 17 | 12 | 20 3 (485 4

12 19 15 22 3 [578]| 5




2-d e
#F/Countersink

\ G

m BRFAA0
m Ball Catches
B3

f5uen

B Type + A

Z BCAS 32

__ 5

Type + A

Part Number
order

Z BCAS 32

T 2-d e
\ T #E7L/Countersink
) r K
& 1 /
] ) 1L
A\
~= o~ ,
| m O L - -
™~ S
. () s
7}
(o N N LT
N
B3 IEBE ( Materials ) #3RXJEBZER ( Materials ) #ARIJEBER ( Materials )
= %54 B (%154 B L7154 RELIE
Type Material Type Material Type Material Surface Treatment
PEEEE R
ZBCAS SUS316 ZBCASS SUS304 ZBCASD Zinc Die Cast Chrome Plating
SHIFIIBFR (Specifications)
Bzt Part Number o
= B C D d e F G T I J K N L R S) }Ejj (N) hljj.( N)
Type A Latching Force | Unlatching Force
32 | 25 8 4 | 32|62 18 9 2 18 | 11 8 [ 65| 32| 6 |115 17 8
zZ::/:\sss 43 [ 35| 8 [ 593262284 10|25 25| 16| 75[85]4a5] 6 [135 20 13
7zBCASD | %0 [ 40 [ 10 | 75| 42| 82 |315])122] 29 | 30 | 20 9 (103| 6 | 7.7 | 159 23 18
70 | 60 13 13 | 42| 82| 51 17 4 42 30 (10.5( 15 10 | 105 23 56 38




n TR ERLBIEE
m Ball Lock Pins - Push Pin

sd=edl] ] B Type+B-L Part Number Type+B-L
fusn Z BLP 5-10 order Z BLP 5-10

f1 i 2 D

— % EA

m' [ \< Push
i2Ff/ba “\%/ Pin  jE¢H/knob jk;zfﬁon

A EYIERE ( Materials )

WEZES

Chain mounting hole

-0.04
-0.08

Bl

iREkBall #Pin SEESpring hiesHKnob
BISType R TR MR TR MR (%154
Material Hardness Material Hardness Material Material
ZBLP SuUS440C 55HRC~ SUS303 / SUS304 feres
Nylon 6
SHIIERZE (Specifications)
BisLPart Number REFENRY I
D D1 | Bl | 1 £2 | Mating Hole Recommended (KN)
Type B L Dimensions Shear Load
5 10 15 20 25 30 38 | 16 | 5.5 6 | 315 5 0~+0.07 24
6 10 15 20 25 30 40 50 38 16 7 7 |315 6 0~+0.07 35
ZBLP 8 20 25 30 40 50 38 16 | 95 8 | 315 8 0~+0.09 63
10| 25 30 40 50 60 43 | 23 12 9 36 10 0~+0.09 100
12 | 40 50 60 80 43 23 [145] 10 36 12 0~+0.11 144
16 | 60 80 100 43 23 19 14 36 16 0~+0.11 257




w BRSLBURE SpER
m Ball Lock Pins - Spring Type

sd=edl] ] B Type+ B-L Part Number Type+ B-L
Flan Z BLPS 5-30 order Z BLPS 5-30

1o 1 7,
|
3ol
| co ~
(a2 N 3
’CD,

\;‘ﬁ?f}k/ ball\%‘ﬁ/ pin F#g/ha ndIe/

3 BEXIERIR ( Materials )

BSType RTkBall #4Pin FtFHandle #ESpring|  #Ring
LRJiEzE LRIEER IR BE MR FRERLE R FEGLE MR MR
L Selectable L Configurable | Material | Hardness | Material | Surface Treatment | Material | Surface Treatment| Material Material

ZBLPS ZBLPF SUS440C | HRC55~ S45C . i . SUM22 . =R . SUS304 SUS304
Nickel Plating Nickel Plating

» LRTiEiZE / L Selectable

SR (Specifications)

BiztPart Number EEE?LEWRT]’ SFRERIRES (N ) SEERETT e,
BL|n | D || E Mating Hole Resistance when (KN)
Type B L RT;.Omm?nded Removed (N) Shear Load
imensions
30 55| 6 | 11| 22 25| 5 0~+0.07 9
25 30 40 50 7 7 |ul22]s6 0~+007 9 7
JaLps 25 30 40 50 95| 8 [ 11| 22| 25 | 8 0~+0.09 9 13
1025 30 40 50 60| 12| 9 | 16| 27| 25 | 10 0~+0.09 20 20
12 | 60 14510 16|27 25 | 12 0~+011 30 29
16 | 60 80 100 19| 14| 1932|2516 0~+0.11 50 51

» LR#EEE! / L Configurable

SHVIEEZE (Specifications)

BistPart Number T | emmmn (N) | i
Type B L (EESI5Smm) BL| & | D | 2| E Recommended Resistance when (KN)
(5mm Increment) Dimensions Removed (N) Shear Load
100 ~ 30 55| 6 11 | 22 | 25 5 0~+0.07 9
15 ~ 50 7 7 11 | 22 | 25 6 0~+0.07 9 7
20 ~ 100 95| 8 11 [ 22 | 25 8 0~+0.09 9 13
ZBLPF
10 25 ~ 100 12 9 16 [ 27 | 25| 10 0~+0.09 20 20
12 30 -~ 100 145) 10 | 16 | 27 | 25 | 12 0~+0.11 30 29
16 50 ~ 100 19 (14| 19) 32| 25| 16 0~+0.11 50 51




m BRELBIRE

m Ball Lock Pins

sl=edi] ] BS Type+ A-L Part Number Type+ A-L
fan Z BLPSS 5-30 order Z BLPSS 5-30
+0.5
0 G
23 M
< S
<
Q) e o o
3 RYIERE ( Materials )
&EkBall #4Pin 3EESpring iEséKnob $Z4HButton IRRing
Bs
Type %54 TR MR WE R %15 R MR
Material Hardness Material Hardness Material Material Material Material
ZBLPSS SuUS440C 55HRC~ SUS303 / SUS304 SUS303 SUS303 SUS304
SHTERR (Specifications)
Bzt Part Number
B @ D E F G H
Type A L

5 10 15 20 25 30 56| 6 59 (11.8| 20 [22.1| 15

6 10 15 20 25 30 40 50 7 7 59 (118 20 [221] 15

8 20 25 30 40 50 9.5 8 59 (11.8| 20 [229]| 15

10 (| 25 30 40 50 60 119| 9 59 (145 28 | 30 | 19

ZBLPSS

12 | 40 50 60 80 145 10 | 79 | 19 | 34 [359]| 25

16 | 65 70 75 80 19 | 15 [109(23.8( 44 |415]| 25

20| 75 80 85 90 24 | 17 1109|238 44 |415| 27

25| 8 90 95 100 31 | 22 | 179|318 53 [54.4(37.2




Indexing Plunger

BHLOMNE

ZHENGCHEN HARDWARE



» B R EHEE

m Compacted Indexing Plungers-Return Type

L= BT Type + M Part Number Type + M
flan ZPMXSB8 order ZPMXSB8

ER/Return type B#lifid/Rest position

D i

| L '
- | | |
i R N ,f | Km 5
IR =
¢ B/ iBgm (7] | a2

A EXTERE (Materials)

RS Type iesEKnob F{KkMain Body #8Pin | 38EESpring
124y
ShE BHE Screw R R REAE R R
Return Type Rest Position Material Material Surface Treatment Material Material
*F =943 KR
ZPMXSB ZPMXYSB Coarse Thread Nylon 6 S45C Black Oxide SUS303 SUS304
e fex6 R
ZPMXSM ZPMXYSM Coarse Thread Nylon 6 S45¢ Nickel Plating SUS303 SUs304
SE3BR%E (Specifications)
Bix{Part Number AT IEE sk ™
Pitch D D1 S B L L1 | SW R Load
Type M | (Coarse) min max
ZPMXSB 8 1.25 20 |145| 5 | 5 | 25| 5 [ 13| 3 25 6
ZPMXSM
ZPMXYSB
ZPMXYSM | 10 15 24 19| 6| 6|31 7 |17]35 45 95




» IR - S
m Tip Shape Selectable Return type

L= ed B B Type + M Part Number Type + M
flan ZPXAN 8 order ZPXAN 8

S{77/Return type

R IRIE
with lock nut
pPxXAO PXK O
SXPALO SXPKO
D
Eﬁ[
Swi
1
N
‘Shape | —| Sue
H‘(Eﬁ!/Spherica” HEE R Tapered T2 R /F|at — <t
3 s o
OO0O0ON - O0O00T - OO0O0F — = —
j““? | » Y M
i | s

HA[EXIERE (Materials)
BEType HiE§HKnob F{KMain Body #4Pin ESpring | $4EIRMELock Nut
. [0 b b b
BER | mER | TX® | . I pE | 2EAR | g g | COAE | g pE | SR
R crew . . Surface X Surface . . Surface
Spherical | Tapered Flat Material Material Material | Hardness Material Material
Treatment Treatment Treatment
ZPXAN ZPXAT ZPXAF A2017 SuM22L R® $45C | 45~60HRC| E* SUS304 / /
mF R, Black Oxide Black Oxide
ZPXKN ZPXKT ZPXKF Fine Thread ﬁzii? SuUM22L Yo\ $45C | 45~60HRC| R SUS304 SS400 G
Black Oxide Black Oxide Black Oxide
ZSXPAN | ZSXPAT | ZSXPAF A2017 SUS303 / SUS440C | 45HRC~ / SUS304 / /
HoF EEptkait
Fine Thread| %:¥/Black
ZSXPKN | ZSXPKT | ZSXPKF Anodize | SUS303 / SUS440C | 45HRC~ / SUS304 | SUS304 /
SHTEEE (Specifications)
BIztPart Number L ik
= HFIBIE B\
T . Pitch D|D1| S| B e Teid] 11| 2| L3] 4] L5 |[swi|sw2| SR Load
ype Fine Thread Return type min. max.
ZPXAN 5 0.5 10 [ 81| 5 2 35 15| 3 |14 |27|15] 7 | 8 1 1 6
ZPXAT 6 0.75 12 192]| 5 | 25 36 15| 4 (13532 15| 8 | 10 | 1.3 1 6
ZPXAF  hag 1 15 [115] 4 | 4 40 6|5 14| 4 |15]1w0]1]2 3 9
ZPXKN
ZpxkT | 8L 1 15 (115 6 | 4 42 16| 5|14 4 15| 10| 13| 2 3 12
ZPXKE | 10 1 18 | 13.8| 5 5 45 17 | 5 [ 15| 5 [ 20| 12| 17 | 25 5 11.5
ZSXPAN | 10L 1 18 | 13.8| 8 5 48 17| 5 (15| 5 [20| 12 | 17 | 25 5 16
ig‘(::: 12 15 21 |162] 6 | 6 545 20| 6 17| 6 |25] 14| 19] 3 6.5 145
7sxPKN | 12L 15 21 [162]| 10 | 6 58.5 20| 6 | 17| 6 | 25| 14| 19| 3 6.5 20
ZSXPKT | 16 15 26 [219| 7 | 8 68 26| 8 | 23| 8 [30| 19| 24| 4 7.15 18
ZSXPKF | 16L 15 26 [219] 12 | 8 73 26| 8 | 23| 8 [30| 19| 24| 4 7.15 25




w R 2 - Bl
m Tip Shape Selectable Rest position

L= ed B B Type + M Part Number Type + M
BN ZPXYAN 8 order ZPXYAN 8

B#$i#Y/Rest position

TR
with lock nut
PXyAO PXYKO
SXYPAO D SXYPKO
Swi
Shape| /
[ H . H _l N
IKE A/ Spherical | $#E R /Tapered | LA Flat - Sz
OOOON | O0O0O0OT - O0O0O0F <
= s : ‘ o ™ i
157 | 0 —
i ; : g° R
: f15] E ! w L) M ) M
bt ; NC0. 1 T TN TN pass
SR/ i i R/ “Shaps ' N Shape
B-O.DE
-0.04
HA[EXIERE (Materials)
BEType HiE§HKnob F{KMain Body #4Pin ESpring | $4EIRMELock Nut
. [0 b b b
BER | mER | TX® | . I pE | 2EAR | g g | COAE | g pE | SR
R crew . . Surface X Surface . . Surface
Spherical | Tapered Flat Material Material Material | Hardness Material Material
Treatment Treatment Treatment
ZPXYAN | ZPXYAT | ZPXYAF A2017 SUM22L R® S45C | 50~60HRC R& SUS304 / /
mF R, Black Oxide Black Oxide
ZPXYKN | ZPXYKT | ZPXYKF Fine Thread ﬁfﬂiék SuUM22L Yo\ S45C | 50~60HRC R® SUS304 SS400 G
Black Oxide Black Oxide Black Oxide
ZSXYAN | ZSXYAT | ZSXYAF A2017 SUS303 / SUS440C | 45HRC~ / SUS304 / /
HoF EEptkait
Fine Thread| %:¥/Black
ZSXYKN | ZSXYKT | ZSXYKF Anodize | SUS303 / SUS440C | 45HRC~ / SUS304 | SUS304 /
SHTEEE (Specifications)
BIztPart Number L ik
= HFIBIE B\
T . Pitch D |D1L]| S B B4R 11| 2| L3] 4] L5 |[swi|sw2| SR Load
ype Fine Thread Rest position min. max.
ZPXYAN 5 0.5 10 | 81| 5 2 41 15 3 14 | 27 | 15| 7 8 1 1 6
ZPXYAT | 6 0.75 12 192]| 5 | 25 42 15| 4 (13532 15| 8 | 10 | 1.3 1 6
ZPXVAF g8 1 15 [115] 4 | 4 46 16| 5 1] 4]15]10]13]2 3 9
ZPXYKN
7pxykT | 8L 1 15 (115 6 | 4 48 16| 5|14 4 15| 10| 13| 2 3 12
ZPXYKE | 10 1 18 | 13.8| 5 5 50 17 | 5 [ 15| 5 [ 20| 12| 17 | 25 5 11.5
ZSXYAN | 10L 1 18 | 13.8| 8 5 53 17| 5 (15| 5 [20| 12 | 17 | 25 5 16
ZSXYAT 1795 15 21 |162] 6 | 6 60.5 20| 6 |17 6 25|14 19] 3 6.5 145
ZSXYAF
7sxYKN | 12L 15 21 [162]| 10 | 6 64.5 20| 6 | 17| 6 | 25| 14| 19| 3 6.5 20
ZSXYKT | 16 1.5 26 |219| 7 8 75.5 26| 8 | 23| 8 [30| 19| 24| 4 7.15 18
ZSXYKF | 16L 15 26 [219] 12 | 8 80.5 26| 8 | 23| 8 [30| 19| 24| 4 7.15 25




w B
= Economical knob plunger

L= BT Type + M Part Number Type + M
flan ZPXYAS 10 order ZPXYAS 10

Il

S{/E/Return type E$i8Y/Rest position
TRRIERIE HHIRERE
with lock nut with lock nut
D D
| | |
/5«? 1 N*_
AN — ] Swz
[~ - ‘ A
SEEIIEREE
M
%) H Y HRNY
* R/L B-s.ss

2 ExIEEZR (Materials)

BIEType hiEegHKnob F{KkMain Body $4Pin JEESpring BiEEMELock Nut
=1 vi:d] =i b2 b b b
ao | wE pE | AR e | AR e wE | SR
Return Rest . . Surface . Surface . . Surface
. Material Material Material Hardness Material Material
Type Position Treatment Treatment Treatment
ZPXAS ZPXYAS SUuM23 R® . S45C 50~60HRC R . SWP-B / /
9 B6 Black Oxide Black Oxide
Fine Thread| Nylon 6 wm s )
ZPXKS ZPXYKS SUM23 Black Oxide S45C 50~60HRC Black Oxide SWP-B S45C Black Oxide
ZSXPAS ZSXYAS SUS303 / SUS303 / / SuUS304 / /
4T I=y43
Fine Thread| Nylon 6
ZSXPKS ZSXYKS SUS303 / SUS303 / / SUS304 SUS304 /

SHTEEE (Specifications)

\ papre
bt | ) L FisLoad(N)
ar umber :

Pitch o loils!| sl r 1l 2| | |swilswa| ZPXAS/ZPXYAS | ZSXPAS/ZSXYAS

(Fine - — ZPXKS/ZPXYKS | ZSXPKS/ZSXYKS
Type M Thread) Return type [Rest position min. max. min. max.
ZPXAS | 10 1.0 21 |138| 5 [ 5 [ 5 45 51 175|155 |12|17] 7 17 6 15
ZPXKS
ZSXPAS
ZSXPKS

12 15 25 |162| 6 | 6 | 6 54.5 61 20| 6 | 17| 6 | 14| 19|10 24 9 21

ZPXYAS
ZPXYKS
ZSXYAS
zsxyKks | 16 15 31 (219 8 | 8 | 8 69 75.5 26| 8 | 23| 8 |19|24]| 11 30 10 26




» ZF BRI
= Economical knob plunger
p=s I B Type + M Part Number Type + M
BN ZPXA 10 order ZPXA 10
[ 1 E#EMI6ARNSR I HIEERINE
[ ! IMin.S dimension of Rest Position Type M16 is shown in the ().
S{\u#/Return type B#i{8/Rest position
THREE HHIE g
with lock nut with lock nut
- D _ D _ . D
| | | | . | | | [ |
[T [ i |
: i i
| | |
1 |
i S I T
1 | ! |
o | |
4 I [i]
. A I
— i = T :
r I | wm s 10 i
f e b - ﬂ [ ’] t_l
» J M I _
"R/ IB3E n M M
R/|B3as '
D1
= - =) I—"_r
2 ExIEEZR (Materials)
BIEType hiEegHKnob F{KkMain Body $4Pin JEESpring BiEEMELock Nut
DL 5 121y 5: b b
=172 =k c I WE REAE WE e REAE WE WE REAE
Return Rest crew . . Surface . Surface . . Surface
. Material Material Material Hardness Material Material
Type Position Treatment Treatment Treatment
ZPXA ZPXYA SUM22L R . S45C 50~60HRC K% . SWP-B / /
9 B6 Black Oxide Black Oxide
Fine Thread| Nylon 6 wm s )
ZPXK ZPXYK SUM22L Black Oxide S45C 50~60HRC Black Oxide SWP-B S45C Black Oxide
ZSXPA ZSXPK SUS303 / SUS303 / / SUS304 / /
HHF I=y/49
Fine Thread| Nylon 6
ZSXPK ZSXYK SUS303 / SUS303 / / SUS304 SUS304 /
S8 (Specifications)
y .
Part %itmber SRIBE) L AL
Plt'ch D D1 B S L1 L2 13 4 | swilswo ZPXA/ZPXYA ZSXPA/ZSXYA
(Fine min SR 4 ZPXK/ZPXYK ZSXPK/ZSXYK
Type M| Thread) Return type |Rest position min. max. min. max.
ZPXA | 10 1.0 21 |138f 5 | 5 45 51 17 | 5 | 15| 5 | 12|17 | 7 17 6 15
ZPXK
ZSXPA
ZSXPK
12 15 25 1162| 6 6 54.5 61 20 6 17 6 14 18 9 24 8 21
ZPXYA
ZPXYK
ZSXYA 8
ZSXYK 16 1.5 31 |219| 8 (7) 69 75.5 26 8 23 8 19 | 24 | 11 30 9 26




w i EUEHAESE

= Economical knob plunger

LS ed] ] B, Type + M Part Number Type + M
BN ZPMXAS 10 order ZPMXAS 10

S7E/Return type B $i#Y/Rest position
R TR
with lock nut with lock nut
D D D D
I Py ] = =
1 1 T I l
ﬁj_ : mT ; P i An
1N _
- —— S r ItT 1T
: _{ | I : LA
g0l g3t |4 [ £
i [ _]J il — : __*__l
w : a M wn : M : M
S P T S, T
D1

A ERIERZR (Materials)

BESType HiE§HKnob F{KMain Body #4Pin ESpring | $4EIRMELock Nut
t=1vi: ) BiE 825 RELLE RELLE RELLE
Return Rest Screw Mﬁ. Mﬁ. Surface Mﬁ. B Surface Mﬁ. Mﬁ. Surface
. Material Material Material Hardness Material Material
Type Position Treatment Treatment Treatment
ZPMXAS | ZPMXYAS YT . SUM23 Black Oxide S45C 50~60HRC Black Oxide SWP-B / /
Coarse Nylon 6
Thread KR . KR : k2
ZPMXKS | ZPMSYKS SUM23 Black Oxide S45C 50~60HRC Black Oxide SWP-B S45C Black Oxide
ZSMXAS | ZSMXYAS i SUS303 / SUS303 / / SUS304 / /
HF R
C fe6
oarse
Thread Nylon 6
ZSMXKS | ZSMXYKS SUS303 / SUS303 / / SUS304 SUS304 /
SHTEEE (Specifications)
Bt L faEkLoad(N)
Part Number e
BT - I=SEntid] ZPMXAS/ZPMXYAS | ZSMXAS/ZSMXYAS
pich | D | DL B 1S | B SR Rest | TE B2 BB [SWE] W21 Zpwmixks/zPMxyKs | ZSMXKS/ZSMXYKS
Type M [ Coarse Return type I
P position min. max. min. max.
ZPMXAS | 6 (10| 12 69| 4 | 4 | 15 30.5 33 1245|1032 7| 6 [10] 3 11 3 11
ZPMXKS
ZSMXAS
ZSMXKS 8 |125]| 16 | 9.2 5 5 15 40 435 16 6 14 4 9.7 8 13 5 24 5 23
ZPMXYAS| 10 | 15 | 18 [115] 6 | 6 | 15 49 52 20| 75| 18| 5 |105| 10 | 16 | 5 21 6 21
ZPMXYKS
ZSMXYAS
Zsmxyks | 12 [1.75] 21 [139] 8 | 8 | 15 59 63.5 24| 9| 22| 6 |135| 12| 18| 6 22 6 22




w i EUEHAESE

= Economical knob plunger

L= BT Type + M Part Number Type + M
flan ZPMXA 10M order ZPMXA 10M

S7E/Return type B $i#Y/Rest position
R TR
with lock nut with lock nut

D D D D

I Py ] = =

| E | E E | 3
b I ; i
Ll | ET | Eg | Fa
- —— JE r ItT 1T
| 4 NE i We
o i < S T
Tu.ll i J—‘_m-l x_‘l
I ; IB-S.M I —203

2 ExIEEZR (Materials)

BSType hiEsAKnob F{&Main Body $4Pin SEESpring | PEMRIELock Nut
t=1vi: ) BiE 25 RELLE RELLE RELLE
Return Rest Screw Mﬁ. Mﬁ. Surface Mﬁ. B Surface Mﬁ. Mﬁ. Surface

. Material Material Material | Hardness Material Material
Type Position Treatment Treatment Treatment
T e6 i
ZPMXA | ZPMXYA Coarse Thread Nylon 6 szl Trivalent Chromate Aeln / / SR / /
T fe6 i
ZPMXK ZPMXYK Coarse Thread Nylon 6 stivizet Trivalent Chromate sUs303 / / sUs304 sUs303 /
SHTEEE (Specifications)
1 e
mzt - ) & )
Part Number ) Load
Pitch D D1 S B L1 L2 L3 L4 L5 | SW1|SW2
Type M . S B min. | max
yp (Coarse) Return type Rest position : :
6M 1 12 | 69 4 4 30.5 33 12 | 45| 10 | 3.2 7 6 10 3 12

ZPMXA

ZPMXK | 8M | 125 16 92| 5| 5 40 435 16| 6| 14| 4 |95| 8 [13| 5|24

ZPMXYA [ 10m 15 18 |115| 6 | 6 49 52 20 | 75| 18 | 5 |105| 10| 16 | 5 | 21

ZPMXYK

12M 1.75 21 (138 8 8 59 63.5 24 9 22 6 |[13.5( 12 18 6 22




» IIREEHAEENNKE

= Indexing Plungers - Long-Return

L= BT Type + M Part Number Type + M
flan ZPXAL 10 order ZPXAL 10

with lock nut
D D
; o ] |
~rTy il
1 ] I fﬂz
i A
‘i/c; : M Eb’ M
b 'B3e |

2 ExIEEZR (Materials)

HiEgHKnob F{KMain Body #4Pin 3ESpring | S4EIRMELock Nut
Bs 2 FEAE FEALE FEAE
Type Screw Mﬁ. Mﬁ. Surface Mﬁ. B Surface Mﬁ. Mﬁ. Surface
Material Material Material | Hardness Material Material
Treatment Treatment Treatment
ZPXAL A2017 SUM22L Bl sz id S45C 50~60HRC Bl Zkif id SUS304 / /
WF | BERREL ackbxide ackbxide
Fine Thread| %:#/Black sm wm wm
ZPXKL Anodize SUM22L Black Oxide S45C 50~60HRC Black Oxide SUS304 SS400 Black Oxide
ZSXPAL A2017 SUS303 / SUS440C 45HRC~ / SUS304 / /
4HF RERREN
Fine Thread| %t¥#/Black
ZSXPKL Anodize SUS303 / SUS440C 45HRC~ / SUS304 SUS304 /
S (Specifications)
Bzt Part Number L b
= HFIBEE B\
" Pitch D|DL| s | B S 1| 2| 13| L4 |swi|sw2| R Load
Type Fine Thread Return type min. max.
8 1 15 (115 4 4 46 22 5 20 4 10 13 2 3 9
8L 1 15 | 115] 6 4 48 22 5 20 4 10 13 2 3 12
ZPXAL 10 1 18 | 138] 5 5 53 25 5 23 5 12 17 | 25 5 115
ZPXKL 10L 1 18 |[138| 8 | s 56 x| s [ 23] s [12]17]2s 5 16
ZSXPAL 12 1.5 21 [16.2]| 6 6 64.5 30 6 27 6 14 19 3 6.5 145
ZSXPKL 12L 15 21 |16.2| 10 6 68.5 30 6 27 6 14 | 19 3 6.5 20
16 1.5 26 | 219 7 8 80 38 8 |[345] 8 19 24 4 7.15 18
16L 15 26 (219 12 8 85 38 8 |[345]| 8 19 24 4 7.15 25




w ATRIRE RS
= Indexing Plungers with Tapped Tip

sa=ed ] B Type + M-S Part Number Type + M-S
BN ZPXTAB10-5 order ZPXTAB10-5

T
TN =

E1uBd/Return type B #i{84/Rest position
TrEEIRE R IRE
with lock nut with lock nut

D D

- Swz
r“J 'q—
£ | L J e
go,_ Y
wn I RN M
L a—-‘ a—-‘
% s

A EXTERE (Materials)

BSType HE$HKnob F{A&Main Body $8Pin SEEESpring SEiEMELock Nut
G {5
o ) B pm | em e wE | s ME | HE wmwE
L Material Material | Surface Treatment | Material | Hardness | Surface Treatment | Material Material | Surface Treatment
Type Position
ZPXTAB ZPXTYB A2017 SUM22L KR . S45C 50~60HRC Ly . SUS304 / /
BRI, Black Oxide Black Oxide
4b38/Black w@ wm wm
ZPXTNB ZPXTSB Anodize SUM22L Black Oxide S45C 50~60HRC Black Oxide SUS304 SS400 Black Oxide
ZPXTAS ZPXTYS A2017 SUS303 / SUS440C 45HRC~ / SUS304 / /
EEERkEl
4b18/Black
ZPXTNS ZPXTSS Anodize SUS303 / SUS440C 45HRC~ / SUS304 SUS304 /
SEXJERZ (Specifications)
Bzt Part Number L b
= GibE RE ()
Pitch | D [ DL| B [ M| ¢ | gpm gy | L1 | L2 | 13| L4 |[swi|sw2 Load
Type M S Fine Thread Return type [Rest position min. max.
10 5 1.0 18 | 13.8| 5 M3 5 45 50 17 5 15 5 12 17 5 115
ZPXTAB | 10 [ 8 1.0 18 | 138 5 [ M3 ]| 5 48 53 17| 5 | 15| 5 | 12| 17 5 16
ZPXTNB
ZPXTAS
ZpxTNs | 12| 6 15 21 |162| 6 | M4 | 6 54.5 605 |[20| 6 |17 | 6 | 14| 19 6.5 145
ZPXTYB | 12 | 10 15 21 |162| 6 [ M4 | 6 58.5 64.5 20| 6|17 | 6 | 14| 19 6.5 20
ZPXTSB
ZPXTYS
ZPxTss | 16 | 7 15 26 |219| 8 | M5| 8 68 755 26| 8 [ 23| 8 | 19| 24 7.15 18
16 12 1.5 26 [ 219 8 M5 8 73 80.5 26 8 23 8 19 24 7.15 25




n FEIREER R A 2R

= Indexing Plungers - Rest Position

= BT Type + M Part Number Type + M
flan ZPXSAN 12 order ZPXSAN 12

S{UB/Return type B#iBY/Rest position
RIS TR ENE
with lock nut with lock nut

D

[ |

2 ExIEEZR (Materials)

BSType liggAKnob F{&Main Body #4Pin #EESpring PHZIRMELock Nut
S BHiE
Return Rest 7R 7R RELE %15 W RELE R R RELE
. Material Material Surface Treatment Material | Hardness | Surface Treatment Material Material Surface Treatment
Type Position
KRR RE
ZPXSAN ZPXRAN A2017 SUM22 Black Oxide S45C 50~60HRC Black Oxide SUS304 / /
EEERENE
Black Anodize RE RE RrE
ZPXSKN ZPXRKN SUM22 Black Oxide S45C 50~60HRC Black Oxide SUS304 SS400 Black Oxide
SHTEEER (Specifications)
Bzt Part Number b
z IS B\
T M Pitch D D1 B S L L1 L2 L3 |SW1|SW2| R1 Load
e .
yp Fine Thread min max
12 15 21 (196 6 6 48 | 10 5 6 17 | 19 3 6.5 14.5

ZPXSAN ZPXRAN
ZPXSKN  ZPXRKN




n FEIREER R A 2R

= Indexing Plungers - Rest Position

L=l B Type+M Part Number Type+M
flan ZPXSA 12 order ZPXSA 12

ShE /Return type B#iif/Rest position
il iR
with lock nut with lock nut
D
I :E|' m
- o | | s
M sw
— =1 Pl
= L ( ] +ﬂ
T W
a,J L.Ba&

+A[EXIBRER (Materials)

BEType hEEHKnob ZE{KMain Body $4Pin 3EESpring HiZeEELock Nut
S BHiE b b b
HE pE | TR g g | OOE | e pE | TR
Return Rest . . Surface . Surface . . Surface
. Material Material Material | Hardness Material Material
Type Position Treatment Treatment Treatment
fe6 k2 KR
ZPXSA ZPXRA Nylon 6 SUM22L Black Oxide S45C 50~60HRC Black Oxide SWP-B / /
fex6 KR KR yo2=2)
ZPXSK ZPXRK Nylon 6 SUM22L Black Oxide S45C 50~60HRC Black Oxide SWP-B S45C Black Oxide
SHTEER (Specifications)
Bzt Part Number ik
z IS B\
T M Pitch D D1 B S L L1 L2 L3 |swi|sw2| Load
e .
yp Fine Thread min. | max.
ZPXSA ZPXRA 12 15 25 |196| 6 6 45 10 5 6 17 18 7 18
ZPXSK ZPXRK | 16 15 31 |219] 8 8 | 54|12 6 | 8| 19| 24| 14| 24




» RAREEEEHTE

m Indexing Plungers-Precision Pilot Fine Thread

L=l B Type+M Part Number Type+M
flan ZPMXSL12 order ZPMXSL12

S1uB/Return type E1$i8Y/Rest position

D

- S l
L TIph7
— ar
= |
M
1
% - “R1
0
v _B o
12 HRXIERFR (Materials)
BSType hiEgHKnob F{KMain Body #4Pin JEESpring
b=11vi:d) B HE B REE RELE
GESE R Thread MR 154 EE %154 EE %154
eturn Rest T . . Surface . Surface .
Load Category .. ype Material Material | hardness Material | Hardness Material
Type Position Treatment Treatment
12#BILight Load ZPMXSL | ZPMXYSL w 7 5 5
= J HEF fefe6 S45C 33~38HRC i . S45C 50~60HRC A . SUS304
E&EHeavy Load ZPMXSH | ZPMXYSH | Coarse Thread |  Nylon 6 Black Oxide Black Oxide
12#EBILight Load ZPXSL ZPXYSL 4 7 2
= J ) il fefe6 S45C 33~38HRC iy . S45C 50~60HRC i . SUS304
E#BHeavy Load ZPXSH ZPXYSH | fine thread| Nylon 6 Black Oxide Black Oxide
Z&BLight Load ZSMXSL | ZSMXYSL YEoF
- SUS303 SUS303 / / SUS303 / / SUS304
E#BHeavy Load ZSMXSH | ZSMXYSH | Coarse Thread
#Z2BLight Load ZSPXSL | ZSPXYSL | sz
- ) SUS303 SUS303 / / SUS303 / / SUS304
E#A Heavy Load ZSPXSH | zSPXYSH | fine thread

SEIEBE (Specifications)

Biz{Part Number 12EEPitch fhi#FLoad(N)
w il ]
HF w7 Ph7 plot| s || |ulwr|c|ow| B2 | =8
Type M Coarse Fine Light Load | Heavy Load
Thread Thread min. | max.| min. | max.
0
ZPMXSL  zPMXvysL | 10 15 1 L [ 18 |162| 5 | 5 | 38| 10| 5 | 3 | 14| 45| 7357|119
ZPMXSH  ZPMXSH
ZPXSL  ZPXYSL | 13 175 15 14 0 20 |196| 6 | 68 | 46 | 12| 6 | 3 | 17 | 53| 88| 6.7 [13.2
ZPXSH  ZPXYSH -0.018
ZSMXSL  ZSMXYSL 0
ZSMXSH ZSMXYSH | 16 2 15 L - 26 | 254 8 | 8 |565[ 16| 6 | 4 | 22| 57 [101] 7.4 |17.2
ZSPXSL  ZSPXYSL :
ZSPXSH  ZSPXYSH | 59 25 15 22 _8021 32312/ 10| 10| 70| 20| 10| 4 |27 |66|150]|80 |268




= FhEHEL R EE

m Indexing Plungers - Knobless
L=l B Type+M Part Number Type+M
Bign ZPXNK10 order ZPXNK10

TH LR ARIE

with lock nut

M2

Swy

L1
L3

S
z

#1EXIBRZE (Materials)

F{AMain Body $HPin g8EESpring SZiEMELock Nut
Bs
Type IR HERLE R 4 HERE R R HERE
Material Surface Treatment Material Hardness Surface Treatment Material Material Surface Treatment
kR KRR

ZPXNA SUM22L Black Oxide S45C 50~60HRC Black Oxide SWP-B / /
ZPXNK SUM22L Black Oxide S45C 50~60HRC Black Oxide SWP-B S45C Black Oxide
ZSXNA SUS303 / SUS303 / / SUS304 / /
ZSXNK SUS303 / SUS303 / / SUS304 SUS304 /

SHTEEE (Specifications)

Bzt Part Number 1R2EEPitch M2 fa#Load(N)
ik S T ZPXNA ZSXNA
Type M Fine b1 B min. L S L R Coarse SWIL|Sw2 ZPXNK ZSXNK
Thread Thread min. | max.| min. | max.
1
ZPXNA 0 1 138| 5 5 33 | 17 5 15 5 5 12 | 17 7 17 6 15
ZPXNK
12 1.5 16.2| 6 6 42 | 20 6 17 6 6 14 | 18 9 24 8 21
ZSXNA
ZSXNK




= FhEHEL R EE

= Indexing Plungers - Knobless

L=l B Type + M Part Number Type + M
BN ZPXNAN 10 order ZPXNAN 10

Swi r“

c_\ll 1 ] Swa
— BEREEN
| 1
1 ﬂ |

+0
0
)
|
oo
S
28

A ERIERZR (Materials)

F{KMain Body #4Pin 3EESpring PEIRIELock Nut
BSType |  ME& RE4LIE R R REALIE R R FEAE
Material Surface Treatment Material Hardness Surface Treatment Material Material Surface Treatment
kR kR

ZPXNAN | Sum22L Black Oxide S45C 50~60HRC Black Oxide SWP-B / /
ZPXNKN | SuM22L Black Oxide S45C 50~60HRC Black Oxide SWP-B SS400 Black Oxide
ZSXNAN SUS303 / SUS440C | 45HRC~ / SUS304 / /
ZSXNKN SUS303 / SUS440C | 45HRC~ / SUS304 SUS304 /

SEIE8E (Specifications)

Bzt Part Number 1REEPitch M2
S HF b (N)
HF DL | B . L|Lt|L2|L|Ls SW1|SwW2| R1 Load
Type M Fine min. Coarse

Thread Thread min. max.

8 1.0 115( 4 4 30|16 5 |14 ] 4 3 10 | 13 | 2 3 9

8L 1.0 115| 4 6 | 32| 16| 5 | 14| 4 3 10 | 13| 2 3 12
ZPXNAN 10 1.0 138| 5 5 |132|17| 5 | 15| 5 4 12 | 17 | 25 5 11.5

ZPXNKN 10L 1.0 138 5 8 | 35|17 5 |15] 5 4 12 | 17 | 25 5 16
ZSXNAN 12 15 162| 6 6 [39 (20| 6 | 17| 6 5 14 | 19 | 3 6.5 14.5

ZSXNKN

12L 15 162 6 | 10 | 44| 20| 6 [ 17| 6 5 14 | 19 | 3 6.5 20

16 15 219 8 7 49| 26| 8 | 23| 8 6 19 | 24 | 4 7.5 18

16L 15 219 8 |12 | 54| 26| 8 | 23| 8 6 19| 24| 4 7.5 25




w FIIRELESHAEEE
= Pull ring type knob plunger

L=l B Type + M Part Number Type + M
BN Z PBUL 10 order Z PBUL 10

|
|
N ) |
[ el
S | [—:—] Sw2
| i .
~ | -—:-, <t
— | 3 ___|____] 1
1 L -
» i [] M N

TR RIS

with lock nut

A ERTERZER (Materials)

F{&Main Body #4Pin 3EESpring PEIRIELock Nut
Bs
Type 154 RELLE 715 B 715 L7154 IR
Material Surface Treatment Material | Hardness | Material Material Surface Treatment
KR KR
ZPBUA S45C Black Oxide SUS303 / SUS303 S45C Black Oxide
B e
ZPBUL S45¢ Trivalent Chromate SUS303 / SUS303 S45¢ Trivalent Chromate
ZPBSS SUS303 / SUS303 / SUS304 SUS304 /

SEIEBFE (Specifications)
BIxtPart Number 128EPitch
- B
8T D| s | E || || L|sw|sw2| F |Load
Type M Coarse
Thread min. | max.
6 10 4 | 45| 12as|0]32] 6 [0]1a] 3|12
ZPUBA 8 1.25 s s [15{16]6 |14 4] 8]3]1w8] 5 ]2
ZPBUL
7PBSS 10 15 6 | 6 |15]20[75] 18] 5 [1w0|1w6]24] 5 |22
12 175 8 | 8 [15]24a] 922 6121830 6|22




» FhEtHEL RS EE

m Indexing Plungers - Knobless
s en B BT Type+ D -S

Z SXPP 10 -5

fign
d Z SXPP 10 -5 i
oraer N
B

1 _._1_ =

i
— | BRTE
Special Bushing
A EATERR (Materials) h ™
F{&Main Body #Pin SESpring | \ \
BS \ i
Type MR B MR B MR . [ A Insedion%ﬁi\ng—g.gé
Material | Hardness | Material | Hardness | Material C+> (= :
ZSXPP | SUS420 [45~50HRC| SUS420 |45~50HRC| SuS304 (Jp) B \C0.5
SHIIIRR (Specifications)
Bzt Part Number M
BT B (N)
s | b1 B L 1| L2 R | Load
Type Dmé6 X Coarse
min. Thread -
min. | max.
+0.015 | 4 -0.010 | 32 9
= +0.006 6 10 4 -0.022 34 2 4 = 2 2 12
+0.015 5 -0.010 | 34 115
10 +0.006 B 12 5 -0.022 3 20 4 5 2.5 5 16
Z5xep 6 42 14.5
+0.018 -0.010 -
12| o007 [0 | 6| ooz [2g] 2|5 6 3|65 —
+0.018 | 7 -0.010 | 52 18
15 +0.007 > 19 8 0025 = 32 5 8 4 7.5 >
u fiEEH
m Knob
pU=sdl ) #IZ( Type+M Part Number Type+M
flan ZNSXP 5 order ZNSXP 5
A EXIEBZE (Materials)
hEEHKnob
D BS
Type Mﬁ REE
Material Surface Treatment
A2017 Aluminum | EEERECLE
Akl Alloy Black Anodize
QJ |
<& . |D2 —
] SEFIEBE (Specifications)
: |
- —] H = EREE
| Part Number Applicable
\ e . L L1 t D D1 | D2 | D3 L
+ | Indexing
+ . | Type M | Plunger Plungers
| ]
D3 3 SXPP8 15 12 15| 15 | 9.8 9 6 5
P 5 SXPP10 18 14 | 15| 18 (118 11 8 8
D1 ZNSXP
6 SXPP12 225(175] 15| 21 |13.8| 13 9 9
8 SXPP15 27 21 | 15| 26 188 18 11 11




= [ESHIEEE M IRSUEFE

= Indexing Plungers - Coarse Thread, Lever

L= B Type+M Part Number Type+M
flan ZPMXRB10 order ZPMXRB10

D

D

*
A ERIERZR (Materials)

{EFRILever F{KkMain Body $Pin JEESpring SIS Lock Nut
BSType R KERE & FmgLIE i REALE & R FmgLIE
Material | Surface Treatment | Material | Surface Treatment | Material | Surface Treatment [ Material Material | Surface Treatment
ZPMXRB =S Black Oxide =S Black Oxide =S Black Oxide SR S Black Oxide
R i R
ZPMXRM S45¢ Nickel Plating S45¢ Nickel Plating S45¢ Nickel Plating SUS304 SUS304 /

SEIE8E (Specifications)

Bzt Part Number 128EPitch P N
Type M T B| S| L|fL|D|H|[L|SW|R Load
Coarse Thread min ax
ZPMXRB 10 15 5| 5 [3a]|2]|24| 8|6 [17]3 5 9.5
ZPMXRM | 12 175 6 | 6 392530 |11]7]|19]35 8 13




» A IRSUCF AR

m Indexing Plungers-Fine Thread, Lever Nuts

si=ed ] B, Type+M-B Part Number Type+M-B
BN ZPXVB 16 - 6 order ZPXVB 16 - 6

D
IlNE
Sw . -
S H:T fh#k/Load
M g)t| N 1]
“ I

+*

A ERIERZR (Materials)

jBFELever F{KAMain Body $HPin SEEESpring PIEBIELock Nut
ms
Type %153 %153 RELE IR HE REghE %153 %153 RELE
Material Material | Surface Treatment | Material Hardness | Surface Treatment | Material Material | Surface Treatment
ex6 KR KRR
ZPXVB Nylon 6 SUS22L Black Oxide S45C 50~60HRC Black Oxide SWP-B / /
fex6 RE RE RE
ZPXVBK Nylon 6 sus22L Black Oxide S45¢ >0~60HRC Black Oxide SWP-8 55400 Black Oxide
ZSPXVB 16 SUS303 / SUS303 / / SUS304 / /
Nylon 6
ZSPXVBK Nﬁﬁ% SUS303 / SUS303 / / SUS304 SUS304 /

SEIEBE (Specifications)

BstPart Number 1REEPitch
k=4 N)
-0.04 g7 s|L|lu|o|H]|Lw|sw Load
Type M B ~ Fine
-0.02 Thread min max
ZPXVB (16| 6 8 10 1.5 10 | 47 | 30 | 42 |155| 8 | 24 12 32
ZPXVBK
ZSPXVB
zspxvek | 20 | 8 10 12 15 12|59 |36 |52]19]10] 30 21 58




» LAUREHESE

m L Indexing Plungers

LS ed] ] B, Type + M Part Number Type + M
BN ZPLCAN 10 order Z PLCAN 10

SW2

L2
Y
\{

wn \
:ﬁ;‘ M :
—
+0.01
d -0.03

2 ExIEEZR (Materials)

F{&Main Body $HPin | 38ESpring PHERIELock Nut
Bs
Type [%15d REALE %154 [%15d %154 RELLE
Material Surface Treatment Material Material Material Surface Treatment
i
ZPLCAN SUM22L . SUS303 SWP-B / /
Trivalent Chromate
i i
ZPLCKN sum22L Trivalent Chromate SUS303 SWP-B 55400 Trivalent Chromate
ZPLCAS SUS303 / SUS303 SUS304 / /
ZPLCKS SUS303 / SUS303 SUS304 SUS304 /
SE$E8%E (Specifications)
Bz{Part Number sk
HF L3 d (N)
d dl L1 S L2 K SW1|SW2 Loa
Type M Coarse Thread (min.)
min max
6 1 4 | 23] 32|95( 20 15.5 6 10 3 10
ZPLCAN 8 1.25 5| 3| 42|12 27 19.2 8 | 13 35 135
ZPLCKN
ZPLCAS 10 1.5 6 35| 51 14 | 335 22.9 10 17 4 16
ZPLCKS 12 175 8 | 47| 54| 19 [318| 312 12 | 19 4 22
16 2 10 | 47 |775| 25 | 50.5 32.7 16 24 4 23




» B EUEHIEE
= American made simple knob plunger

L= B Type+M Part Number Type+M
fian ZLFM 10 order ZLFM 10

S{uB4/Return type B$ii#Y/Rest position

—— e

sletee wiatets!
IO

E
<
E
<

W W
‘*ﬁ |B-0.02 ‘j— | B -0.02
. 'Boow . B-oo4
A ERTERER (Materials)
BISType F{KkMain Body $#HPin | 3#EESpring
b=l 1va: ] BHE MR REAE MR MR
Return Type Rest position Material Surface Treatment Material Material
e
ZLFM ZLYFM S45C . SUS303 SUS304
Trivalent Chromate
ZSLFM ZSLYFM SUS303 / SUS303 SUS304
SEIEBE (Specifications)
Bst 12EEPitch
Part Number w T (N)
e Bl sl clol E F | Load
T Y Coarse
e
yp Thread min. | max
ZLEM 0.8 25| 25| 10 5 19 | 95 22 | 135
ZSLFM 6 10 3 |32|127| 5 [241|127| 45 [17.8
8 1.25 4 48 | 19 | 6.4 | 335 16 | 45 | 26.7
ZLYFM 10 15 5 | 55| 19| 79|37.2| 19 | 45 | 356
ZSLYEM 12 1.75 6.3 [6.35]|22.2| 9.7 | 445254 | 4.5 | 445




-

S{UE/Return type

FPXA

» HE=RUEHEEE

= Flanged Indexing Plungers

GO B Type+M

fian ZFPXA 10

IR
with lock nut
FPXK

Part Number
order

Type+M

ZFPXA 10

B#iEY/Rest position

FPXY

IR
with lock nut

FPXR

N
- N
1 -
5 i ‘
= S o
K% g !
wn
<
<
2 ExIEEZR (Materials)
BSType KEsAKnob F{AMain Body #4Pin EESPring j&=Flange PEEIRMELock Nut
S BHiE b b b b
I pE | TR g e Bl Y pE | IR | g | FELE
Return Rest . . Surface . Surface . . Surface . Surface
. Material Material Material | Hardness Material Material Material
Type Position Treatment Treatment Treatment Treatment
ZFPXA ZFPXY A2017 s / /
(FBEERE RE RE .
{8 Black SUM22L Black Oxide S45C 50~60HRC Black Oxide SWP-B SS400 Trivalent -
ZFPXK ZFPXR Anodize) Chromate SS400 =
Black Oxide
SHTEEE (Specifications)
BIztPart Number 12ER L k=4 N)
() s , Load
Pitch | D | b1 | s | B | EfE BOE | 3| 2| 3] w4 |[swi|sw2|sR| A|w]| P ]| d
Type M (Fine Return Rest .
Thread) type position min. | max.
8 1 15 | 115 4 4 40 46 16 5 14 4 10 13 2 20 | 46 34 6 3 9
8L 1 15 | 115| 6 4 42 48 16 5 14 4 10 13 2 20 | 46 34 6 3 12
ZEPXA 10 1 18 [13.8| 5 5 45 50 17 5 15 5 12 | 17 [ 25| 20 | 48 | 36 6 5 | 115
ZFPXK | 10L 1 18 |138| 8 | 5 48 53 17| 5 | 15| 5 | 12| 17|25| 20| 48|36 | 6 | 5| 16
ZFPXY | 12 15 21 |162]| 6 6 54.5 60.5 20| 6 | 17| 6 | 14| 19| 3 | 22| 55| 40| 8 | 65]|145
ZFPXR - yot | 15 21 [162| 10| 6 58.5 645 | 20| 6 |17 6 | 14|19 3 [22]55] 40| 8 [65] 20
16 15 26 (219 7 8 68 75.5 26 8 23 8 19| 24| 4 25 | 60 | 45 8 |715| 18
16L 1.5 26 | 219 12 8 73 80.5 26 8 23 8 19 24 4 25 60 45 8 |715] 25




w ESHIEEE

BISIfl

fugn

= Indexing plungers

Bz, Type+NO.

ZNDXN12W-SUS

Part Number
order

Type+NO.

ZNDXN12W-SUS

—— -~ — r——
N ™
< s - Ol - -
H' L J 1 )
—— —— -
\, \
B X4iz1(Hexagonal XJiZ3(Hexagonal
opposite side) J opposite side) K
A EXTERE (Materials)
BEType F{AMain Body iesEKnob £4Pin 3EESpring PERIELock Nut
b=11v2: 3] %153 RELER MR MR BE RELEE %153 %153 RELLE
Return Type Material | Surface Treatment| Material Material | Hardness | Surface Treatment [ Material Material | Surface Treatment
KRB =943 RE
ZNDXN SUM22L Black Oxide Nylon 6 S45C 50~60HRC Black Oxide SWP-B / /
RE fex6 RE RE
ZNDXN-W SUM22L Black Oxide Nylon 6 S45¢ >0~60HRC Black Oxide SWP-8 55400 Black Oxide

ZNDXN-SUS SUS303 / Bie6 SUS420 45~HRC / SuUS304 / /

ZNDXN-W-SUS SUS303 / Nylon6 | sus420 | 45~HRC / SUS304 | SUS304 /

ZNDXN-A-SUS SUS303 / Bie6 SUS303 / / SuUS304 / /

ZNDXN-AW-SUS SUS303 / Nylon 6 SUS303 / / SUS304 SUS304 /

SEIIEBE (Specifications)

Bz A g N)
Part Number -0.02 C D E F G H J K L M | Load

BISType NO. -0.04 min. | max.

6 3 M6x0.75 | 14 [315| 12 | 5 [ 35|08 8 | 10 | 2 3 | 45| 10

ZNDXN 1 1 1 1|1 1 2 4 6 | 12

ZNDXN-W 8 4 M8x 8 |385| 15| 6 4 0 3

ZNDXN-SUS 10 5 M10x1 | 21 |435( 17 | 7 5 (13 13|17 | 2 5 12

ZNDXN-W-SUs 12 6 M12x1.5 | 25 |51.7| 20 | 8 6 | 18| 14| 19| 3 6 6 | 14

ZNDXN-A-SUS 16 8 M16x15 | 33 | 68 | 26 | 10 | 8 | 23| 19| 24| 3 | 8 | 15| 35

ZNDXN-AW-SUS
20 10 M20x15 | 33 | 74 | 28 | 12| 10 | 28 [ 22 | 30 | 3 | 10 | 15 | 40




w ESHIEEE

BISIfl

fugn

L

= Indexing plungers

Bz, Type+NO.

ZNDXN12W-ASUS

Type+NO.

Part Number
order

ZNDXN12W-ASUS

— — - r—— - o
oA S
AN AY
M XJi5(Hexagonal X4i83(Hexagonal
opposite side) J opposite side) K
2 ExIEEZR (Materials)
BSType ZE{KMain Body hiesHKnob $Pin F#EESpring SiEBIELock Nut
=102} 154 %154 %154 TR [%15d L7154
Return Type Material Material Material | Hardness | Material Material
ZNDXN-ASUS SUS303 SUS303 SUS420 | 45~HRC | SUS304 /
ZNDXN-W-ASUS SUS303 SUS303 SUS420 | 45~HRC | SUS304 SUS304
ZNDXN-A-ASUS SUS303 SUS303 SUS303 / SUS304 /
ZNDXN-AW-ASUS SUS303 SUS303 SUS303 / SUS304 SUS304
SEFEBE (Specifications)
Bz d R N)
Part Number M -0.02 L | s A D L|wi|T1|w|T B Load
BISType NO. -0.04 min max.
6 | M6x0.75 3 12 | 35| 08| 14 |345( 8 | 5 | 10| 3 | 2 45 9
ZNDXN-ASUS 8 M8x1 4 15| 4| 1184310 6 | 13| 4] 2 6 12
ZNDXN-W-ASUS 10 | M10x1 5 17| 5 | 13| 21|50 |13 | 7 |17]| 5| 2 12
ZNDXN-A-ASUS 12 | M12x1.5 6 20| 6 |18 25|59 |14 8| 19| 6 3 6 14
ZNDXN-AW-ASUS 7 &1\ 11641 5 8 26| 8 |23[33|77[19]10]24] 8] 3 15 35
20 | M20x1.5 10 28| 10| 261|338 | 22123 ]|10]f 3 15 34




w ESHIEEE

= Indexing plungers

pi=ed] B BZ Type+NO. Part Number Type+NO.
BN ZSDXN12W-SUS order ZNDXN12W-ASUS

3418 (Hexagonal
opposite side) H

A EXTERE (Materials)

BEType F{AMain Body iesEKnob £4Pin #EESpring PERIELock Nut
b=11v2: 3] %153 RELE IR IR HE REghE %153 %153 RELE
Return Type Material | Surface Treatment| Material Material | Hardness | Surface Treatment [ Material Material | Surface Treatment
KRB =943 RE
ZSDXN SUM22L Black Oxide Nylon 6 S45C 50~60HRC Black Oxide SWP-B / /
RE fex6 RE RE
ZSDXN-W SUM22L Black Oxide Nylon 6 S45¢ >0~60HRC Black Oxide SWP-8 55400 Black Oxide
ZSDXN-SUS SUS303 / Bi6 SUS420 45~HRC / SUS304 / /
ZSDXN-W-SUS SUS303 / Nylon 6 [ sSus420 | 45~HRC / SUS304 | SUS304 /
ZSDXN-A-SUS SUS303 / Bi6 SUS303 / / SUS304 / /
ZSDXN-AW-SUS SUS303 / Nylon 6 SUS303 / / SUS304 SUS304 /

SEIEBE (Specifications)

BIsg A R )
Part Number -0.02 B C D E F G H J | Load
BISType NO. -0.04 min. [ max.
10 5 M10x1 21 | 435 24 5 13| 17 5 5 12
ZSDXN
ZSDXN-W 12 6 M12x15 | 25 |51.7| 28 | 6 [ 18| 19| 6 | 6 | 14
ZSDXN-SUS
ZSDXN-W-SUS
ZSDXN-A-SUS 16 8 M16x1.5 33 68 36 8 23 | 24 8 15 35
ZSDXN-AW-SUS
20 10 M20x1.5 33 74 | 40 10 | 28 | 30 10 15 40




w ESHIEEE

= Indexing plungers

s= B AU Type+NO. Part Number Type+NO.
fusn ZNDXNS12A-SUS order ZNDXNS12A-SUS

1T O

*30"5 _ - |

JH \B “ -
X$1(Hexagonal X$1(Hexagonal
opposite side) J opposite side) K

A EXTERE (Materials)

BEType F{AMain Body BiEgHKnob #4Pin #EESpring PHZIRMELock Nut
S %154 REALE 151 154 B RELLE %154 %154 RELLE
Return Type Material | Surface Treatment| Material Material | Hardness | Surface Treatment [ Material Material | Surface Treatment
KR fex6 KRR
ZNDXNS SUM22L Black Oxide Nylon 6 S45C 50~60HRC Black Oxide SWP-B / /
RE few6 RE RrE
ZNDXNS-W SuM22L Black Oxide Nylon 6 S45¢ >0~60HRC Black Oxide SWP-B 55400 Black Oxide
ZNDXNS-A-SUS SUS303 / Bie6 SUS303 / / SUS304 / /
ZNDXNS-AW-SUS SUS303 / Nylon6 [ sus303 / / SUS304 | SUS304 /
SEIIARE (Specifications)
E0E A 2
Part Number -0.02 M C D E F G H J K L Load
BISType NO. -0.04 min. max.
8 4 M8x1 18 | 295 6 6 4 1 10 13 4 6 12
ZNDXNS 10 5 M10x1 | 21 |345| 8 | 7 | 5 | 13| 13| 17| 5 12
ZNDXNS-W
ZNDXNS-A-SUS 12 6 M12x1.5 25 (417 10 8 6 18 | 14 19 6 6 14
ZNDXNS-AW-SUS 16 8 M16x1.5 33 54 12 10 8 2.3 19 24 8 14 28
20 10 M20x1.5 33 61 15 12 10 | 28 | 22 30 10 15 32




w ESHIEEE

= Indexing plungers

s= B AU Type+NO. Part Number Type+NO.
fusn ZNDXNE12A-SUS order ZNDXNE12A-SUS

)

B 34i21(Hexagonal XFi(Hexagonal
opposite side) J opposite side) K

A EXTERE (Materials)

BEType F{AMain Body BiEgHKnob #4Pin #EESpring PHZIRMELock Nut
S(uB %154 RELER 151 154 B RERE %154 %154 RERE
Return Type Material | Surface Treatment| Material Material | Hardness | Surface Treatment [ Material Material | Surface Treatment
b2l em6 o)
ZNDXNE Sum22L B Nylon 6 S45C | S0~60HRC| o AF e SWP-B / /
RE e6 RE RrE
ZNDXNE-W sumzzL Black Oxide Nylon 6 S45C >0~60HRC Black Oxide SWP-B 55400 Black Oxide
ZNDXNE-A-SUS SUS303 / B16 SUS303 / / SUS304 / /
ZNDXNE-AW-SUS SUS303 / Nylon6 | sus303 / / SUS304 | Sus304 /
SEFEBE (Specifications)
Bt A T N)
Part Number -0.02 B c| D E F| G| H J K L | ™M Load
BSType NO. -0.04 min. max.
6 3 M6*0.75 | 14 [ 33 | 12 | 5 5 o8| 8 | 10| 2 3 45 12
ZNDXNE 8 4 M8*1 18 |405| 15| 6 | 6 1 (10|13 2] 4 6 15
ZNDXNE-W 10 5 M10*1 | 21 |465| 17 | 7 | 8 | 13| 13| 17 | 2 5 16
ZNDXNE-A-SUS 12 6 M12*15 | 25 |547] 20 | 8 9 (18| 14| 19| 3 6 6 18
ZNDXNE-AW-SUS  IER 8 M16°15 | 33 | 72 | 26 | 10 | 12 | 23| 19 [ 24 | 3 | 8 15 45
20 10 M20%15 | 33| 79 | 28 | 12 | 15 | 28| 22| 30| 3 | 10 15 43




w ESHIEEE

= Indexing plungers

s= B AU Type+NO. Part Number Type+NO.
fusn ZNDXN12AL-SUS order ZNDXN12AL-SUS

30°

X$i3(Hexagonal X$i21(Hexagonal
B 9
opposite side) J opposite side) K

A EXTERE (Materials)

BEType F{AMain Body iesEKnob £4Pin #EESpring PERIELock Nut
b=11v2: 3] %153 RELE IR IR HE REghE %153 %153 RELE
Return Type Material | Surface Treatment| Material Material | Hardness | Surface Treatment [ Material Material | Surface Treatment
KRB =943 RE
ZNDXN-L SUM22L Black Oxide Nylon 6 S45C 50~60HRC Black Oxide SWP-B / /
RE fex6 RE RE
ZNDXN-LW SUM22L Black Oxide Nylon 6 S45¢ >0~60HRC Black Oxide SWP-8 55400 Black Oxide
ZNDXN-L-SUS SUS303 / Bi6 SUS420 45~HRC / SUS304 / /
ZNDXN-LW-SUS SUS303 / Nylon 6 [ sSus420 | 45~HRC / SUS304 | SUS304 /
ZNDXN-AL-SUS SUS303 / Bi6 SUS303 / / SUS304 / /
ZNDXN-ALW-SUS SUS303 / Nylon 6 SUS303 / / SUS304 SUS304 /

SEIE8E (Specifications)

Bzt A T
Part Number -0.02 B c| D E F G| H J K L | M |Load

BSType NO. -0.04 min. | max.

6 3 M6x0.75 | 14 [315| 12 | 5 | 35| 08| 8 [ 10 | 2 3 45| 10

ZNDXN-L 1 |1 1 1|03 2]4]56]12

ZNDXN-LW 8 4 M8x 8 1385 15| 6 | 4 0] 13
ZNDXN-L-SUS 10 5 M10xl | 21 [435| 17 | 7 | 5 | 13| 13| 17| 2 5 5 | 12
ZNDXN-LW-SUS 12 6 M12x1.5 | 25 |51.7| 20 | 8 6 | 18| 14| 19| 3 6 6 | 14
ZNDXN-AL-SUS |7y ¢ 8 Mi6x15 | 33 | 68 | 26 | 10 | 8 |23 | 19| 24| 3 | 8 [ 15| 35
ZNDXN-ALW-SUS

20 10 M20x1.5 | 33| 74 | 28 | 12| 10 | 28| 22 | 30| 3 | 10 | 15 | 40




w ESHIEEE

= Indexing plungers

s= B AU Type+NO. Part Number Type+NO.
fusn ZNDXN12AL-ASUS order ZNDXN12AL-ASUS

307K

B ~ | 3h#(Hexagonal X$38(Hexagonal
opposite side) J opposite side) K

2 ExIEEZR (Materials)

BEType F{KMain Body BiggHKnob #4Pin HESpring | BiEI2MELock Nut
=102} 154 %154 %154 TR %153 R
Return Type Material Material Material | Hardness | Material Material
ZNDXN-L-ASUS SUS303 SUS303 SUS420 | 45~HRC | SUS304 /
ZNDXN-LW-ASUS SUS303 SUS303 SUS420 | 45~HRC | SUS304 SUS304
ZNDXN-AL-ASUS SUS303 SUS303 SUS303 / SUS304 /
ZNDXN-ALW-ASUS SUS303 SUS303 SUS303 / SUS304 SUS304
B A i N)
Part Number -0.02 B c| D|E F| G| H]| J K L[ ™ Load
BISType NO. -0.04 min. max.
6 3 Mé6x0.75 | 14 (315 12| 5 | 35| 08| 8 [ 10| 2 | 3 45 10
ZNDXN-L-ASUS 8 4 M8x1 18385/ 15| 6 [ 4 | 1 |10 13| 2| 4 6 12
ZNDXN-LW-ASUS | 10 5 Mioxl | 21 (435 17| 7 | 5 | 13| 13|17 | 2 | 5 12
ZNDXN-AL-ASUS 12 6 M12x1.5 | 25 [51.7] 20 | 8 6 (18| 14| 19| 3 6 6 14
ZNDXN-ALW-ASUS 76 8 MI6x15 | 33 | 68 | 26 | 10 | 8 |23 |19 [ 24| 3 | 8 15 35
20 10 M20x15 | 33 | 74 | 28 | 12| 10 | 28| 22| 30| 3 | 10 15 34




fugn

BISIfl

w ESHIEEE

= Indexing plungers

Bz, Type+NO.

ZNDXNS12AW-ASUS

30

T

Part Number
order

Type+NO.
ZNDXNS12AW-ASUS

\ \ \
b \,
H B | XiZi(Hexagonal 3$i3(Hexagonal
— - . .
opposite side) J opposite side) K
A EXTERE (Materials)
BEType F{AMain Body BiEgHKnob #4Pin #EESpring PHZIRMELock Nut
b=11v2: 3] %153 RELER IR IR HE RELLE %153 %153 RELER
Return Type Material | Surface Treatment | Material Material | Hardness | Surface Treatment | Material Material | Surface Treatment
ZNDXNS SUM22L Blacffxide NE?;E:() S45C 50~60HRC Blacffxide SWP-B / /
ZNDXNs-W SUM22L BIacf’g%xide Nﬁ?n% S45¢ >0~60HRC Blacffxide SWP-8 55400 Blacf(%xide
ZNDXNS-A-SUS SUS303 / Bie6 SUS303 / / SUS304 / /
ZNDXNS-AW-SUS SUS303 / Nylon6 | suUs303 / / SUS304 | SUS304 /
SEIIARE (Specifications)
Bzt A = N)
Part Number -0.02 M C D E F G H J K L Load
BISType NO. -0.04 min max.
8 4 M8x1 18 | 295| 6 6 4 1 10 13 4 6 12
ZNDXNS 10 5 MI10x1 | 21 [345 7|5 |13|13]|17] 5 12
Zl\lzl;l)(Dl\)l(S'\isQ-‘;VUS 12 6 M12x1.5 25 | 417| 10 8 6 18 | 14 19 6 6 14
ZNDXNS-AW-Sus | 16 8 Mi16x15 | 33 [ 54 [ 12 | 10| 8 | 23| 19| 24| 8 14 28
20 10 M20x1.5 33 61 15 12 10 | 28 | 22 30 10 15 32




w ESHIEEE

= Indexing plungers

s= B AU Type+NO. Part Number Type+NO.
fusn ZNDX12W-SUS order ZNDX12W-SUS

dE e d __

H B | | ¥i#(Hexagonal 34151 (Hexagonal
™ —1 = | opposite side) J opposite side) K

A EXTERE (Materials)

BEType F{AMain Body iesEKnob £4Pin #EESpring PERIELock Nut
b=11v2: 3] %153 RELE IR IR HE REghE %153 %153 RELE
Return Type Material | Surface Treatment| Material Material | Hardness | Surface Treatment [ Material Material | Surface Treatment
KRB =943 RE
ZNDX Sl Black Oxide Nylon 6 =S SUCHS Black Oxide Sl / /
RE fex6 RE RE
ZNDX-W SUM22L Black Oxide Nylon 6 S45¢ >0~60HRC Black Oxide SWP-8 55400 Black Oxide
ZNDX-SUS SUS303 / Bi6 SUS420 45~HRC / SUS304 / /
ZNDX-W-SUS SUS303 / Nylon6 | sus420 | 45~HRC / SUS304 | SUS304 /

SEXJERZ (Specifications)

£t g B (N)
Part Number -0.02 B C| D | E F| G| H J K L | M |Load
BSType NO. -0.04 min. [ max.

T 10 5 MIOxI | 21|47 |17 | 7 | 5 | 13| 13| 17| 2
ZNDX-W 12 6 MI2x15 [ 25 [ 56 [ 20| 8 | 6 | 18| 14| 19| 3 | 6 | 6 | 14
3
3

ZNDX-SUS 16 8 M16x15 | 33 | 74 | 26 | 10 | 8 | 23| 19 | 24
ZNDX-W-SUS

20 10 M20x1.5 | 33 | 80 [ 28 | 12 ( 10 | 28 | 22 | 30




w ESHIEEE

= Indexing plungers

s= B AU Type+NO. Part Number Type+NO.
fusn ZSDX12W-SUS order ZSDX12W-SUS

[
< A = ) ) D =
G B _ X4i1(Hexagonal
= opposite side) H

A EXTERE (Materials)

BEType F{AMain Body BiEgHKnob #4Pin #EESpring PHZIRMELock Nut
S %154 REALE 151 154 B RELLE %154 %154 RELLE
Return Type Material | Surface Treatment| Material Material | Hardness | Surface Treatment [ Material Material | Surface Treatment
KR fex6 KRR
ZSbX Sl Black Oxide Nylon 6 =S SUCHS Black Oxide Sl / /
RE few6 RE RE
ZSDX-W SuM22L Black Oxide Nylon 6 S45¢ >0~60HRC Black Oxide SWP-B 55400 Black Oxide
ZSDX-SUS SUS303 / Bie6 SUS420 45~HRC / SUS304 / /
ZSDX-W-SUS SUS303 / Nylon 6 [ sSus420 | 45~HRC / SUS304 | SUS304 /
SEIEBE (Specifications)
Bzt A =4 N)
Part Number -0.02 B C D E F G H J Load
BISType NO. -0.04 min. | max.
ZSDX 10 5 M10x1 21 | 47 24 5 13 | 17 5 5 12
ZSDX-W 12 6 Mi12x15 | 25 | 56 | 28 | 6 | 18| 19| 6 | 6 | 14
ZSDX-sUs 16 8 M16x15 | 33 | 74 | 36 | 8 [ 23| 24| 8 | 15| 35
Zo R U 20 10 M20x15 | 33 | 80 | 40 | 10 | 28 | 30 | 10 | 15 | 40




w ESHIEEE

= Indexing plungers

s= B AU Type+NO. Part Number Type+NO.
fusn ZNDX12LW-SUS order ZNDX12LW-SUS

< A .{ ;U S — %_

e L—

H B L Si3(Hexagonal S$i3(Hexagonal
- = = | opposite side) J opposite side) K

A EXTERE (Materials)

BEType F{AMain Body BiEgHKnob #4Pin #EESpring PHZIRMELock Nut
S(uB %154 RELER 151 154 B RERE %154 %154 RELER
Return Type Material | Surface Treatment| Material Material | Hardness | Surface Treatment [ Material Material | Surface Treatment
b2l em6 o)
ZNDX-L SUM22L Black Oxide Nylon 6 S45C | 50~60HRC| o " ide SWP-B / /
RE few6 RE RrE
ZNDX-LW sumzzL Black Oxide Nylon 6 S45C >0~60HRC Black Oxide SWP-B 55400 Black Oxide
ZNDX--L-SUS SUS303 / B16 SUS420 | 45~HRC / SUS304 / /
ZNDX-LW-SUS SUS303 / Nylon6 | sus420 | 45~HRC / SUS304 | SUS304 /
SHIARZE (Specifications)
B A T N)
Part Number -0.02 B C| D ]| E F| G| H J K L | M |Load
BISType NO. -0.04 min. | max.
ZNDX-L 10 5 M10xl | 21 | 47 | 17 | 7 5 (13|13 17| 2 6 | 12
ZNDX-LW 12 6 M12x15 | 25 | 56 | 20 | 8 6 | 18| 14| 19| 3 6 | 6 | 14
ZNDX-L-SUS 16 8 M16x15 | 33 | 74 | 26 | 10 | 8 | 23| 19 | 24 | 3 8 | 15 | 35
AR 20 10 M20x15 | 33 [ 80 | 28 | 12| 10282230 3 [ 10 15[ 40




Clamping Screws

EAER sy

w

ZHENGCHEN HARDWARE



= EFTEIBIRIRY,
m Clamping Set Screws - Ball Point / Clamping Set Screws - Swivel Tip
EO=n Tl BT Type+M-L Part Number Type+M-L
fBugn ZRSM5-8.6 order ZRSM5-8.6
£ | |
pkkAY A
Ball type Angle type

A9

Maximum slope9°

. D (tﬁm
4 e

N

A EYIERZE ( Materials )

» BRLE / Ball Type

SHFIERE (Specifications)

BEType F{KAMain Body BkLBall
BRLEY FREERY &R -5 RELME R 1954
Ball Type |Angle Type| Material | Hardness SurFace Treatment Material | Hardness
ZRSM ZFSM SCM435 | 38~43HRC ke . SuJ2 55~60HRC
Black Oxide
ZRSU ZFsU SUS304 / / SUS440C | 55HRC~

> fEER! / Angle Type

SHIIERE (Specifications)

[ '] tdimension for * marked L dimension is in ().

B Part Number B Part Number
di| B £ S d2 | B t | s1
Type M L Type M L
3 |52 102 15| 15| 12| 05 4 | 6 10 16 2 2 | 2|03
4 |65 105 16.5 25| 2 2 | o8 5 (8 12 20 251 25| 2 | 04
5 | 86 12.6 20.6 3 [25] 2 1 6 [ 10 16 20 25 32| 3 | 35|06
6 |10.8 16.8 20.8 25.8 4 | 335|113 5
ZFSM 8 [*10 12 20 25 30| 45| 4 25) 0.8
8 |[*11.2 13.2 21.2 26.2 31.2|( 56 | 4 g 1.8 ZFsU
ZRSM @2.5)
10 [*12 16 20 25 35| 6 5 |6(3.5)| 0.8
ZRSU 6
10 |*13.7 17.7 217 26.7 36.7| 71| 5 (3.5) 2.3
: 12 | *16 20 30 40 72| 6 (g) 1
12 | *18 22 32 42 87| 6 (i) 2.8
ZFSM 16 | *20 25 35 50 107 8 (13(; 1.3
16 [*23.3 38.3 53.3 19| 8 | 243 — -
3) [!] #FELRIMLE () ABRY.




n RSLERR BIGR R
= Clamping Bolts - Ball Point / Clamping Bolts - Swivel Tip
EO=n Tl BT Type+M-L Part Number Type+M-L
fBugn ZHRSM5-12.6 order ZHRSM5-12.6

AR

Angle type

mAMHR9°

Maximum sloped°

B o
P

S S St

HRYIERRR (Materials )
AEType ZF{kMain Body BksLBall
BRLEY FRRERY MR REE )54 T
Ball Type [Angle Type| Material SurFace Treatment Material | Hardness
ZHRSM ZHFSM SCM435 . SuJ2 55~60HRC
Black Oxide
ZHRSU ZHFSU SUS304 / SUS440C | 55HRC~

» BRSLE! / Ball Type

SEXIERFE (Specifications)

B Part Number TE1
T - ulale|s| cla|dals Lﬁgi)ﬁ)
4 10.5 12.5 16.5 20.5 25.5 20| 7| 4| 3| 2]25| 2 |os 13
5 12.6 16.6 20.6 25.6 30.6 24|85| 5 | a4 |25 3 [25] 1 14
6 16.8 20.8 25.8 30.8 40.8 3 10 6 5 3 4 32| 13 33
Zz:issllvjl 8 21.2 31.2 36.2 41.2 51.2 35113 8| 6| 4 |55|45]18 3.9
10 26.7 31.7 417 51.7 617 a5 16|10 8| 5| 7] 6 |23 34
12 32 52 82 5 | 181210 6 |85[72] 28 48
16 433 63.3 83.3 6 |24 16| 14| 8 | 12 [107] 43 96

» faEER!/Angle Type
SHFJEBZE (Specifications)

Biz{Part Number I
= | al e8| cla|d]|s | ®WRE
Type M L Load(N)
4 10 12 16 20 25 21 7 a3 225203 13
5 12 16 20 25 30 24| 85| 5| 4 |25] 3 | 25] 04 14
6 16 20 25 30 40 3 (10|65 | 3] 4][32]06 33
ZHFSM g 20 30 35 40 50 35| 13| 8 | 6 | 4 | 55| 45] 08 39
ZHFSU : il Ml :
10 25 30 40 50 60 45| 16| 10| 8| 5| 7] 6 |08 34
12 30 50 80 18] 12[10] 6 |85]72] 1 48
16 40 60 80 6 | 24| 16| 14| 8 [ 12]107] 13 96




n AL BRI LRI R BRI
m Clamping Hex Bolts - Ball Point on Hex

EO=n Tl BT Type+M-L Part Number Type+M-L
fBugn ZBRSM6-30 order ZBRSM6-30

ks fo
Ball type Angle type
SAMRNS

Maximum slope 13°

f \ /< B oNf
U/ °
\ / ;
L1
B S) | E L (S E L
2R IEBE ( Materials )
BEType ZF{kMain Body Bk3LBall
BRLEY FRERY [15d EE RELE %154 EE
Ball Type Angle Type Material | Hardness SurFace Treatment Material | Hardness
ZBRSM ZBFSM SCM435 | 32~40HRC % . SuJ2 62HRC~
Black Oxide

ZBRSMS / SUS304 / / SUS440C | 55HRC~

Bzt Part Number
Type M L
6 30 40 2 10 6 [56( 2 | 45| 08

ZBRSM 8 30 40| 25| 13 8 8 [28]|67| 1
ZBRSMS | 10 [ 40 50 3 17 | 10 [ 95 32| 79| 1.2

L1 B E dl [ (S)| d2 | (S1)

ZBFSM | 12 [ 50 60 | 35| 19 | 12 [127] 47 | 108 18
16 | 50 60 | 4 | 24 | 16 | 159 57 [133] 21




» SN RARTIRER LB R IR
= Clamping Hex Bolts - Ball Point

EO=n Tl BT Type+M-L Part Number Type+M-L
fBugn ZBRASM6-20 order ZBRASM®6-20

BkSLHY AEER
Bal |l type Angle type

mAERY

Maximum slope9°

"5§b C==??fv<r

— L1 S (52) (s3)

- ]

3

2R IEBE ( Materials )
BEType ZF{kMain Body BksLBall
BRLEY FREERY 7154 EE RELE %154 EE
Ball Type Angle Type Material | Hardness SurFace Treatment Material | Hardness
ZBRASM ZBFASM SCM435 | 32~40HRC % . SuJ2 62HRC~
Black Oxide
ZBRASS ZBFASS SUS304 / / SUS440C | 55HRC~

S#VJERZE (Specifications)

Biz{Part Number
Type M L
6 |20 30 40| 2 115/ 10| 4| 4 |13]|32] 06
ZBRASM | g [ 20 30 40 | 25| 15| 13 | 55| 55| 1.8 | 45| 0.8

L1 A B El | d3 [ (S2)| d4 | (S3)

ZBFASM
7BRASS | 10 | 40 50 3 |196| 17 ( 7 | 71| 23| 6 | 09
ZBFAss | 12 | 50 60 35(219| 19| 8 [87 |28 72| 1

16 | 50 60 4 |27.7| 24 | 10 [119( 43 [10.7]| 1.3




» [IREEEIGIR IR

= Clamping Set Screws - Swivel Tip, Non-Reversible

EO=n Tl BT Type+M-L Part Number Type+M-L
fBugn ZFSMB6-10 order ZFSMB6-10

ek wmiaE
Non—Reversable Serrated Clamping

FSMB/FSUB FSMG/FSUG

A EYTERE ( Materials )

BEType ZF{kMain Body BksLBall
1R YEINEY IR REAE R TEE
Non-Reversable Serrated Clamping Material SurFace Treatment Material | Hardness
R
ZFSMB ZFSMG SCM435 . SuJ2 55~60HRC
Black Oxide
ZFSUB ZFSUG SUS304 / SUS440C | 55~60HRC
SHFJERZE (Specifications)
Bzt Part Number e
- d2 | B t sp | I (KN)
Type M L Withstand Load
6 10 16 20 25 32| 3 35 0.45 33
ZFSMB | g |+10 12 20 25 30 |45| 4 | 5(25) | 05 3.9
ZFSUB :
ZESMG 10 | *12 16 20 25 35 6 5 6(35) 0.6 34
ZFSUG 12 | *16 20 30 40 72| 6 8(3) 0.75 4.8
16 | *20 25 35 50 10.7| 8 10(3) 1 8.9

[!] FFELRINCA () AR, [ '] £ dimension for * marked L dimension is in ()



n SN RRELENENEAT
m Smooth ball End bolt / Serrated ball End

= AU NO. Part Number NO.
fusn ZPT01-0610 order ZPT01-0610

kKRS WEkSKIZ
Smooth ball end bolt Serrated ball end bolt
ZPT01 ZPT02

Y

#2EIEBZE ( Materials )

AEType ZF{KMain Body kL Ball
SRR ST L7154 W RELE L7154 WE
Flat End Serrated End Material | Hardness SurFace Treatment Material | Hardness
ZPTO1 ZPT02 S45C 28~32HRC R® . SuUJ2 62HRC~
Black Oxide
BIztPart Number Bzt Part Number
SEmEEFlat End A B @ D E S Serrated End A B @ D E
NO. NO.
ZPT01-0610 21 | 10 M6*1.0 6 10 ZPT02-0610 21 | 10 M6+%1.0 6 10
ZPT01-0814 25 | 12 | M8*1.25 8 14 ZPT02-0814 25 | 12 | M8*1.25 8 14
ZPT01-1017 30 | 16 | M10*1.5 | 10 | 17 ZPT02-1017 30 | 16 | M10%1.5 | 10 | 17
ZPT01-1222 35 | 22 | M12*1.75 | 12 | 22 ZPT02-1222 35 | 22 | M12*1.75 | 12 | 22
ZPT01-1627 42 | 26 | M16*20 | 14 | 27 ZPT02-1627 42 | 26 | M16*20 | 14 | 27
ZPT01-2036 55 | 27 | M20*25 | 14 | 36 ZPT02-2036 55 [ 27 | M20*25 | 14 | 36
ZPT01-2436 65 | 32 | M24*2.0 | 18 | 36 ZPT02-2436 65 | 32 | M24*2.0 | 18 | 36
ZPT01-3046 80 | 35 | M30*2.0 | 21 | 46 ZPT02-3046 80 | 35 | M30*2.0 | 21 | 46




= EFTELENAEAT
n SWIVEL CLAMPING SCREW

= AU NO. Part Number NO.
fisn ZPT16A-0408 order ZPT16A-0408

kLAY /Round End

ZPT16A

AEXIEEER ( Materials )

BISType F{KkMain Body BksLBall
23 154 T FEE L7154 T
Round End Material Hardness SurFace Treatment Material Hardness
KR
ZPT16A SCM435 28~32HRC . SuJ2 62HRC~
Black Oxide

SEIRE (Specifications)

SHIEBFE (Specifications)

EEEtPa:cl:umber A 8 c (mK;X) EéEtPa:cI:umber A 8 c (nlz;x)
ZPT16A-0408 8 M4 2 4 ZPT16A-1025 26 M10 5 20
ZPT16A-0410 10 M4 2 4 ZPT16A-1030 31 M10 5 20
ZPT16A-0412 12 M4 2 4 ZPT16A-1035 36 M10 5 20
ZPT16A-0416 16 M4 2 4 ZPT16A-1040 41 M10 5 20
ZPT16A-0510 10 M5 2.5 5 ZPT16A-1218 18.2 M12 6 30
ZPT16A-0512 12 M5 2.5 5 ZPT16A-1220 23.2 M12 6 30
ZPT16A-0516 16 M5 2.5 5 ZPT16A-1230 31.2 M12 6 30
ZPT16A-0520 20 M5 2.5 5 ZPT16A-1240 41.2 M12 6 30
ZPT16A-0525 25 M5 2.5 5 ZPT16A-1250 51.2 M12 6 30
ZPT16A-0610 10.8 M6 3 9 ZPT16A-1625 25.6 M16 8 60
ZPT16A-0615 13.5 M6 3 9 ZPT16A-1635 35.6 M16 8 60
ZPT16A-0616 16.8 M6 3 9 ZPT16A-1645 45.6 M16 8 60
ZPT16A-0620 20.8 M6 3 9 ZPT16A-1655 55.6 M16 8 60
ZPT16A-0625 235 M6 3 9 ZPT16A-1665 65.6 M16 8 60
ZPT16A-0812 12 M8 4 15 ZPT16A-2030 32 M20 10 90
ZPT16A-0816 17.2 M8 4 15 ZPT16A-2040 42 M20 10 90
ZPT16A-0820 20 M8 4 15 ZPT16A-2050 52 M20 10 90
ZPT16A-0825 26.2 M8 4 15 ZPT16A-2060 62 M20 10 90
ZPT16A-0830 30 M8 4 15 ZPT16A-2090 92 M20 10 90
ZPT16A-1014 15 M10 5 20 ZPT16A-2435 37 M24 12 120
ZPT16A-1015 16 M10 5 20 ZPT16A-2450 52 M24 12 120
ZPT16A-1020 21 M10 5 20 ZPT16A-2480 82 M24 12 120




= EFTELENAEAT
n SWIVEL CLAMPING SCREW

LU B NO.
50 ZPT16B-0610

SEmmB/Flat End
/PT16B

Part Number
order

90

2R IEBZE ( Materials )

S mEY/Serrated End
ZPT16C

NO.

ZPT16B-0610

BISType F{KAMain Body BkLBall
SEmEER ST L7154 W RELE W=
Flat End Serrated End Material | Hardness SurFace Treatment Material | Hardness
ZPT16B ZPT16C SCM435 | 28~32HRC BIacfé)%xide SuUJ2 62HRC~
Bzt Part Number Bzt Part Number
NO. NO. A B C max(KN) NO. NO. A B C max(KN)
ZPT16B-0610 ZPT16C-0610 |10.3| M6 | 3 9 ZPT16B-1218 ZPT16C-1218 17 |M12| 6 30
ZPT16B-0615 ZPT16C-0615 13 | M6 | 3 9 ZPT16B-1220 ZPT16C-1220 | 22 [M12| 6 30
ZPT16B-0616 ZPT16C-0616 |16.3| M6 | 3 9 ZPT16B-1230 ZPT16C-1230 | 30 |M12| 6 30
ZPT16B-0620 ZPT16C-0620 |20.3| M6 | 3 9 ZPT16B-1240 ZPT16C-1240 | 40 [M12| 6 30
ZPT16B-0625 ZPT16C-0625 23 | M6 | 3 9 ZPT16B-1250 ZPT16C-1250 50 |M12| 6 30
ZPT16B-0812 ZPT16C-0812 |11.2( M8 | 4 15 ZPT16B-1625 ZPT16C-1625 24 |M16| 8 60
ZPT16B-0816 ZPT16C-0816 |164| M8 | 4 15 ZPT16B-1635 ZPT16C-1635 34 (M1le| 8 60
ZPT16B-0820 ZPT16C-0820 |19.2| M8 | 4 15 ZPT16B-1645 ZPT16C-1645 | 44 (M16| 8 60
ZPT16B-0825 ZPT16C-0825 |254| M8 | 4 15 ZPT16B-1655 ZPT16C-1655 54 |M16| 8 60
ZPT16B-0830 ZPT16C-0830 |29.2| M8 | 4 15 ZPT16B-1665 ZPT16C-1665 64 |M1l6| 8 60
ZPT16B-1014 ZPT16C-1014 14 |M10| 5 20 ZPT16B-2030 ZPT16C-2030 | 30 |M20| 10 90
ZPT16B-1015 ZPT16C-1015 15 | M10| 5 20 ZPT16B-2040 ZPT16C-2040 | 40 (M20| 10 90
ZPT16B-1020 ZPT16C-1020 | 20 |M10| 5 20 ZPT16B-2050 ZPT16C-2050 50 | M20(| 10 90
ZPT16B-1025 ZPT16C-1025 25 |M10| 5 20 ZPT16B-2060 ZPT16C-2060 | 60 (M20| 10 90
ZPT16B-1030 ZPT16C-1030 | 30 |M10| 5 20 ZPT16B-2090 ZPT16C-2090 | 90 |M20| 10 90
ZPT16B-1035 ZPT16C-1035 35 |M10| 5 20 ZPT16B-2435 ZPT16C-2435 35 | M24]| 12 120
ZPT16B-1040 ZPT16C-1040 | 40 |M10| 5 20 ZPT16B-2450 ZPT16C-2450 50 | M24| 12 120
ZPT16B-2480 ZPT16C-2480 | 80 (M24| 12 120




» RLEIBIRIE
u SWIVEL SHOULDER CLAMPING SCREW

= AU NO. Part Number NO.
fusn ZPT17A-0615 order ZPT17A-0615

Ik /Round End

ZPT17A

m Ll
D A
BISType F{KMain Body BksLBall
FER 154 HE FEAE IR HE
Round End Material | Hardness SurFace Treatment Material | Hardness
ZPT17A SCM435 | 28~32HRC B . SuUJ2 62HRC~
Black Oxide
_E.EitPa:gl.umber A B c b . (Tqa\l); ﬂitPa:(l:umber A B c b £ g\(aN);
ZPT17A-0615 145| 10 5 6 | M6 | 9 ZPT17A-1640 406| 24 | 14 | 16 [M1le| 60
ZPT17A-0625 23.5] 10 5 6 | M6 | 9 ZPT17A-1650 506( 24 | 14 | 16 |M1l6| 60
ZPT17A-0635 335 10 5 6 | M6 | 9 ZPT17A-1665 65.6( 24 | 14 | 16 | M16| 60
ZPT17A-0820 18.7| 13 6 8 [ M8 | 15 ZPT17A-1690 906| 24 | 14 | 16 [M16| 60
ZPT17A-0830 287 13 6 8 | M8 | 15 ZPT17A-20050 52 [ 30 | 17 | 20 | M20| 90
ZPT17A-0840 3871 13 6 8 | M8 | 15 ZPT17A-20080 82 | 30 | 17 | 20 | M20(| 90
ZPT17A-0850 50.7| 13 6 8 | M8 | 15 ZPT17A-20100 102 | 30 [ 17 | 20 [M20] 90
ZPT17A-1025 25 | 16 8 10 | M10| 20 ZPT17A-24060 62 | 36 | 19 | 24 |M24( 120
ZPT17A-1040 40 | 16 8 10 (M10| 20 ZPT17A-24090 92 | 36 | 19 | 24 [M24] 120
ZPT17A-1060 60 | 16 8 10 | M10| 20 ZPT17A-24120 122 36 | 19 | 24 |M24] 120
ZPT17A-1230 312 18 | 10 | 12 | M12| 30
ZPT17A-1245 462] 18 | 10 | 12 [M12] 30
ZPT17A-1265 66.2| 18 | 10 | 12 [M12( 30
ZPT17A-1280 81.2| 18 | 10 | 12 [M12{ 30




» RLEIBIRIE
u SWIVEL SHOULDER CLAMPING SCREW

LU B NO.
50 ZPT17B-0615

NO.
ZPT17B-0615

Part Number
order

EEAE/Flat End A mEE/Serrated End

ZPT17B ZPT17C
9° Q°
oM i L ] : § (T0]
L) N LB
------- \%%/
C D A C D A

A R3IERE (Materials )

BEType ZE{kMain Body BkskBall
SEmEER SRR L7154 HE RELE R HE
Flat End Serrated End Material | Hardness SurFace Treatment Material | Hardness
ZPT17B ZPT17C SCM435 | 28~32HRC &ZBlack Oxide SuJ2 62HRC~

SHTIME(Specifications) SHIIRR (Specifications)

i“i\‘,Pa:(:umber A 8 c 5 . (rEaN); ﬂitPa:(l:umber A 8 c 5 . (rEaN);
ZPT17B-0615 14 10 5 6 M6 9 ZPT17C-0615 14 10 5 6 M6 9
ZPT17B-0625 23 10 5 6 M6 9 ZPT17C-0625 23 10 5 6 M6 9
ZPT17B-0635 33 [ 10 5 6 | M6 | 9 ZPT17C-0635 33 | 10 5 6 | M6 | 9
ZPT17B-0820 18 13 6 8 M8 [ 15 ZPT17C-0820 18 13 6 8 M8 [ 15
ZPT17B-0830 28 13 6 8 M8 | 15 ZPT17C-0830 28 13 6 8 M8 | 15
ZPT17B-0840 38 13 6 8 M8 [ 15 ZPT17C-0840 38 13 6 8 M8 [ 15
ZPT17B-0850 50 13 6 8 M8 | 15 ZPT17C-0850 50 13 6 8 M8 | 15
ZPT17B-1025 24 16 8 10 | M10| 20 ZPT17C-1025 24 16 8 10 | M10| 20
ZPT17B-1040 39 16 8 10 |M10| 20 ZPT17C-1040 39 16 8 10 | M10| 20
ZPT17B-1060 59 16 8 10 |M10| 20 ZPT17C-1060 59 16 8 10 | M10| 20
ZPT17B-1230 30 18 10 12 | M12| 30 ZPT17C-1230 30 18 10 12 | M12| 30
ZPT17B-1245 45 18 10 12 | M12| 30 ZPT17C-1245 45 18 10 12 |M12| 30
ZPT17B-1265 65 18 10 12 | M12| 30 ZPT17C-1265 65 18 10 12 | M12| 30
ZPT17B-1280 80 18 10 12 | M12| 30 ZPT17C-1280 80 18 10 12 |M12| 30
ZPT17B-1640 39 24 14 16 |M1le| 60 ZPT17C-1640 39 24 14 16 | M16| 60
ZPT17B-1650 49 24 14 16 | M16| 60 ZPT17C-1650 49 24 14 16 | M16| 60
ZPT17B-1665 64 | 24 14 16 | M16| 60 ZPT17C-1665 64 | 24 14 16 | M16| 60
ZPT17B-1690 89 24 14 16 | M16| 60 ZPT17C-1690 89 24 14 16 |M1l6| 60
ZPT17B-20050 50 [ 30 17 | 20 [ M20| 90 ZPT17C-20050 50 [ 30 17 20 [ M20(| 90
ZPT17B-20080 80 | 30 17 20 | M20| 90 ZPT17C-20080 80 | 30 17 20 | M20| 90
ZPT17B-20100 100 | 30 17 | 20 [ M20| 90 ZPT17C-20100 100 | 30 17 20 [ M20(| 90
ZPT17B-24060 60 | 36 19 24 | M24( 120 ZPT17C-24060 60 | 36 19 24 | M24( 120
ZPT17B-24090 90 | 36 19 24 | M24| 120 ZPT17C-24090 90 | 36 19 24 | M24( 120
ZPT17B-24120 120 | 36 19 24 | M24| 120 ZPT17C-24120 120 | 36 19 24 | M241| 120




» EFFEAATEIRIT

m gripper Screw

= AU NO. Part Number NO.
fusn ZPT18-1025 order ZPT18-1025

\

A EYTERE ( Materials )

184 Screw HfiStopper
e
Type & e EEUIE R e
Material Hardness SurFace Treatment Material Hardness
RE
ZPT18 SCM435 32~38HRC . SKH9 60HRC~
Black Oxide

SEIIEBFE (Specifications)

Bzt Part Number
NO. A B C D E F
ZPT18-1025 25 | 6.5 [M10| 5 4 23
ZPT18-1050 50 [ 6.5 [ M10O| 5 4 2.3
ZPT18-1225 25 8 |M12| 6 5 23
ZPT18-1250 50 8 |M12| 6 5 2.3
ZPT18-1625 25 | 11.5(M16| 8 6 3
ZPT18-1650 50 [11.5|M16| 8 6 3
ZPT18-2025 25 13 |M20| 10 8 3
ZPT18-2050 50 13 | M20| 10 8 3




n SN RAEIATEIRAT
m Compacted Indexing Plungers-Return Type

= AU NO. Part Number NO.
fusn ZPT19-061025 order ZPT19-061025

\
i :
(o]
o
0O - o< L
\\
|
3 R3IEBE ( Materials )
122 Screw #hStopper
S Type L7154 R FEE L7154 W FEE
Material Hardness SurFace Treatment Material Hardness SurFace Treatment
ZPT19 SCM435 | 32~38HRC Black Oxide SKH9 60HRC~ Black Oxide

SEIIEBFE (Specifications)

Bzt Part Number

NO. A B C D E F
ZPT19-061025 25 6 10 | 79 | M6 | 23
ZPT19-081325 251 73] 13 | 95| M8 3
ZPT19-101725 25 | 84 17 |12.7 | M10| 3
ZPT19-101740 40 | 84 | 17 | 127 | M10| 3
ZPT19-121925 25 | 95| 19 |159|M12| 3
ZPT19-121940 40 | 95| 19 |159(M12| 3
ZPT19-162435 35 12 24 1191 M16| 3
ZPT19-162450 50 12 24 1191|M16| 3
ZPT19-203040 40 [ 145] 30 | 254 ((M20| 3
ZPT19-203060 60 [14.5( 30 [254(M20( 3




» SRR
m square gripper pad

U=l AU NO. Part Number NO.
fan ZPT20-1010 order ZPT20-1010
|
M
|
i
7
N / A I \ 4
\
2R IEBE ( Materials )
#HthStopper
BE AR
IR TR RELIE
Type Shape ]
Material Hardness SurFace Treatment
WHESH RE
ZPT20 Square Gripper Pad SKH9 HRC60-~ Black Oxide

SEIIEBFE (Specifications)

Bzt Part Number
A B C D
NO.
ZPT20-1010 10 10 M5 2.3
ZPT20-1210 12 10 M6 3
ZPT20-2010 20 10 M6 3
ZPT20-2510 25 10 M6 3




» R AEEREE
= Round gripper pad

= AU NO. Part Number NO.
fusn ZPT21-1010 order ZPT21-1010

2R IEBZE ( Materials )

ZF{KMain Body #hStopper
e AR
Type Shape & i FELE IR e FEgE
Material Hardness SurFace Treatment Material Hardness SurFace Treatment
&= RE KR
ZPT21 Round =S aliceers Black Oxide St uitls Black Oxide

BHVIEEZE (Specifications)

Bzt Part Number
A B C D E F
NO.
ZPT21-1010 10 10 34 M5 2.3 8.1
ZPT21-1212 12 12 4 M6 3 9.6
ZPT21-1612 16 12 4 M6 3 13
ZPT21-2012 20 12 4 M6 3 16.3
ZPT21-2512 25 12 4 M6 3 19.5




n SN RAEEEET
m SWIVELING JACK SCREW

= AU NO. Part Number NO.
fusn ZPT35-0814 order ZPT35-0814

EE kLR
Serrated ball end bolt
ZPT35

) A
9 —_—
- Q E [T
B
FEBkLIER
Smooth ball end bolt
ZPT36 A
E B

#2EIEBZE ( Materials )

BEType F{AMain Body Bk3LBall B nut
WEE SEmEER 154 HE FEE L7154 HE R FEE
Serrated End Flat End Material Hardness SurFace Treatment Material Hardness | Material SurFace Treatment
ZPT35 ZPT36 S45C 28~32HRC Black Oxide SuUJ2 62HRC~ SS400 Black Oxide

S¥¥IEER (Specifications) SHXIARZR (Specifications)

BztPart Number Bzt Part Number
NO. A B C E F NO. A B C E F
ZPT35-0814 36 25 14 M8*1.25 ZPT36-0814 36 25 7 14 M8*1.25
ZPT35-1017 45 30 17 M10*1.5 ZPT36-1017 45 30 8 17 M10*1.5
ZPT35-1217 50 35 10 17 | M12*1.75 ZPT36-1217 50 35 10 17 | M12*1.75
ZPT35-1624 60 | 40 12 24 M16*2.0 ZPT36-1624 60 | 40 12 24 M16*2.0
ZPT35-2036 87 60 14 36 M20*2.5 ZPT36-2036 87 60 14 36 M20*2.5
ZPT35-2436 98 | 66 | 18 | 36 M24*2.0 ZPT36-2436 98 | 66 | 18 | 36 M24*2.0
ZPT35-3046 110 | 75 21 46 M30*2.0 ZPT36-3046 110 | 75 21 | 46 M30*2.0




u FEE
m SWIVEL REST TIP

= AU NO. Part Number NO.
fusn ZPT37-1116 order ZPT37-1116

2R IEBE ( Materials )

ZF{KMain Body BRLBall
BE
Type & e EEUIE R wE
Material Hardness SurFace Treatment Material Hardness
RE
ZPT37 S45C 28~32HRC Black Oxide SuUJ2 62HRC~

SHIJEBFE (Specifications)

BIztPart Number
NO.

ZPT37-1116 25 11 10 10 14.3

ZPT37-1118 30 11 12 10 18

A B C D E




» IR BT IERE
m Exbolt - Type support

Eo= Il B NO. Part Number NO.
40 ZPT38-021 order ZPT38-021
EEA/Flat End TKEE/Bal | Type W A/Serrated End
ZPT38 ZPT39 ZPT40
o \kj o o /
o <) =]
+ +l +i
T
o e o e o e
2R IEBE ( Materials )
BEType =F{KMain Body I$HEENd Face
Tz BREE R 154 EE REE MR A
Flat End | Ball Type Serrated End Material | Hardness SurFace Treatment Material | Hardness
ZPT38 ZPT39 ZPT40 S45C 28~32HRC 2% . S45C 62HRC~
Black Oxide

SHFJERZE (Specifications)

Bzt Part Number
S4-7Ep
s Hma HER A B C D E F ﬁi:rff?
Flat End Ball Type Serrated End
Load
NO. NO. NO.
ZPT38-021 ZPT39-121 ZPT40-221 194( 17 | 20 | 10 | 17 | M8*1.25 18
ZPT38-031 ZPT39-131 ZPT40-231 219| 19 [ 22 | 10 | 19 | M10*15 32
ZPT38-032 ZPT39-132 ZPT40-232 219| 19 | 27 | 15 | 19 | M10*1.5 32
ZPT38-001 ZPT39-101 ZPT40-201 252 22 | 24 | 10 | 22 | M12*1.75 60
ZPT38-002 ZPT39-102 ZPT40-202 252 22 | 29 [ 15 | 22 | M12*1.75 60
ZPT38-042 ZPT39-142 ZPT40-242 33 1 30| 34| 15 | 30 [ M16*2.0 140
ZPT38-043 ZPT39-143 ZPT40-243 33 1 30| 39| 20 | 30 [ M16*2.0 140




» STIEEE
= Support Unit

= BUZ NO. Part Number NO.
fusn ZPT41-321 order ZPT41-321

THA/Flat End IKEAY/Ball Type 5 HEA/Serrated End
/PT41 /PT42 /PT43

A A A

Ll Ll Ll \
5 5 5 /
<) <] S
+ + +H
o (-
2R IEBE ( Materials )
BEType =F{KMain Body I$HEENd Face
Tz BRmEEY R 154 EE REE %154 EE
Flat End | Ball Type Serrated End Material | Hardness SurFace Treatment Material | Hardness
ZPT41 ZPT42 ZPT43 S45C 28~32HRC Blaczki(;%xide S45C 62HRC~
SHFJERZE (Specifications)
Bzt Part Number
s Hma HER A B C D E F %thlﬁffﬁ
Flat End Ball Type Serrated End Load
NO. NO. NO.
ZPT41-321 ZPT42-421 ZPT43-521 194 ( 17 | 15 6 17 | M8*1.25 25
ZPT41-323 ZPT42-423 ZPT43-523 194 17 | 25 | 12 | 17 | M8*1L.25 25
ZPT41-333 ZPT42-433 ZPT43-533 219| 19 | 20 | 10 | 19 | M10*1.5 46
ZPT41-335 ZPT42-435 ZPT43-535 219]| 19 30 15 19 M10*1.5 46
ZPT41-337 ZPT42-437 ZPT43-537 219| 19 | 40 [ 15 | 19 | M10*1.5 46
ZPT41-301 ZPT42-401 ZPT43-501 252 22 | 20 | 10 | 22 | M12*1.75 82
ZPT41-302 ZPT42-402 ZPT43-502 252 22 | 25 [ 15 | 22 | M12*1.75 82
ZPT41-303 ZPT42-403 ZPT43-503 252 22 | 30 | 18 | 22 | M12*1.75 82
ZPT41-304 ZPT42-404 ZPT43-504 252| 22 | 40 [ 18 | 22 | M12*1.75 82
ZPT41-305 ZPT42-405 ZPT43-505 25.2| 22 50 18 22 | M12*1.75 82
ZPT41-343 ZPT42-443 ZPT43-543 33 [ 30 | 30 | 20 | 30 | M16*2.0 206
ZPT41-345 ZPT42-445 ZPT43-545 33 (30| 50 | 24 | 30 | M16*2.0 206




= PESIERE
m FEET (FLATEND)

=l AU NO. Part Number NO.
Buan ZPT45-0610 order ZPT45-0610

1 EXIEEE ( Materials )

F{KMain Body
B
Type R W HEGNE
Material Hardness SurFace Treatment
RE
ZPT45 S45C 28~32HRC Black Oxide

» ZPT45 SEXIARFR (Specifications)

Bz{Part Number
A NO. A B C D E F
ZPT45-0610 M6 | 10 | 10 | 11 |115
w L / < ZPT45-0620 M6 | 20 10 11 | 115
ZPT45-0815 M8 | 15 14 13 | 16.1| 10
ZPT45-0830 M8 | 30 14 13 |16.1| 10
ZPT45-1020 M10| 20 17 16 | 196 13
C B+o. 1 D ZPT45-1040 M10]| 40 17 16 |19.6| 13
ZPT45-1225 M12( 25 | 19 | 20 | 219| 15
ZPT45-1250 M12| 50 19 20 [ 219( 15
ZPT45-1630 M16| 30 | 24 | 25 | 27.7] 20
ZPT45-1660 M16| 60 | 24 | 25 | 27.7( 20
ZPT45-2030 M20| 30 30 [ 25 [ 346 28
ZPT45-2060 M20| 60 30 | 25 | 346]( 28
» KHE7SASHERE
m FEET ( SERRATED END )
=S B NO. Part Number NO.
fugn ZPT46-0610 order ZPT46-0610
HERIERSR ( Materials )
ZF{KMain Body URTEENd Face
BSType 715 HE REAE R HE FEE
Material | Hardness SurFace Treatment Material | Hardness SurFace Treatment
ZPT46 S45C 28~32HRC Blaciifxide SCM435 HRC60~ Blacjffxide
» ZPT46 Bz{Part Number
F NO. A B C D E F G H
ZPT46-0610 M6 | 10 10 11 (115 65 | 23
/é§\ - r < ZPT46-0620 M6 | 20 10 11 |115]| 65 | 23
90° / ZPT46-0815 ms| 15 | 14 | 13 [161] 81| 23| 10
o L ‘L < ZPT46-0830 M8 | 30 14 13 |161| 81 | 23| 10
\\\QW J <-'7r ZPT46-1020 M10| 20 17 16 | 196|114 3 13
\/ ‘ ZPT46-1040 M10| 40 17 16 | 196|114 3 13
H B0 1 D ZPT46-1225 M12| 25 19 20 [ 219( 13 3 15
ZPT46-1250 M12| 50 19 20 | 219( 13 3 15
C ZPT46-1630 M16| 30 | 24 | 25 | 27.7|16.2( 3 20
ZPT46-1660 M16| 60 | 24 | 25 | 277|162 3 20
ZPT46-2030 M20| 30 30 | 25 | 346(252] 3 28
ZPT46-2060 M20| 60 30 | 25 |346(252] 3 28




SHTIERE (Specifications)

BztPart Number

max
NO. A B C D E F (KN)

ZPT51-0613 21 | 13 M6*1.0 72| 13 | 11 10
ZPT51-0813 21 | 13 | M8*125 | 72| 13 | 11 10
ZPT51-0818 28 | 18 | M8*1.25 |10.5| 20 | 17 25
ZPT51-1018 28 | 18 | M10*1.5 (105 20 | 17 25
ZPT51-1218 30 | 18 | M12*1.75 | 10.5| 20 | 17 25
ZPT51-1627 43 | 27 | M16*2.0 | 20 | 30 | 27 90
ZPT51-2035 55 | 35 [ M20*2.5 [345] 50 | 41 165

» BRI ShIAEAT
» SMOOTH BALL END BOLT
= AU NO. Part Number NO.
fan ZPT50-0613 order ZPT50-0613
Q| L
Q| L
2R IEBE ( Materials )
BEType ZF{KkMain Body BksLBall
SFEzY WEE %153 TEE REAIE (%153 TEE
Flat End Serrated End Material Hardness SurFace Treatment Material Hardness
ZPT50 ZPT51 S45C 28~32HRC & ZBlack Oxide SuUJ2 62HRC~
SE¥IERFEK (Specifications)
Bz{Part Number
= Al B C D| E|F max
NO. (KN)

ZPT50-0613 21 | 13 M6*1.0 72| 13 | 11 10

ZPT50-0813 21 | 13 | M8*125 | 7.2 | 13 | 11 10

ZPT50-0818 28 | 18 | M8*1.25 |[105| 20 | 17 25

ZPT50-1018 28 | 18 | M10*15 |[105] 20 | 17 25

ZPT50-1218 30 | 18 | M12*1.75 | 10.5| 20 | 17 25

ZPT50-1627 43 | 27 | M16*20 | 20 | 30 | 27 90

ZPT50-2035 55 | 35 | M20*2.5 | 345 50 | 41 165




» BB EEIZE
m Smooth ball End bolt

= BUZ NO. Part Number NO.
ZPT52-0311 order ZPT52-0311

90

Buan
C) :
Dne Aio_ 1
KN
m
Kj
Dne A+o. 1
2R IEBZE ( Materials )
BEType ZF{KMain Body Bk3LBall
B ES[ETEZN IR TEE REAIE (%153 TEE
Flat End Serrated End Material Hardness SurFace Treatment Material Hardness
ZPT52 ZPT53 S45C 28~32HRC R®R SuUJ2 62HRC~
Black Oxide

SHFIIRF (Specifications) SRR (Specifications)

Bzt Part Number Bzt Part Number
A B C D A B C D
NO. NO.
ZPT52-0311 11 M3*0.5 7.2 | 12 ZPT53-0311 11 M3*0.5 7.2 | 12
ZPT52-0417 17 M4*0.7 10.5| 18 ZPT53-0417 17 M4*0.7 10.5| 18
ZPT52-0525 25 M5*0.8 20 28 ZPT53-0525 25 M5*0.8 20 28




» 7NALEENMRA BN EERIRA M

= Internal hexagonal stop screw type adjustment swing

LU B NO.
50 ZPT58-06015

NO.

Part Number
order

ZPT58-06015

) W\ m }20 o
-------- ; JRW (12)
E C
L
2R IEBZE ( Materials )
e #824Screw i#ERENd Face
%:e MR EEAE MR HEGNE
Material SurFace Treatment Material SurFace Treatment
ZPT58 SCM435 BIacf%xide SCM435 Blacffxide
SHFJEBFE (Specifications)

st alslclo . BV ESL
Part Number Permissible torqueT(nN.M) Clamping forceF=T/0.2d (N )
ZPT58-06015 15 | 48 | 7 3 M6*1.0 2.5 2100
ZPT58-06020 20 | 4.8 7 3 M6*1.0 25 2100
ZPT58-06025 25 | 48| 7 3 M6*1.0 2.5 2100
ZPT58-06040 40 | 4.8 7 3 M6*1.0 25 2100
ZPT58-08020 20 [ 64| 9 4 M8*1.25 6.5 4100
ZPT58-08025 251 64| 9 4 M8*1.25 6.5 4100
ZPT58-08040 40 | 64 | 9 4 M8*1.25 6.5 4100
ZPT58-08050 50 | 64| 9 4 M8*1.25 6.5 4100
ZPT58-10020 20 | 7.6 | 10 5 M10*1.5 13 6500
ZPT58-10025 25 | 76| 10 5 M10*1.5 13 6500
ZPT58-10040 40 | 76 | 10 5 M10*1.5 13 6500
ZPT58-10050 50 | 76 | 10 5 M10*1.5 13 6500
ZPT58-10075 75 | 7.6 | 10 5 M10*1.5 13 6500
ZPT58-12040 40 [ 99| 12 6 | M12*1.75 154 6400
ZPT58-12050 50 | 99 | 12 6 | M12*1.75 15.4 6400
ZPT58-12075 75 1 99| 12 6 | M12*1.75 154 6400
ZPT58-12100 100 | 99 | 12 6 | M12*1.75 154 6400
ZPT58-16050 50 | 12.7| 16 8 M16*2.0 50 15600
ZPT58-16075 75 [ 12.7] 16 8 M16*2.0 50 15600
ZPT58-16100 100 [ 12.7| 16 8 M16*2.0 50 15600
ZPT58-16125 1251127 16 8 M16*2.0 50 15600




» 7NALEENMRA BN EERIRA M

= Internal hexagonal stop screw type adjustment swing component

LU B NO.
50 ZPT59-06018

Part Number NO.

order

ZPT59-06018

F

‘—|
!
~ W[ 120°
———————— : | & (182
E C
L
HERASERR (Materials )
1824 Screw iwERENd Face
S Type 154 RELE IR FEE
Material SurFace Treatment Material SurFace Treatment
ZPT59 SCM435 Blacjkifxide SCM435 Blacffxide
SEIERZE (Specifications)
®atPartNumber | | | | : . BYHEH S H
NO. Permissible torqueT(nN.M) Clamping forceF=T/0.2d (N )
ZPT59-06018 18 [ 10 | 10 3 M6*1.0 3 2.5 2100
ZPT59-06023 23 | 10 | 10 3 M6*1.0 3 2.5 2100
ZPT59-06028 28 | 10 | 10 3 M6*1.0 3 2.5 2100
ZPT59-06043 43 | 10 | 10 3 M6*1.0 3 2.5 2100
ZPT59-08022 22 | 13 | 11 4 M8*1.25 4 6.5 4100
ZPT59-08027 27 | 13| 11 4 M8*1.25 4 6.5 4100
ZPT59-08042 42 | 13 | 11 4 M8*1.25 4 6.5 4100
ZPT59-08052 52 113 | 11 4 M8+*1.25 4 6.5 4100
ZPT59-10023 23 | 14 | 13 5 M10*1.5 5 13 6500
ZPT59-10028 28 | 14 | 13 5 M10*1.5 5 13 6500
ZPT59-10043 43 | 14 | 13 5 M10*1.5 5 13 6500
ZPT59-10053 53] 14 | 13 5 M10*1.5 5 13 6500
ZPT59-10078 78 | 14 | 13 5 M10*1.5 5 13 6500
ZPT59-12042 42 [ 19 | 14 6 | M12*175| 5 154 6400
ZPT59-12052 52 [ 19 | 14 6 | M12*175| 5 15.4 6400
ZPT59-12077 77 | 19 | 14 6 | M12*175| 5 154 6400
ZPT59-12102 102 | 19 | 14 6 | M12*175| 5 154 6400
ZPT59-16051 51| 24 | 17 8 M16*2.0 6 50 15600
ZPT59-16076 76 | 24 | 17 8 M16*2.0 6 50 15600
ZPT59-16101 101 24 | 17 8 M16*2.0 6 50 15600
ZPT59-16126 126 | 24 | 17 8 M16*2.0 6 50 15600




w GEtHSL BRI RIR Y

= Knob type adjustment swing screw

= AU NO. Part Number NO.
fusn ZPT60-06025 order ZPT60-06025

® )
S

E A

2R IEBE ( Materials )

1844 Screw imEBENd Face
s
Type Mﬁ REAE Mﬁ REE
Material SurFace Treatment Material SurFace Treatment
gl SCM435 BIacjffxide SCM435 Blacyfé%xide
Bzt Part Number
No. A B C D E F G

ZPT60-06025 25 | 25 | 48 7 8 3 M6*1.0

ZPT60-06050 50 | 25 | 48 7 8 3 M6*1.0

ZPT60-06075 75 | 25 | 4.8 7 8 3 M6*1.0

ZPT60-08025 25| 29 | 64 9 10 5 M8*1.25

ZPT60-08050 50 | 29 | 64 9 10 5 M8*1.25

ZPT60-08075 75 29 | 64 9 10 5 M8*1.25

ZPT60-10050 50 | 32 | 76| 10 | 11 5 M10*1.5

ZPT60-10075 7532|7610 | 11 5 M10*1.5

ZPT60-10100 100 32 | 76| 10 | 11 5 M10*1.5

ZPT60-12050 50 | 32 199 12 | 13 5 | M12*1.75

ZPT60-12075 75 | 32 1 99 ( 12 | 13 5 | M12*1.75

ZPT60-12100 100 32 | 99| 12 | 13 5 | M12*1.75

ZPT60-16050 50 | 32 |12.7( 16 | 13 5 M16*2.0

ZPT60-16075 75 | 32 1127 16 | 13 5 M16*2.0

ZPT60-16100 100 | 32 |12.7| 16 | 13 5 M16*2.0

ZPT60-16125 125 32 [127] 16 | 13 5 M16*2.0




n ZPTOLiAREIEIRIR .
m Adjusting Screw the swing

o=l BT Type + M Part Number Type + M
fusn ZPMXSB8 order ZPMXSB8

&

E A

D o
n
D

2R IEBE ( Materials )

#224Screw iwEPENd Face
s
Type Mﬁ REE MJBE. REE
Material SurFace Treatment Material SurFace Treatment
Al SCM435 BIacjkié)%xide SCM435 Blacyfé%xide
1y
Part %itmber A B ¢ D E F G H
ZPT61-06027 27 | 25 | 10 | 10 8 3 M6*1.0 3
ZPT61-06052 52 | 25| 10 | 10 8 3 M6*1.0 3
ZPT61-06077 77 | 25 | 10 | 10 8 3 M6*1.0 3
ZPT61-08027 27 [ 29| 13 ( 11 | 10 5 M8*1.25 4
ZPT61-08052 52 1 29| 13 | 11 | 10 5 M8*1.25 4
ZPT61-08077 77 | 29 | 13 | 11 | 10 5 M8*1.25 4
ZPT61-10053 53 |1 32|14 | 13 | 11 5 M10*1.5 5
ZPT61-10078 78 {32 | 14|13 | 11 5 M10*1.5 5
ZPT61-10103 103 32 | 14 | 13 | 11 5 M10*1.5 5
ZPT61-12052 52 | 32| 19 ( 14 | 13 5 | M12*1.75 5
ZPT61-12077 77 | 32| 19 | 14 | 13 5 | M12*1.75 5
ZPT61-12102 102 32 | 19 | 14 | 13 5 | M12*1.75 5
ZPT61-16051 51 | 32 | 24 | 17 | 13 5 M16*2.0 6
ZPT61-16076 76 | 32| 24 | 17 | 13 5 M16*2.0 6
ZPT61-16101 101 | 32 | 24 | 17 | 13 5 M16*2.0 6
ZPT61-16126 126 | 32 | 24 | 17 | 13 5 M16*2.0 6




» |\FiEERIATAR IR A
m Grub Screws - Thrust Point

LO=u Tl BT Type+M-L Part Number Type+M-L
fBugn ZSGTS10-80 order ZSGTS10-80

ZSGTP
Z5GTS ZSGTPP
5° 2
&
retaining ring
- M
X RIEmS
h12 o . h12
NLF;{‘:}' qu,..l retaining ring l_Q_] polyacetal cap
4 res o [ITee (.
t g il
B D D1
(IZL23T) (FEBER) (B (FBI)
(screw part) (pad part of SGTS) (pad part of SGTP)  (pad part of SGTPP)
A EYIERZE ( Materials )
1242 Screw ##Pad B|ECap
e
Type %153 TEE FEE %154 TR RELIE R
Material Hardness SurFace Treatment Material Hardness SurFace Treatment Material
fRiEs RE RE
ZSGTS Standard S45C 50~60HRC Black Oxide SUM22L | 50~60HRC Black Oxide /
rae KRB KB
ZSGTP Wide-Angle S45C 50~60HRC Black Oxide SUM22L | 50~60HRC Black Oxide /
I RE-HEE KB KRB SRR
ZsGTep Wide-Angle with cap S45C >0~60HRC Black Oxide SUM22L | 50~60HRC Black Oxide Polyacetal
SEIIERFE (Specifications)
BIzxtPart Number 1242 R~F Screw Dimension ##R<FPad Dimension
Type M L B b Z1 | z2 | Bl D hl | H1 t d C el | h2 | H2 | e2 | D1
ZSGTS 6 30 40 50 45 4 54 | 25 3 12 | 25 7 4 10 | 46 | 2.2 / / / /
8 40 50 60 6 54 | 6.8 3 4 16 4 9 5 12 [ 6.1 3 7 8 22| 19
;:g:rs’ 10 50 60 80 8 7282|455 [20] 5 [11] 6 [15[81]36]85]10]26]23
ZSGTPP 12 ( 60 70 80 100 8 72| 86 | 45 6 25 6 13 7 18 | 81| 45 8 11 | 29| 28
16 | 70 80 100 125| 12 | 11 |10.6| 5 8 32 7 15 ( 75| 22 (121 53| 10 | 14 | 45| 35
ZGTS 20 | 90 100 125 150 |15.5(144|124( 55| 10 | 40 9 16 8 28 | 156 5.6 / / / /




» AAREIRSLEM Bhini
m Grub Screws - Ball Thrust Point, Hex Socket or Straight Slot

LO=u Tl BT Type+M-L Part Number Type+M-L
fBugn ZS5GBS10-80 order ZSGBS10-80

ZSGBSN

oo o

B B

2R IEBZE ( Materials )
igiescren ibPad

BE
Type L7154 FEE %154 o
Material SurFace Treatment Material color
—FiER RE Polyacetal tEE
ZSGBS Straight slot groove Sum22L Black Oxide BRYEEE Mat Black
[pav::Eik:d RE Polyacetal THEE
ZSGBSN Hex socket SUM22L Black Oxide BRURES Mat Black
SEIIERFE (Specifications)
Bzt Part Number
e D h H d B B1
Type M L
8 40 50 63 (25| 15 (25| 76| 86 | 6.1 4
ZSGBS
ZSGBSN 10 | 50 63 80| 34| 18 (25|92 11| 7.8
12 | 63 80 100| 34 | 21 3 10 13 | 94 6




o

D1

» DEREIRRAN F=E

m Grub Screws - Flanged

ZSGKA8-60

LSl B Type M-L
Bugn

Part Number
order

D2

,
I
!
8°

L
. e Maews

FAEE

rating Range

Type M-L

ZSGKA8-60

Ope

4- o d1

3 R3IEEE ( Materials )
#BteScrew ¥J#Pad
BE
Type IR HE FEE %154 o
Material Hardness SurFace Treatment Material color
ey E ki) RE WHEE
il Hex socket Sl e aalies Black Oxide = Mat Black

SEIIEBFE (Specifications)

Bzt Part Number
D P DL | D2 L1 ]| L2| L3 ] dl B
Type M L
4 30 20 | 14 7 | 22 3 5 2 35 2
6 30 40 50 ( 20| 14 7 32 3 5 2 35 3
8 40 50 60 | 22 | 16 9 5.2 3 5 2 35| 4
ZSGKA

10 | 50 80 28| 20 | 12 | 62| 4 6 3 | 45 5
12 | 100 30 (22| 14 (81| 4 8 5 | 45 6
16 | 125 37 | 28 | 18 | 11 4 11 7 5.5 8




» AAREIRSAM RRRER
m Grub Screws - Rubber Padded

EO=u Tl BT Type + M- L Part Number Type + M- L
fBugn ZSGKG10-80 order ZSGKG10-80

#HPad

£ s SEesARse o EEEE E_"

" = sEreemarss @

= T T R T
N ik ~vo~dl o =

= e ] # af

& = S

- - - - - _ E.__

Tl (h“_fj .HHP

TTee-- R “:“ﬂ‘_u 2o

e ')

S =

t | L1 N S

A EYIERE ( Materials )

122 Screw #f#Pad #EvRTEPad End Face
e
Type (%153 TR REAIE %153 e %154
Material Hardness SurFace Treatment Material color Material
[ iav::E ki) RE WHEE
g Hex socket Sehinzs S lalies Black Oxide SRl Mat Black NBR

SEIIEBFE (Specifications)

Bzt Part Number
D t L1 | L2 B
Type M L
4 30 12 2 3 5 2
6 30 40 50| 12 2 3 5 3
8 40 50 60 | 16 2 3 5 4
ZSGKG

10 | 50 80 20 2 4 6 5
12 | 100 24 3 4 8 6
16 | 125 30 3 4 11 8




Ball Rollers

Bk

IR




 EANNERRES
m Ball Rollers - Press Fit

- sl sl ] B Type+D1 Part Number Type+D1
@ i’@ i Bsm ZBCHA24 order ZBCHA24
e I
|

L1 Ho. L

H1EXIEBER ( Materials )

##EMaterial
s
Type @EE{ZK QFEEIR @_EEEJ? @EIBK
Main Body| Spacer Main Ball Sub Ball
ZBCHA SUS304 SUS304 SUS440C(HRC55 ~) SUS440C
ZBCHAJ | SUS304 | SUS304 BRYEEEPolyacetal (HRC55~)
BIz{Part Number b L H 1 d fita#/load N(kgf)
Type D1 ZBCHA | ZBCHAJ
7.5 9 4 1 11 4 12(1.2) 6(0.6)
9 11 5 1 1.2 476 14(1.4) 7(0.7)
ZBCHA 11 13 6 1|15 5.56 41(4.2) 27(2.8)
15 17 9 1 2.5 8.73 55(5.6) 34(3.5)
ZBCHA) 18 20| 10| 1 |35]| 1032 62(63) | 55(5.6)
24 26 | 14 | 15| 53 15.87 343(35) 69(7)
30 32 17 2 6.3 19.05 412(42) 82(8.4)
[ BEEENBIN R ZEFARAHTAE, [ ! 1IThe H7 tolerance is recommended for the mounting holes of the press in type.
n EARIRERRES

m Ball Rollers - Press Fit

ciio s B3 Type+D1 Part Number Type+D1 -
fign ZBCHJJ24 order ZBCHJJ24 ti
1

L1 Ho: L
| Y

—
o3
D 1 E3IERE ( Materials )
4 EMaterial
= N _
Type (@ESLN QVEEEIR @R @a&EK
- Main Body Spacer Main Ball Sub Ball
ZBCHJJ) | B345E&Polyacetal / EBR4EEEPolyacetal | sus440cC
ZBCHJP PEEK / PEEK (HRC55~)
SHFIIRR (Specifications)
BIx{Part Number b L H L1 d . c Miitazkload N(kgf)
Type D1 ZBCHJJ ZBCHJP ZBCHJJ ZBCHJP ZBCHJJ ZBCHJP
7 9 4 1 15 / 4.76 / 15| 08 2(0.2) /
9 11 5 1 17 2 5.56 6.35 2.5 1 4(0.4) 5(0.5)
ZBCHJJ 11 13 7 1 / 2.5 / 7.94 3 1 / 6(0.6)
13 15 8 1 2.8 3 8.73 9.53 3.5 1 7(0.7) 8(0.8)
ZBCHJP 15 17| 8 | 1 35 / 10.32 / 35| 1 | 11002 /
20 22 |115] 15 5.2 / 15.87 / 53 1 14(1.4) /
24 26 15 | 15 6.6 / 19.05 / 6.4 1 21(2.1) /

[ BN HEEATREANGT  BRNERE. BUTRSSHRSITR. )

[ ! ]Insert and bond type can not be pressed in, please use adhesive installation. (otherwise, poor rolling may be caused.)



u SRS BURIRRES
m Ball Rollers - Hex Head, Stud Type

sl ] B Type+M Part Number Type+M
fign ZBCHL16 order ZBCHL16

S 11 Ho, L

11 EXIE8ZE ( Materials )

t4&Material T T T
s
Type OEfF | OREER O =23 @FIEk \
Main Body | Spacer Main Ball Sub Ball |
ZBCHL SUS304 | SUS304 SUS440C(HRC55~) | susa4oc
ZBCHL | SUS304 | Sus304 BYERPolyacetal | (HRC55~) @)
B3tPart Number fitfadk/load N(kgf)
Type M o el I > ZBCHL ZBCS!LJ
5 6 |11| 5| 4 | 8 12(1.2) 6(0.6)
6 8 | 12| 6 [476| 10 | 1419 7(0.7)
ZBCHL 8 10 | 15| 7 |556| 13 [ 414.2) 27(2.8)
10 12 | 25| 10 | 873 17 [ 55(5.6) 34(3.5)
ZBCHU 12 15 | 35| 11 [103] 19 | 62(6.3) 55(5.6)
16 20 | 53| 15 |159| 24 | 343(35) 69(7)
20 25 | 63| 18 |19.1| 30 | 41242 82(8.4)
[ 1i5% @ E(ER [!1The ball is used upward
u SRR EURERRES
m Ball Rollers - Hex Head, Stud Type
sl B Type + M Part Number Type + M o
BN ZBCHLJJ10 order ZBCHLJJ10
—
S L =
—
M
#4EMaterial
=5 (OEZLN QEEER O@FBK @gEIBk
HEZK}L@E Type Main Body Spacer Main Ball Sub Ball
1 ZBCHLJJ | B¥4gEEPolyacetal / RYaEzEPolyacetal | sys440C
ZBCHLJP PEEK / PEEK (HRC55~)
BI5{Part Number L L1 H d s . Miftazg/load N(kgf)
Type M ZBCHLJJ | ZBCHLIP ZBCHLJ) | ZBCHLIP ZBCHLJJ | ZBCHLIP
5 6 15 / 5 476 / 8 | 15 2(0.2) /
ZBCHLY 6 8 17 2 6 5.56 635 | 10 | 25| 4(0.4) 5(0.5)
ZBCHLP 8 10 2.8 25 8 8.73 7.94 13 | 3 7(0.7) 6(0.6)
10 12 35 3 10 10.32 9.53 17 | 35| 11(11) 8(0.8)

[ 1ZBCHUIARTEERE. [ ! 1ZBCHLJJ is not suitable for high-speed transfer.



» IR T IR IR

m Press Fit Plunger Ball Rollers

sl ] B Type + D1 Part Number Type + D1
fuan ZBCHP14 order ZBCHP14

11 EXIERZ ( Materials )

me OEfE | oEER W o=tk | onE ©IER
Type Main Body | Spacer Ball Casing Spring Retaining Ring
ZBCHP SUS304 SUS304 SUS440C(HRC55 ~) SUS304 SUS304 SUS304
SEFIARZE (Specifications)
Bzt Part Number thEiE/load(N)
D L L1 d ! -
Type D1 min. max.
14 16 | 14 | 15 5.56 15 23 30
ZBCHP 18 20 | 17 | 25 8.73 2 24 38
22 24 | 215( 35 10.32 2 24 55

[ BN EFLRAHTAE [ ! ]H7 is recommended for mounting holes

n TEEINRIROEUNERRE

m Press Fit Plunger Ball Rollers

pi=ed ] B Type + M Part Number Type + M
] ZBCHPT16 order ZBCHPT16

11155, L ¢

12 M

1 i £

i

d :
o C W\ﬁ 1\ 8'
/ ‘_*\\_V“ \\, \
DHOOEE

1 EXTEEZE ( Materials )

BS QxR | ORER O3 @R (OF:5 (GHEEAN
Type Main Body | Spacer Ball Casing Spring Retaining Ring
ZBCHPT SUS304 SUS304 SUS440C(HRC55 ~) SUS304 SUS304 SUS304

SHEEE (Specifications)

BistPart Number g E/load(N)
Type " Fiﬁ%ﬁi d D D1 L L1 L2 a d P L m— p—

16 M16*1.5 19 (135 14 | 15 9 2 |556]154] 15 23 30

ZBCHPT 20 M20*1.5 24 |165] 17 | 25| 10 2 873|185 2 24 38

24 M24*1.5 28 [205(215| 35| 12 | 25 |103| 24 2 24 55




w BRZLEFRMRIKIRES

= Ball Rollers with Set Screw

sl s ] B Type + M Part Number Type + M
Bign ZBCSB 16 order ZBCSB 16

—
S
_

HRIERER ( Materials ) ‘%

t4EMaterial
BS - -
Type OFK QVEFEEIR ®FHK @EIER
Main Body| Spacer Main Ball Sub Ball
ZBCSB SUS304 SUS304 SUS440C(HRC55 ~) SUS440C
ZBCSBJ | SUS304 | SUS304 EXYEELPolyacetal (HRC55~)
S#IEBR (Specifications)
Bzt Part Number JtaZk/load N(k
=X Clul oo q s ) fittazk/load N(kgf)
Type M ZBCSB | ZBCSBJ
6 12 | 09 | 35 3.18 3 3.5 2(0.2) 0.5(0.05)
8 14 | 13 5 476 4 5 5(0.5) 1(0.1)
ZBCSB 10 16| 12| 7 476 5 | 6 | 1414 7(0.7)
ZBCSBJ 12 20 | 15 8 5.56 6 8 41(4.2) 27(2.8)
16 25 | 25| 12 8.73 8 10 55(5.6) 34(3.5)
20 30 | 35 15 10.32 10 12 62(6.3) 55(5.6)
[ ! & AMLMEERR AN T IAERRERQ [ ! Isize M8 main balls are awaged in place without a spacer@®
w 1R EERUNERIRE

m Ball Rollers with Set Screw

ci=sdlE] B3 Type + M Part Number Type + M
fign ZBCSBJJ16 order ZBCSBJJ16

#EXIEEER ( Materials )

t4EMaterial
s N X .
Type 0223 QVEER 655 @B
Main Body Spacer Main Ball Sub Ball
ZBCSBJJ | B34aEEPolyacetal - ERYgHEEPolyacetal |  SUS440C(HRC55 ~)
SHFIARE (Specifications)
Bzt Part Number GREST
2l Llulo|d|e|w]| | ®REad
Type M N(kgf)
8 14 |1 15| 6 |[476f 15| 1.2 | 15 2(0.2)
10 16 | 1.7 8 |556| 25| 15 2 4(0.4)
ZBCSBJJ
16 25 | 28 | 12 |873| 3 2 3 7(0.7)
20 30 [ 35| 14 (103| 35 3 4 11(1.1)




w RSB NS

m Roller Press-Fit Plungers

BIS5h

Bz, Type+D1

Bugn

ZPFPR15

[!] REEHRSRIRAVEDRL
HRRERSLTREC .

[ '] The combination structure of the
main ball and the sub balls helps

smooth rotation of the ball.

Part Number
order

Type+D1

ZPFPR15

S L1 |

—
)
A ERSEBZR ( Materials )
#EMaterial
s . =5k
Type (@ES @EBK O3 (OF:5
Main Body Main Ball Sub Ball Spring
ZPFPR BR4EEEPolyacetal BRYaEEPolyacetal SUS440C(HRC55~) SUS304
ZPFPRJ | BR45EEPolyacetal SUS440C(HRC55~) SUS440C(HRC55~) SUS304

o

Ek
Main Ball

SHFIERZE (Specifications)

BIz{Part Number mitaEk/load(N
= pr|o2| L |s|uld|lals|E]|chk = D
Type D min. min.-0.1mm max.
7 9 / | 75| 15| 1 |476| 75| 1 (15[ 08| O 0.1 2
9 11 | 84 | 10 | 1.7 1 [556| 7 1 2.5 1 0 0.2 4
13 15 (124 15 | 2.8 1 (873 7 1.2 3 1 0 0.3
ZPFPR
15 17 |147|165| 35| 1 |103| 85| 15| 35| 1 0 03 11
20 22 |1194]225| 52| 15]159]105| 15| 53 1 0 0.3 14
24 26 | 234 29 | 66| 1.5 (191135 15| 64| 1 0 03 21
» REOBUERSLAEEE
n Roller Ball Plungers
pi=ed ] B Type + M Part Number Type + M <
it ZBPRM10 order ZBPRM10 f
N — N S :‘
[ ! SREERSRIRAEDEIT E
TRfRER LIRS . ‘t
[ ! 1The combination structure of the
main ball and the sub balls helps
smooth rotation of the ball.
#3EXIEEER ( Materials )
t4EMaterial
ZF¥k/Main Ball FilE=2 —
_ (@7 @FEBR GRIEK @3
BB /Sub Ball Type : . -
B Main Body Main Ball Sub Ball Spring
ZBPRM SUS304 SUS440C(HRC55+~) SUS440C(HRC55~) SUS304
ZBPRJ SUS304 BR4EEEPolyacetal SUS440C(HRC55~) SUS304
BEIVIERZE (Specifications)
Biz{Part Number thEk/load(N)
d S L l B h
Type M(EZF 8847/ Coarse) min. max.
5 2.38 0.7 12 2 2.5 12 4.4 19.6
6 0.8 13 2.5 3 1.5 8.1 29.6
ZBPRM 8 4 13 15 2.5 4 2 126 39.8
ZBPRJ 10 1.6 16 3 5 2.5 13,5 444
12 7.1 2.3 20 3 6 3 16.1 46.9
16 9.5 31 25 3 8 4 26.1 88.2

[ ! IRTmERTCIRFE. (NARNBILRE.

[ ! IR TOHARIE.

[ ' INo anti loosening treatment wascarried out.

[ ! 1There is no wrench slot in the front end. Install for hexagon socket only.



n RIEEEEUNERRE
m Ball Rollers - Lock Nut, Flange Mount

sl ] B Type + D1 Part Number Type + D1
fign ZBCHN16 order ZBCHN16
—

(]

HARIIERE ( Materials )

#FEMaterial
BS - -
Type [©@E27N QFEEIR (OE=23 @EIEK
Main Body | Spacer Main Ball Sub Ball
ZBCHN | SUS304 | SUS304 SUS440C(HRC55~) | susaaoc
ZBCHNJ | SUS304 | SUS304 B4EEEPolyacetal (HRC55~)
SHIEBR (Specifications)
BIx{Part Number 0 ‘ 2 FNut Dimensions
= 1| H M L q B ' fittazk/load 2R
Type D1 N(kgf) B1 (e) T
12 15| 65 6 15 5.56 3 3.5 41(4.2) 10 115 5
ZBCHN 16 25|95 6 | 15 8.73 3|35 55(5.6) 10 115 5
19 35 |115| 8 20 10.32 4 5 62(6.3) 13 15 6.5
ZBCHNJ 25 53147 8 | 20 | 1587 4| s 343(35) 13 15 6.5
31 6.3 |18.7]| 10 | 25 19.05 5 6 412(42) 17 19.6 8
n E=BUNERRES
m Ball Rollers - Lock Nut, Flange Mount
si=ed ] B Type + D Part Number Type + D
Buan ZBCHF27 order ZBCHF27
O
v :
o HEXIERE ( Materials )
t#4EMaterial
s . X .
Type @FEK [OUEEZEN (OES>3 @gIEK
Main Body | Spacer Main Ball Sub Ball

ZBCHF SUS304 SUS304 SUS440C(HRC55 ~) SUS440C

ZBCHFJ | SUS304 | SuUS304 BR4EEEPolyacetal (HRC55~)
SHVIEEZE (Specifications)
B Part Number i -
= b | H| ¢ PCD | a d gL/ 10ad

Type D N(kgf)
27 15 | 25| 95| 2 21 35 8.73 55(5.6)
ZBCHF 30 18 [ 35 [115] 2 24 35| 1032 62(6.3)
ZBCHE 39 24 | 53147 3 315 | 45| 1587 343(35)
48 30 | 63 ]187] 4 39 55| 19.05 412(42)




u [FUSISRUNERRES
m Ball Rollers - Round Head, Stud

sl s ] B Type + M Part Number Type + M
fign ZBCHM10 order ZBCHM10

11 EXIE_ZE ( Materials )

##EMaterial
B N _
Type OFF | OFEIR O@FHK @RI
Main Body| Spacer Main Ball Sub Ball
ZBCHM | SUS304 | SUS304 SUS440C(HRC55~) | susa4oc
ZBCHMJ | SUS304 | SUS304 BX4EESPolyacetal (HRC55~)
SHIIERE (Specifications)
B Part Number e
= Llul|w]|oD d a P MEEY Load
Type M N(kgf)
10 12 | 25| 10 | 185 8.73 2 15.4 55(5.6)
ZBCHM 12 15351122 1032 |2 185 62(6.3)
ZBCHMJ 16 20 | 53| 15 | 27 15.87 2.5 24 343(35)
20 25 | 63| 18 | 33 19.05 2.5 29.6 412(42)

n E=RURERRED
m Ball Rollers-Flange Mounted

si=ed ] B Type + D Part Number Type + D
] ZBCHY69 order ZBCHY69

H
hl h
H 1
—
do| - i
HRXIEEZE ( Materials )
#—1 FEMaterial
j_ 1 Bs ‘ ——
i Type EE HELE OFK | QK
Main Body SurfaceTreatment Spacer Main Ball
e RN 7GR
ZBCHY SPCD Trivalent Chromate SuJ2 SuJ2
S#IFERFE (Specifications)
Bz{Part Numb
F{Part Number b1 02 g ] ) o .
Type D
ZBCHY 69 42 29.5 254 31 17 7.5 56




n EAR NGRS A sl = sl ] B Type + L Part Number Type + L
m Press-Fit-Ball Roller Units f5ian ZBUHA200 order ZBUHA200
200 400
25 50 50 50 50 25
| = \ | | - \ [ | -
. . s - - -@-- - --@-
Jph TS |26 | 16@6@%@9 SIFLIR15/6-P6 through-holes 9.5 Sinking hole depth 15
BCHA24 ] BCHA24 :

BCHA24

BCHA24

&R ( Materials ) SHIARR (Specifications) | FMRERRILHITH A
(EFIER SRRt t4EMaterial Bz Part Number R BEType
Fiti=} Use ball-head steel ball rollers sNERREEBall Rollers AkA e 2K Number of e fiffast/Load
Type otk mt ik VEESER |3 Main| B Frame Type [Long| Rollers Type N(kgf)
Shape Part Numbe Main Body | Spacer Ball Sub Ball [ A6063Alumin 200 4
um Alloy($B4s
AR SUS440C | SUS440C | emmmemar ZBUHA | 400 8 ZBUHA 343(35)
ZBUHA Press Fit ZBCHA24 SUS304 SUS304 (HRC55~) | (HRC55 ~) =) 500 B
w SN NREURERRIC AN s Bl Type + L Part Number Type + L
m Hex Head-Ball Roller Units fian ZBUHL200 order ZBUHL200

50

BCHL16

-eé

©
-y

J

|s-osmnoosmnzs

BCHL16

400

4- @6 through-holes ®9.5 Sinking hole

BCHL16

depth 15

N

25

[ g

@‘@‘@

40

24 Wﬁ PEIETLP9.5FLIR15/6- @6 through-holes 9.5 Sinking hole depth 15

25
45.3

BCHL16

e I e e e N O

40

2 {8 6iE

7,09 551FUELS/8-P6 through-holes 99.5 Sinking hole depth 15

MR R ( Materials ) SHIERE (Specifications) || PMIFRRICHITIGAE
(EFIER SRRt #1ERMaterial BstPart Number | wrpnupe BSType
Fiti=) Use ball-head steel ball rollers sEKREBall Rollers Rt =] 214 | Number of Fiti=] fitta/Load
Type Ttk Bzt Fk EEIR FR BBk Frame Type |Long| Rollers Type N(kgf)
Shape Part Numbe | Main Body| Spacer Main Ball | Sub Ball | Ag063AIumin 200 4
um Alloy((B4




n PIEE=RERIRINR
= Cutting flange mounting type steel ball

sl B Type+NO. Part Number Type+NO.
Bugn Z BCF50 order Z BCF50

A EXTERE ( Materials )

fEMaterial

BE L _
Type @FER @K @FK @&IBK

Main Ball Shell Main Body | Sub Ball
ZBCF SuJ2 HAL SCM415 SuJ2

SEFIERZE (Specifications)
Bzt Part Number e
z D D1 d H h h1 p Mg/ Load
Type NO. N(kgf)
ZBCF 50 56 30 19.05 26 15 5 44 588(60)
120 66 42 25.4 36 235 6.5 54 1470(150)

w ERARHEHAL/ R =R R
m Installation type roller with garbage discharge hole/groove flange
si=sd ] B Type+NO. Part Number Type+NO.
Bugn Z BCFH50 order Z BCFH50
H =
2065 3 5 <« ZBCFH
/ = @
g o
= o
e
N S_
a

6 IIRHEHEE 2-6.5
™ sefusedischarge chute ¢ T -
ZBCSF P = 3 HERIEER (Materials )
#FEMaterial
il \ — ——
Type (OE=] @FEK (OE= @FIER
-0 Main Ball Shell | Main Body | Sub Ball
ZBCFH SuJ2 {BAL SCM415 SuJ2
ZBCSF suJ2 BAL SCM415 SuJ2
SHVIEEZ (Specifications)
B Part Number 2% i i >
= b | b1 q H h il el 2 REHE RIFHEHTL fitadk/Load
Type NO. Installation direction Garbage outlet N(kgf)
— 50 56 | 30 19.05 26 15 5 | 44 | 11 FaAME 2B 588(60)
120 66 | 42 254 36 235 65| 54 | 14 All directions Bottom 1470(150)
— 50 56 | 30 19.05 26 15 5 | 44| / BHETE NE 588(60)
120 66 | 42 254 36 235 65| 54 | / The ball goes down Head 1470(150)




n PRI MBRREBIRERIRES

m Ball roller with cutting male thread mounting type

si=edi] ] BZ Type+NO. Part Number Type+NO.
fugn Z BCBES0 order Z BCBES0

[ '] ZBCBEE LT AMEFIKFESEITRIER.

[ !'] The ZBCBE can be used in both up and down directions as well as horizontal directions.
[ 1] ZBCBE120AMREERTE—1E.

[ ! ] The thread part of ZBCBE120 has no slot.

ZBCBE10 / ZBCBE20 ZBCBE50 / ZBCBE120
h1 h2 h1 h2
F1 B! 1__5- N B

Tha edgs spacing

-
d|

o B

| {0

g fw =

68 b6

The edge spacing

é
3 BR¥IERIR ( Materials )

#FEMaterial
me . — —
Type | OFX | Rtk | oxk | @BE
Main Ball Shell Main Body | Sub Ball
ZBCBE SuJ2 SUM SCM415 SuJ2

SHFERE (Specifications)

Biz{Part Number | :
= D D1 d B h1 h2 F1 M it/ Load
Type NO. N(kgf)
10 15 13 9.525 35 15 12 2.5 M6 147(15)
20 24 21 15.875 45 20.5 12 4 M6 343(35)
ZBCBE
50 30 27 19.05 6 26 20 5 M8 588(60)
120 42 36 254 8 36 20 6.5 M10 1470(150)




=

-

-

» FRORHEET I MBS AR
m Cutting external thread mounting type with garbage discharge groove
Part Number

BISf)

f5uen

Bz, Type+NO.

ZBCS20

order

[ !'] ZBCSTE ERIsmFKFEAESn R,
[ !'] The ZBCS can be used in both up and down directions as well as horizontal directions.
[ 1] ZBCS120MRLEP—1E,
[ ! ] The thread part of ZBCS120 has no slot.

Type+NO.

ZBCS20

ZBCS20 ZBCS50 / ZBCS120
h1 h2 h2
5.11 Bl 15 B
2
=M 1.5 &
w m . -
o e B =
\\u AL ; 1.0 5@
¢ TIe X8
= 8
M Ol,
® 3 : 7
.\ \'
A
® @
3 RXTERZ=R ( Materials )
#EMaterial
B N . .
Type OFEHK Q%K (OEZN @EIEK
Main Ball Shell Main Body | Sub Ball
ZBCS SuJ2 SUM SCM415 SuJ2
SRR (Specifications)
EiztPart Number b b1 4 B hi h2 F1 M s, | Witd/Lload
Type NO. Waste discharge hole N(kgf)
20 24 21 15.875 4.5 20.5 12 4 M6 343(35)
3] 3]
ZBCS 50 30 27 19.05 6 26 20 5 M8 :It:il 588(60)
120 42 36 254 8 36 20 6.5 M10 1470(150)




y

» TRHEHF LB MBS R AR
= Cutting male thread mounting type with garbage discharge hole

si=edi] ] BZ Type+NO. Part Number Type+NO.

fian Z BCBH20 order Z BCBH20

[ 1] ZBCBHEE L TRV S,

[ 1] ZBCBH can be used in both up and down directions as well as horizontally.

ZBCBH20 ZBCBH50 / ZBCBH120
— ~
= =
Q Q
i h h2 =
=
) F1 B o
Q
ht h2 8] o)
(@)]
F1 et o
B d w Neol
] 0 = =
: = Sl 3
4 i © adk G
5 §  of (S -l -
al -+ %5 — 2| f
T 3 \_ o|;
2 é 3) (4
1 R¥IERZE ( Materials )
#EMaterial
BE - . —
Type @FEK @7k Q@FEK @aIEK
Main Ball Shell Main Body | Sub Ball
ZBCBH SuJ2 SUM SCM415 SuJ2
SRR (Specifications)
BIx{Part Number N .
D D1 d B h1 h2 F1 M z fuifkig, | W5YLoad
Type NO. Waste discharge hole N(kgf)
20 24 21 15.875 45 20.5 10 4 M8 3.5 343(35)
LEEY
ZBCBH 50 30 27 19.05 6 26 10 5 M8 3.5 Ministry of thread 588(60)
120 42 36 25.4 8 36 20 6.5 M10 5 1470(150)




Stopper Screw

= e Bk

RN e
_..-a;,:ﬂ:sti:s

ZHENGCHEN HARDWARE



|}

(it

il |

LT EETTTET T

LR

“'.

» N REELLRsL
m Hex Socket Set Screws
BSf | B Type+M-L Part Number Type+M-L
fan ZSBPP3-6 order ZSBPP3-6
A EIEESER ( Materials )
1242 Screw HrStopper
BS
Type HE EmEgE I e e
Material Surface Treatment Material Coller Hardness
ZSBPP SCM435 &ZEBlack Oxide BR4EEEPolyacetal B&White /
ZSBCP SCM435 & ®Black Oxide EifBrass / /
ZSBCT SCM435 &EBlack Oxide B2&BEUrethane HBlack BjEShore A70
ZSBPPS SUS304 / BRYEEEPolyacetal BH&White /
ZSBCPS SUS304 / ffBrass / /
ZSBCTS SUS304 / B&EEUrethane =&Black B EGShore A70
SHFIERFE (Specifications)
Bz{Part Number
o] S d B C
Type M L
3 5 8 10 12 16 20 05 (15| 15| 2
Ry M S ZSBPP 4 6 10 12 16 20 1 2 2 2.5
LI ZSBCP
= 5 8 10 12 16 20 25 1 3 2.5 3
ZSBCT
ZSBPPS 6 8 10 12 16 20 25 30 40 50 1 4 3 3.5
zsBcps | 8 |10 12 16 20 25 30 40 50 60| 2 [ 6 | 4 | 5
ZSBCTS 10 | 12 16 20 25 30 40 50 60 80 2 8 5 6
12 16 20 25 30 40 50 60 80 100| 2 10 6 8
» 7FARLLERiReL
m Socket Head Cap Screws with Soft Point
BISsefl | B Type+M-L Part Number Type+M-L
BN ZCBPP3-10 order ZCBPP3-10
#2EIEBE ( Materials )
1242 Screw PtrStopper
BE
Type R HEIIE IR e
Material Surface Treatment Material Coller
ZCBPP SCM435 A& EBlack Oxide BR4aEzPolyacetal HaWhite
ZCBCP SCM435 K =EBlack Oxide #ifBrass /
e [ ZCBPPS SUS304 / BRYEEEPolyacetal H&White
] o ZCBCPS SUS304 / Eé@Brass /
‘\
: SHEBZE (Specifications
(e) "M |S i ’
ey Biz{Part Number
L A E S d B (e)
- o Type M L
3 10 15 20 55| 3 | 05| 15| 25| 05
ZCBPP [ 4 [ 10 15 20 74| 1| 2] 3|06
ZCBCP
ZCBPPS 5 15 20 30 8.5 5 1 3 4 0.6
7CBCPS | 6 15 20 30 06| 1] 4| 5]07
8 20 30 40 13 8 2 6 6 1




n E3L1EANiZe
! m Socket stop bolt
= BEgE | # Type+M-L Part Number Type+M-L
T‘_j’ fign ZUSS4-10 order ZUSS4-10
— . B m_
— i _‘t_'_ }_”:'i_!j{_.r’stopper
- N
~ (]
p—
1 =
B1
AEXIEBIR ( Materials )
#242Screw $iRStopper 7NFRIZIEHex Nut
BE
Type (%153 BE FEAE TR B HE R FERE
Material Strength Class Surface Treatment Material Coller Hardness | Material Surface Treatment
ZUss SCM435 10.9 ft¥Trivalent Chromate | BR&Fg s EECA90 SS400 | $E$¥Trivalent Chromate
ZUSUS SUS304 / / Urethane Black Shore A90 [ suUsS304 /
ZPUSS SCM435 10.9 #B5¥Trivalent Chromate BRymERs == / SS400 {2 Trivalent Chromate
ZSPUS SUS304 / / Polyacetal | ~ White SUS304 /
SEFIERZE (Specifications)
Bzt Part Number
1| d| E|d|t]|B|B|]©]|m
Type M L
4 10 15 20 25 30 35 45| 16 | 31 | 21 3 7 2 81| 24
ZUSS 5 10 15 20 25 30 35 40 45 2.2 4 2.6 3 8 25192 3.2
ZUSUS 6 15 20 25 30 35 40 45 50 60 (45| 26 | 438 3 3 10 3 [115( 36
ZPUSS 8 |25 30 35 40 45 50 60 5551|6555 4 | 13| 4|15
ZSPUS M10[ 30 35 40 45 50 60 70 55| 6983|734 | 17| 5 |196
12 30 40 50 60 70 6 8 10 | 86 | 45 | 19 6 |219
- » ML AESLLERNIZR
& 3 m Stopper Bolts with Bumpers--Hexagon Socket Head Cap Screw
: = ;_‘ Bl | B Type+ M-L Part Number Type + M - L
= BN ZUUSCB4-10 order ZUUSCB4-10
——
= =3 B m_
- gﬂ — X #8stopper
| (— /
.‘#ﬁ ........ [
§ :==—-'! 1 1] ‘_I
= -‘-=-l" T S e e e o Ry o i o
g A S R W) I T U A R | I I SRR | S— _T ]
a1 1 3 %
B L/ M |21
E L 0.5
#1RITERSR ( Materials )
1242 Screw PithStopper 7N FEIRIEHex Nut
BE
Type R %54 2] B R
Material Material Coller Hardness Material
ZUUSCB SUS304 | ER&EgUrethane B|Black B EGShore A90 SUS304
ZPSCB SUS304 | ER4&EEPolyacetal H&EWhite / SUS304
SEIVIEBFE (Specifications)
Biz{Part Number
A E H B (©) | BL | d1 d 11 t m
Type M L
4 10 12 15 20 7 4 31 8.1 3 21| 16| 45 3 2.4
5 12 15 20 25| 85 5 4 9.2 4 26| 22| 45 3 3.2
ZUUSCB
ZPSCB 6 15 20 25 30 10 6 48 | 10 [ 115 5 3 26 | 45 3 3.6
8 20 25 30 40 13 8 65 | 13 15 6 55| 51| 55 4 5
10 | 25 30 40 50 16 10 | 83 | 17 [196( 8 73 | 69 | 55 4 6




n SNRAIRR R ERiRe
= Stopper Bolts with Bumpers - Standard, Straight Shape
BIS=fl | 2 Type+M-L Part Number Type+M-L
flan ZUST3-16 order ZUST3-16

(@@

ZUST / ZSUST / ZLUST / ZPUST / ZPSST / ZUSTS / ZSSTS

ZUSTH / ZSUSTH / ZPUSTH / ZPSSTH

B t h m_ B t h m B
I o 1 -
< ‘ : a &) : ; =} (&)
2 & 2\ Uk
it — L J M ) — L M ' =
gtopper, stopper, ==
o/ | L = ani L B1
ZUSRT / ZSUSRT ZUSTRH / ZSUSRTH
B 1 h . B ’c1I h m_ B
9 = ][]
N N - N ,\
© (=] £ o \‘ )
s \
—
gk - ] M ﬁier
stappar,
H L H
A EIEEER (Materials )
BEType 128 Screw HiBRStopper NAIZIEHex Nut
pRgR PIARFLE
E St i
— — M = REL HE | me | @mE | HE L
! SREY ! SREY . Strength Surface . . Surface
Straight Straight Material Material Coller Hardness | Material
SR Shape SR Shape Class Treatment Treatment
Shape Shape
ZUST ZUSRT ZUSTH | ZUSRTH | SCM435 10.9 #ErGalvanized | ExEEY =217 2 EEA90 SS400 | $EFGalvanized
ZSUST | ZSUSRT | ZSUSTH | ZSUSRTH | SUS304 / / Urethane Black | Shore A90 | sus304 /
(EERmRER 4 e
ZLUST / / / SCM435 10.9 {#t%Galvanized |Low Repulsion RE FEEA70 SS400 | #E$rGalvanized
Urethane Gray Shore A70
ZPUST ZPUSTH SCM435 109 {EHrGalvanized | ExumRe B ; SS400 | $EFGalvanized
ZPSST ZPSSTH SUS304 / / Polyacetal [ White SUS304 /
N . TERAR ERE HEEA70 . )
ZUSTS / / / SCM435 10.9 #E¥Galvanized | 70 Light Gray | Shore A70 SS400 | #EHEGalvanized
FEIRAR EIKE HEGA70
P / / / Sl / / Silicon Light Gray | Shore A70 Sl /
SHEEZ (Specifications)
Bzt Part Number
D|B|l@©|H|h| t|t1|m]|vVv|[Bl]|SR
Type M L
ZuskT | 3 |16 20 25 30 35 40 3555|642 |07 |15| 2 18| /| /|35
zzsl:JSsTT ZSUSRT | 4 | 16 20 25 30 35 40 81|28 | 15| 15| 22|24]|22| 2| 5
sztust ZYSTH | 5 16 20 25 30 35 40 45 50 6 92 (35| 15| 15|23 |32|28]|25]| 6
ZPUST ;:3::: 6 |20 25 30 35 40 45 50 60 10115 4 | 2| 2 |26|36]| 3| 3| 8
ZPSST  _occTH | 8 | 20 25 30 35 40 45 50 60 10[13|15(55[ 2| 2|28[5]| 4] 4]10
ZUSRT
zssTs ZUSRTH | 10 | 20 25 30 35 40 45 50 60 70 | 13 | 17 [196 2 | 2|32 5 | 5|13
ZSUSRTH[ 15 [ 30 40 50 60 70 15 | 19 | 219 2 | 2|35 /| 7|15




» REEHESUEH
m Threaded Stop Pins with Urethane Cap
BISSRfI | 2 Type + B Part Number Type + B
f54n ZUSTEH5.5 order ZUSTEH5.5
HRIIERER ( Materials )
1242 Screw FiStopper
Toe wE | mE HEILE wE | me | mE
Material | Hardness Treatment Material Coller Hardness
o S "
ZUSTEH SCM435 | 46~50HRC Nickei?l%rating ufﬁfﬁe ZEfaBlack sEoErEeAigO
ZUSSTEH SUS304 / / ufﬁfﬁe ZBlack s?oErEeAAggo
B t... b SRR (Specifications)
B = BIF{Part Number
M| t h L| D (©
Type B
i 5.5 3 15 | 0.7 5 35| 64
4 15| 15 5 5 8.1
ol - G 5 |15|15( 6 | 6 |92
ZUSTEH 10 6 20| 2.0 6 115
%ﬁﬁﬁ‘ ZUSSTEH 13| 8 | 20| 20| 10| 10 | 15
urethane/ 14 8 | 20| 20| 10 | 10 |16.2
5i0.1 L 17 | 10 | 20 | 20 | 12 13 | 19.6
- - 19 | 12 | 20| 20| 15 | 15 | 219
u BREEN RN
m Stop Pins - Screw Type
Sl | B Type + B Part Number Type + B
Blgn ZSTEHNS5.5A order ZSTEHN5.5A
4
tAEXIERE ( Materials ) SEIARZER (Specifications)
- s - o SEFghbE Bzt Part Number T M . ©
Type Material | Hardness surface Type B
Treatment 55A| 3 [ 3 [ 5 |64
ZSTEHN SCM435 | 46~50HRC Nickeﬂlgﬁating >3 i i i :i
ZSSTEH SUS440C | 50~55HRC / > > 6 52
10 5 6.0 6 | 115
10B( 8 | 60| 9 |115
13 5 8.0 | 10 15
13A| 8 | 80| 10 | 15
ZSTEHN | 13B| 8 8 12 15
ZSSTEH | 14 | 5 8 | 10 [ 162
- 14A| 8 | 8 | 10 [162
14B| 8 8 12 | 16.2
17 5 10 12 | 19.6
17A| 8 10 12 | 19.6
17B| 8 10 15 [ 19.6
19 5 12 15 | 21.9
19A( 8 12 15 [ 21.9
19B| 8 12 18 | 21.9




» BREILEFNH
m Stop Pins - Spherical Type
BISSEf | 2= Type + B Part Number Type + B
fan ZBSTEHS5.5 order ZBSTEHS5.5
A EYIERE ( Materials )
b
e HIE G REAE
BEType . Surface
Material | Hardness
Treatment
R
ZBSTEH SCM435 | 46~50HRC Nickel Plating
ZSBTEH SUS440C | 55~50HRC /
SHTEER (Specifications)
Bzt Part Number
H M L ©) T SR
Type B
i 55| 5| 3| 5 |64(43]|75
O == = 5 4 5 8.1 4 8.5
s 5 5 6 | 92| 39] 10
/ 10 8 6 6 |115] 65| 12
\\\ 10B| 8 | 60| 9 [115( 65| 12
ZBSTEH
\\ M ZSBTEH 13 8 [80 (| 10| 15| 61| 16
: 14 8 80| 10 |16.2| 6.1 | 18
H+§ 1 L 14B| 8 80| 12 |16.2] 6.1 | 18
) 17 | 10 | 10 | 12 (196 7.7 | 22
19 10 12 15 (219 75| 25
19B| 10 | 12 | 18 (219 75| 25
m Press-Fit Stop Pins
BISsefl | Bs Type+D-d Part Number Type+D-d
fian ZSTMH5-3 order ZSTMH5-3
2RI EBFE ( Materials ) SH3IRRE (Specifications)
5! BIs{Part Number
me HE e HEALE dmé6 L|T
. Surface Type D
Type Material | Hardness
Treatment 5 5 5
+0.008
5A 3 7 5
ZSTMH S45C 46~50HRC . iR . +0.002
Nickel Plating 5B 5 3
ZSSTMH | SUS440C | 50~55HRC / 6 o >
~ +0.012
6A ] 4| Lo00s | 2| °
6B 6 3
(odEdp 8 8 | 5
Slight chamfarmga 3A 5 +0.012 12 5
'\ 01 +0.004
Momadd 8B 8 3
/
v ZSTMH | 10 0.012 5
/ ZSSTMH +0.
, / 10A| 6 +0.004 12 5
10B 8 3
0
e e || 12 10 5
: 12A 8 +0.015 15 5
k 16 +0.006 | 10 | 5
16A 15 5
! 18| o | +0015 | 12] 5
D T+~0 0 L 18A +0.006 18 5
=0 20 1 | +0018 16 | 5
20A +0.007 24 5




n EREEEENRIFHE
m Press-Fit Stop Pins with Urethane Cap

BISSEf | 2= Type + D Part Number Type + D
fan ZUSTMH5 order ZUSTMH5
3 RYIAEZE ( Materials )
SEENE $thStopper
ne %154 TR
Type Material | Hardness surface Mﬁ. B R
Treatment Material Coller Hardness
i R BE B A0
ZUSTMH | SCM435 | 46~50HRC Nickel Plating | Urethane Black Shore A90
=i 212) HECA90
ZUSSTMH | SUS440C [ 50~55HRC / Urethane Black Shore A90
d 1 A .t h SEIERFE (Specifications)
2 . Slight chamfering B Part Number &R\ A
o1 dmé6 t h L d1l o
" ; Type D Collar for Press-Fitting
i\
+0.008
i — f / 5 3 +0.002 15| 0.7 5 3 NCLB3-6-10
| ' 0 6 4 15| 15 NCLB4-8-10
%' £ +0.012
© 5 +0.004 15| 15 NCLB5-10-10
ZUSTMH :
— - -
vl ZUSSTMH 10 6 20 | 20 NCLB8-12-10
P 12| 8 +0015 | 20| 20| 10 | 10 NCLB10-16-10
Urethane / 16 | 8 +0.006 (20 (20 | 10 | 12 NCLB10-20-10
D 5 L 18 | 10 | 40018 |20 |20 | 12 | 13 NCLB12-20-10
+0.1
20 | 12| +0.007 | 20| 20| 16 | 15 NCLB16-20-10
» R ELEH
= Knurled Knobs with Tip Pad
Bsxfl | X Type+M-L Part Number Type + M- L
BN ZNOOSP3-6 order ZNOOSP3-6
.i J
“"'H' { |1J,
5t Wi ",.L,j 1
HAREXIEBZR ( Materials )
F{KBody HePad
S
Type & SRR W& s
Material Surface Treatment Material Coller
D A L BigtE mem | oe
J 21 ZNOOSP | 5US303 Brushed Finish Polyacetal |  White
. e 1 wf¥ea
— REMLE iR
/ ZNoosc SUS303 Brushed Finish Brass /
L 1 I SHVIERFE (Specifications)
—
i 3 | B Part Number
s - AlD|d|t|a
Type M L
3 10 25| 12 | 15 1 0.5
4 10 16 35| 16 2 12 1
ZNOOSP 5 10 16 20 4 20 3 14 1
ZNOOSC | 6 |10 16 20 25 30| 5 | 24| 4 |15] 1
8 16 20 25 30 6 30 6 2 2
10 | 20 25 30 40 8 36 8 2.5 2




n SERRNATLE MCERLEShIEE
m Stopper Screws - Head Hexagon Socket, MC Nylon
BSf | B Type+ M- L Part Number Type + M- L
flan ZUNAHM4-10 order ZUNAHM4-10
HEIERE ( Materials )
128 Screw $HhStopper NAIZIEHex Nut
BS B RERLEE RELE
Type ME. Strength Surface Mﬁ. e Mﬁ. Surface
Material Material Coller Material
Class Treatment Treatment
e MCet meE i
ZUNAHM | SCM435 88 Galvanized MC Nylon Blue 55400 Galvanized
i —
stopper EEME/nut SEFIERZR (Specifications)
Bz{Part Number
X M/ L al t | D|d]|B|H]|m
\ f Type M L
4 10 15 20 25 30 3 10 | 24| 2 7 | 24
5 15 20 25 30 40 4 12 3 25 32
6 15 20 25 30 40 50 4 15 | 35 3 10 | 3.6
ZUNAHM | 8 25 30 40 50 5 20 | 47| 4 13 5
10 ( 30 40 50 5 25 5 15 6
12 ( 30 40 50 6 30 6 18 7
16 | 30 40 50 6 40 | 9.5 8 22 | 10
» BRI AFLERAEE LERhigie
m Compacted Indexing Plungers-Return Type
BISfl | 205 Type+M-L Part Number Type+M-L
BN ZUNBH3-10 order ZUNBH3-10
4
1 -M-
o
= = £ M _g;
stopper, H1io.4 L
#AEIEBE ( Materials )
1242 Stopper PithStopper 7NAIRIEhex Nut
WS Type HE | e FEAE HE e e HE EmiE
Material Clasgs Surface Treatment Material Coller Hardness | Material Surface Treatment
e REEs EE HEEA90 e
ZUNBH SR ED S Trivalent Chromate Urethane Black Shore A90 Sy Trivalent Chromate
e Ras %E HECA70 e
ZUNBHH SCM435 10.9 Trivalent Chromate Urethane Blue Shore A70 55400 Trivalent Chromate
SEIERFE (Specifications)
Bz Part Number
tl D Bl | H1 2 m 1
Type M L
3 10 15 4 | 75 14 £247Full Thread 18 | 1.8
4 10 15 20 25 30 4 10 14 £124%Full Thread 24 | 2.2
ZUNBH 5 15 20 25 30 40 5 [125] 25| 15 £IR47Full Thread 32| 28
ZUNBHH | 6 [ 15 20 25 30 40 50| 5 | 15 15 2124gFull Thread 3.6
8 25 30 40 50 60 6 20 4 16 £IR47Full Thread 4
10 (| 30 40 50 60 70 6 25 16 £1247Full Thread 6




w AR LB SRS LEaighe
m Stopper Bolts with Bumpers - Hexagon Socket Head
BISSEf | 2 Type + M- L Part Number Type + M- L
fuan ZUNAH3-10 order ZUNAH3-10

[ ! EREBDIEEER) , ARNAfER.

[ ! 1There is a slight burr on the block, which does not affect the use
[ ! ISLUNARER()WBILR T,

[ ! ]L sizes in () are not available for SLUNA.

[ ! T RISHILR IR ()RR,

[ ! 1Check £ dimension (thread length) for *marked L dimension is in ().

R
ﬂ stopper
g I M
| I\-. ll,."f f.r
/
—_
ZUNAH {
B _ ZSLUNA  Huoa L |
+A[EXIERR ( Materials )
BEH2Screw $iRStopper 7NAiRlEHex Nut
S B .
Type HE | e HEAIE IR e e MR FESE
Material Clai Surface Treatment Material Coller Hardness | Material Surface Treatment
i REE EE HECA90 e
ZUNAH SR L0 Trivalent Chromate Urethane Black shore A90 =2l Trivalent Chromate
e Rabs =) HEECA70 522
ZUNAHH SCM435 109 Trivalent Chromate Urethane Blue shore A70 55400 Trivalent Chromate
RERERRES o
ZSLUNA SUS304 / / Low Repulsion x& FEGA70 SUS304 /
Gray shore A70
Urethane
SEIERZE (Specifications)
Bzt Part Number
t D A d B H { m
Type M L
3 10 15 3 75| 55| 33| 25 6 £t247Full Thread 1.8
4 10 15 20 *(25) *(30) 3 10 7 4.2 3 7 £4847Full Thread/(22) 2.4
5 10 15 20 25 *(30) *(40) 4 |125| 85| 55 4 9 £827Full Thread/(24) 3.2
ZUNAH 6 10 15 20 25 30 *40 *(50) 4 15 10 6 5 10 £4847Full Thread/(26) 36
ZSLUNA 8 10 15 20 25 30 *40 *50 *(60) 5 20 13 | 73 6 13 £t247Full Thread/(30) 5
10 | 10 15 20 25 30 40 *50 *(60) *(70)| 5 25 16 10 8 15 £847Full Thread/(34) 6
12 15 20 25 30 40 6 30 18 13 10 18 £tR47Full Thread 7
16 | 20 25 30 40 6 40 24 17 14 22 £847Full Thread 10
SEFEBFE (Specifications)
B Part Number
t D A d B H L m
Type M L
3 10 15 3 75| 55| 33| 25 £4247Full Thread 1.8
4 10 15 20 *25 *30 3 10 7 4.2 3 £H847Full Thread/(22) 24
ZUNAHH 5 15 20 25 *30 *40 4 |1125| 85| 55 4 L424Full Thread/(24) 3.2
6 15 20 25 30 *40 *50 4 15 10 6 5 10 L424Full Thread/(26) 3.6
8 25 30 *40 *50 *60 5 20 13173 6 13 £R47Full Thread(30)
10 ( 30 40 *50 *60 *70 5 25 | 16 | 10 8 15 21247Full Thread/(34) 6




» RIS IR L IRE

m Hex socket head cap screws with low elastic rubber head

BISsEfl | 2 Type+ M-L Part Number Type + M- L
fusn ZUNSTH4-10 order ZUNSTH4-10
[!] B RFEHLRITBCAO)RNRYT
[ '] L dimension for *marked L dimension is in ().
45 /Stopper M
7* (
w T—p— /
s e
+ B2
D c ..... e R = S e T ottt Ty e | [
I
1 |
B Wt E|  m
. d | B L { )
L
A EIERR ( Materials )
1242 Screw $RStopper 12 Nut
BS
Type %154 1R e HE L7154
Material Material Coller Hardness | Material
(R (HANENAITO®RGP-60L) 2 BEGAS7
AN LR Low Elastic Rubber(Hanenaito® RGP-60L) Black Shore A57 SLEEL
SEIEBZE (Specifications)
1)
B Part Number N figask (kgf-cm)
L t C D d B H E . Shock Absorption [ m 4
Type M Withstand Load Amount
4 10 15 20 *30 42 | 11 7 5 3 8.2 4 0.055 24 3.2 [£t8%Full Thread (22)
5 15 20 45 13 | 85 7 4 9.5 5 0.072 3 4 £4247Full Thread
ZUNSTH 6 15 20 25 30 *40 5 18 10 8 5 11 6 0.197 7.4 £4247Full Thread (26 )
8 25 30 571 20 13 9 6 |13.7] 8 0.272 8.8 6.5 £4247Full Thread
10 30 40 *50 56 [ 25 16 12 8 |156]| 10 0.444 14.4 8 |&#BFull Thread (34 )




» RSB

m Bolts with low elastic rubber head

BIS=fl | 2 Type+M-L Part Number Type+M-L
fan ZUNST3-10 order ZUNST3-10
1418 /Stopper M
LAl ey il
[ \ — .-’f
g ( /
o ) L —
+l . \‘_: _// \
[am] - Q - AN ‘( 7 }
\ i
= . = Nl
A
. B re/| L | E Q) m 5 w
A EIERR ( Materials )
1242 Screw $RStopper 12 Nut
BS
Type %153 R =) HE R
Material Material Coller Hardness | Material
(R (HANENAITO®RGP-60L) 2212) BEGAS7
ZUNST LR Low Elastic Rubber(Hanenaito® RGP-60L) Black Shore A57 SLEEL
SEFEBE (Specifications)
B Part Number v - . sthe] =
= L ¢ clolsln E fiffdi(kgfcm) R k) |
Type M Shock Absorption Amount | Withstand Load
3 10 15 20 4 8 |6.15| 5.5 6 2 2.2 0.045 18 2
4 10 15 20 30| 42| 10| 7.7 7 7 2.8 34 0.069 24
5 20 30 40 45| 12 [ 88| 8 8 | 35 5.4 0.112 32| 4
ZUNST
6 20 30 40 50 ( 15 (111 10 9 4 94 0.207 36 | 45
8 30 40 50 57 ( 18 (144 13 11 | 53 14.2 0.35 5 6.5
10 | 30 40 50 5.6 21 [ 17.8| 16 12 | 64 234 0.517 6 8




w /NBUEHEEIESR
= Small Spring Clamps

BISsrfl | B Type+D-tagns Part Number | Type+D-Load Category
a0 ZSPCPS20-S order ZSPCPS20-S
TEk360°
Select360°

2-¢3.5

¢ 6. SMFLARES. 2
$ 6.55inking hole
.. depth 3.2

13
22
30

— 15
z T
’ | i
L o
i ~
I~
™~
t
I~
L
4 L | 7.5
#2EAIEBE ( Materials )
F{KkMain Body BEESpring
Bs
Type W& HELE IR
Material Surface Treatment Material
ZSPCPS S45C %EE,'%’;%@E%,% SWP-A
Nickel
SHIFEER (Specifications)
55t FEZHN/Clamp Force (N )
Part Numb P — ,
art Number S (#2#;/Light Load ) H ( E#k/Heavy Load )
Load Category
Type L min. max. min. max.
20 | S(##/Light Load ) 2.0 2.6 3.0 3.6
ZSPCPS
30 | H (E&k/Heavy Load ) 2.0 2.6 3.0 3.6




IR 5 S Th

SMaJlag |e1dads

—
-
.
—
.
.
~
.,
=
T
-

ZHENGCHEN HARDWARE



w ESLPN IR

m Low Head Cap Screws

=gl BT Type+M-L Part Number Type+M-L
fan ZCBS4-8 order ZCBS4-8

A EXIERE (Materials)

18 Screw
s -
Type MR BESE BE REALE
Material Strength Class Hardness Surface Treatment
BR
ZCBS SCM435 10.9 32~39HRC Black Oxide
ZCBSST SUS304 A2-50 / /
SEIIEBZE (Specifications)
Bzt Part Number t r
A E B . 4
Type M L max. | min.
2 4 5 6 38113 13| 1 |01 24245/Fully Threaded
25| 4 5 6 8 10 45|16 | 15] 13|01 24247/Fully Threaded
3 6 8 10 12 16 *20 55| 2 2 | 15] 01 £1847Fully Threaded/12
4 6 8 10 12 16 20 25 7 | 28| 25] 23|02 21247Fully Threaded/12
Zf:(;g:T 5 8 10 12 16 20 25 *30 85([35]| 3 | 27|02 £1847Fully Threaded/16
6 8 10 12 16 20 25 *30 *35 *40 *45| 10 | 4 4 3 [0.25 £1847Fully Threaded/18
8 |10 12 16 20 25 30 *35 *40 *45 *50( 13 5 5 ]3804 £1847Fully Threaded/22
10 ( 16 20 25 30 35 40 *45 *50 16| 6 6 | 45| 04 21247Fully Threaded/32
12 | 20 25 30 35 40 45 *50 18 7 8 5 |06 £184Fully Threaded/30




» BRI

m Extra Low Head Cap Screws

L=l B Type+M-L Part Number Type+M-L
N ZCBSS4-8 order ZCBSS4-8
— 13 E¥IERZR (Materials)
*JE‘ ) 12#2Screw
=7 7 Fial=Y
— g, Type MR BESE T FmEaE
ig“, . ‘ Material Strength Class | Hardness Surface Treatment
— < . N
=3 L & ZCBSS | SCMA435 10.9 32~39HRC % EBlack Oxide
T ZCBSM | SCM435 10.9 32~39HRC|  #Ef¥Trivalent Chromate
ZCBSR SCM435 10.9 32~39HRC| #E=Ef&Black Chrome Plating
ZCBSTS | SuUS304 / / /
't ST (Specifications)
Bix{Part Number A 8 . t r (e)
M Type M L max. [ min. [ max.
_ 3 4 5 6
2 4 13 11 ] 12 / 1.2
8 10 12
””” B 1 5 | 13| 13]15]% ] 15
< [ : 18 10 12 T T 0] ¢
e 4 5 6 8
3 6 1.5 I 2 e 1.6
10 12 14 16 (1.5) 0.2)
— 5 6 8 10 12
ZCBSS | 4 8 | 2 1525|0216
e ZCBSM 14 16 18 20
] - ZCBSR 5 6 8 10 12 14 9 3 15 3 0.2 2
E L ZCBSTS 16 18 20 25 ‘ ‘
6 8 10 12 14
—— 6 10 3 15 4 0.25 2.5
16 18 20 25 30 (0.2)
[!] ZCBSTSHORAIRT 6 8 10 12 14 0.4
8 13 4 15 5 3
[ '] ZCBSTS is the size within () 16 18 20 25 30 (0.2)
10 12 14 16
10 16 5 15 6 0.4 3.5
18 20 25 30 (15) 0.2)
n EEENE LRI
- m Ultra Low Head Hexagon Socket Cap Screws
:E".g sl AU Type+M-L Part Number Type+M-L
% filgn ZCBSTSR4-8 order ZCBSTSR4-8

#1EXIERZE (Materials)

20

-

SHFIERE (Specifications)

18 Screw B Part Number t r

ne A B E (e) .
Type MR Type M L max. min.
Material 2 3 4 5 10 12 4 [127] 05| 12|12 01
ZCBSTSR SUS304 25| 3 4 5 10 5 (127/ 06| 15| 12| 01
3 4 5 6 10 12 14 16 6 |15 08| 2 | 14|01

ZCBSTSR

4 5 6 8 10 12 14 16 18 20 25| 8 2 o9 f25|15] 02
5 6 8 10 12 14 16 18 20 25 9 | 25| 1 3 [ 18|02
6 6 8 10 12 14 16 18 20 25 10| 3 [12] 4 |22]025




n ISIEFLENEEG LIRS

m Ultra Low Head Screws
= s BT Type+M-L Part Number Type+M-L
N ZCBSTSE4-8 order ZCBSTSE4-8

20%4n 0
Rt 40 M C1. OMax.
The depth of t | M2/M2.5

#1R3FEBER (Materials) SHIARFE (Specifications)

#242Screw Bix{Part Number A . BEES t r

Bs Hexalobular Socket | min. | max
Type Mﬁ. Type M L . .
Material 2 3 4 10 12 4 | 05 4 12 | 03

ZCBSTSE SUS304 25 3 4 5 6 8 10 12 6 0.6 5 15 ] 03
3 5 6 8 10 12 16 7 0.8 6 2 04

ZCBSTSE

4 6 8 10 12 16 20 25 8 0.9 8 25| 05

5 8 10 12 16 20 25 30 9 1.0 10 3 0.6

6 8 10 12 16 20 25 30 35 40 12 | 1.2 20 4 0.7

» EBIEELIN N FRIZE

m Extra Low Hex Head Screws

LSS AU Type+M-L Part Number Type+M-L
f5ugn ZRSCBT4-8 order ZRSCBT4-8

E L

E— —
e — .l —

#1388 (Materials) SEIFIIRE (Specifications)

122 Screw BIF{Part Number
e A E
Type 154 Type M L
Material 4 10 12 16 20 25 30| 7 | 15
ZRSCBT SUS304 5 8 10 12 16 20 25 30 8 2.0
ZRSCBT

6 10 12 16 20 25 30 10 | 2.0
8 16 20 25 30 13 | 20




LRNESS

m Low Profile Cap Screws - Small Head

ZKBB3-8

LO=SS M BT Type+M-L
Bugn

ZSBB / ZSBBSS

583k BY)VZE242/Low Small Head Cap Screws

ZKBB / ZKBBS

hRLiE4e/Small Head Cap Screws

--n

Part Number Type+M-L
order ZKBB3-8

co.2 \M

L

co.2 M

m
—
r

#BEsk)viEskiZi2/Extra Low Small Head Cap Screws
ZCBBTB / ZCBBTN / ZCBBTS

Vs

T E¥IERSR (Materials)
1242 Screw
8BS
Type W& E EEINE BEH%
Material | Hardness Surface Treatment Strength Class
Vi ZSBB | SCM435 |22~32HRC|  #%&®Black Oxide 8.8
small head cap screws ZSBBSS | SUS304 / / A2-50
SESLBYVRIZES ZKBB SCM435 | 22~32HRC A& 2EBlack Oxide 8.8
Low small head cap screws ZKBBS SUS304 / / A2-50
$BIESLEYVRIER ZCBBTB SCM435 | 22~32HRC A& 2Black Oxide 124£10.9
Extra Low Small Head Cap | ZCBBTN | SCM435 |22~32HRC| ##&Nickel Plating Screw 10.9
Screws ZCBBTS | SUS304 / / A2-50
S#FJEBZE (Specifications)
szt INMEBY Gk MEE sk vER
* Small Head Cap | Low Small Head | Extra Low Small Head
Part Number A
Screws Cap Screws Cap Screws
Type M L E2 B2 | T2 El Bl t1l E3 B3 t3(max)
2 3 4 5 6 3 / / / 11 | 1.27 1.2
25| 3 4 5 6 38| / / / | 13| 127 15
ZKBB
3 5 6 8 10 4.5 3 25 [ 15 2 15| 15| 15 2
ZKBBS
zsB | 4| 6 8 10 12 16 20 (55| 4 | 3| 2 [28]|25] 2 |15] 2 2.5
ZSBBSS 5 8 10 12 16 20 7 5 4 25| 35 3 25| 15 3 3
ZCBBTB | 6 | 8 10 12 16 20 25 (85| 6 | 5 | 3 | 4| 4| 3 |15] 3 4
ZCBBTN
ZCBBTS 8 10 12 16 20 25 30 | 10 8 6 4 5 5 4 15 4 5
10| 16 20 25 30 35 13 10 8 5 6 6 45 | 15 5 6
12 | 20 25 30 16 | 12 10 5 7 8 5 / / /




n BB IR
m Socket Head Cap Screws - Hollow

= s BT Type+M-L Part Number Type+M-L
Buan ZCBAS3-8 order ZCBAS3-8

A RXTERZR (Materials) SEXIARE (Specifications)

1242 Screw Bz{,Part Number
A= A|E]|B]|d
Type MR BEHZK Type | M L
Material Strength Class 3 6 10 12 16 55 3 25| 1.2
ZCBAS SUS304 A2-50 4 6 10 12 16 20 7 4.0 3 15
5 8 10 12 16 20 25 85| 5.0 4 15
ZCBAS
6 8 10 12 16 20 25 30 10 6 5 2
8 12 16 20 25 30 13 6 2
10 | 16 20 25 30 16 10 8 2
» LBV EEET AR
m Set Screws - Hollow, Fully Threaded
L= AU Type + M- L Part Number Type + M- L
N ZMCBAS3-8 order ZMCBAS3-8
| /
N ] |1
©) S o et | ©
W) T |
X L ___y T
\-T_/
B L
—— ———— —} P—
A [EXIEBZR (Materials) SRR (Specifications)
1242 Screw Bzt Part Number
=" B t d
Type MR BESSE Type M L
Material Strength Class 8 10 16 15 07| 1.2
ZMCBAS | SUS304 A2-50 12 16 20 25| 2 |22] 15

16 20 25 30 3 3 2
20 25 30 35 4 4 2

3
4
ZMCBAS 5 16 20 25 30| 25| 28| 15
6
8




w S ENETLIRE

m Low Head Cap Screws - Hollow

= s BT Type+M-L Part Number Type+M-L
Buan ZCBAST3-8 order ZCBAST3-8

12 EXIERFR (Materials) SHIARE (Specifications)

1242 Screw Bz{Part Number

s A E B d

Type MR BEHY Type | M L
Material Strength Class 3 10 12 16 55 2 2 1.2
ZCBAST SUS304 A2-50 4 10 12 16 20 7 |28 (25| 15

ZCBAST
5 10 12 16 20 25 85 | 3.5 3 15
6 10 12 16 20 30 10 4 4 2
» BB BRI

m Extra Low Head Cap Screws - Hollow

LSS AU Type+M-L Part Number Type+M-L
Buan ZCBASG3-8 order ZCBASG3-8

A
d

A RXIERZR (Materials) SH3IARZE (Specifications)

18 Screw B Part Number
e A E B d
Type R EEH% Type | M L
Material Strength Class 3 10 12 6 13| 15| 12
ZCBASG SUS304 A2-50 4 10 12 16| 8 | 15| 2 [ 15
ZCBASG

5 10 12 16 20 9 |15 3 [ 15

6 |10 12 16 20 30| 10 | 15| 3 2




n SNNFRIBFLEYRE

m Hex Head Screws - Hollow

= s BT Type+M-L Part Number Type+M-L
Buan ZRCBAS3-8 order ZRCBAS3-8

ffffffff 4

T

#1RITEEER (Materials) SHIARE (Specifications)

242 Screw B3t Part Number

I A E d

Type R BEHHK Type | M L
Material Strength Class 3 6 10 12 16 55 2 1.2
ZRCBAS SUS304 A2-50 4 6 10 12 16 20 7 28 | 1.5
ZRCBAS 5 8 10 12 16 20 25 8 35 2
6 8 10 12 16 20 25 30| 10 4 2
8 16 20 25 30 13 | 55 2

» SRR AR

m Cover Bolts - Socket Head Cap

Ea=sd I AU Type+M--L CEVG TSI 70t Type+M-£-L
fign ZGUTB3-2-6 order ZGUTB3-2-6
ro. 3 M

0
-0.3

A
d

{1 EXIEBZER (Materials) SHFIIRFR (Specifications)

12t Screw BIx{Part Number
RS A| E|B] d
Type R BEDH Type M|t L
Material | Strength Class 2 |25 4 6 8 10 12 16|38 2 [15] 15
ZGUTB | SUS304 A2-50 2.5 6 8 10 12 16 45| 25| 2 | 18
3| 2|4 6 8 10 12 16 |55| 3 |25] 22
3|35/ 6 8 10 12 16 55| 3 | 25| 22
3| 4|8 10 12 16 20 55| 3 | 25| 22
4 3|6 8 10 12 16 4 (3| 3
ZGUTB | 4 | 5 [ 10 12 16 20 4 [ 3| 3
5| 3|8 10 12 16 20 85| 5 | 4 | 39
5| 6 [12 16 20 25 85| 5 | 4 |39
6 | 4| 8 10 12 16 20 10| 6 | 5|45
6 | 8|12 16 20 25 30 10| 6 | 5|45
8 | 5|10 12 16 20 13| 8| 6 |63
8 (10|12 16 20 25 30 40| 13| 8 | 6 | 63




» SEHRIRIIE LAY

m Cover Bolts - Low Head
L=l BT Type+M-{-L CET AN TT A U5 Type+M-£-L
Buan ZGUTBT3-2-6 order ZGUTBT3-2-6

ro. 3 M

M
/ < ﬁv

/
#1R3FEEER (Materials) SEXIARE (Specifications)

122 Screw Biz{Part Number t
Figl=] A E B d
Type W& BES% Type | M| ¢ L max.
Material Strength Class 3 2 6 10 12 55 2 2 22| 15
ZGUTBT SUS304 A2-50 3 [35] 6 10 12 16 55| 2 2 [ 22| 15
3 4 8 10 12 16 55| 2 2 [ 22| 15
4 3 6 8 10 12 16 7 | 28| 25 3123
4 5 10 12 16 20 7 | 28| 25 3 123
ZGUTBT 5 3 8 10 12 16 20 85| 35| 3 | 39|27
5 6 12 16 20 25 85| 35| 3 | 39| 27
6 4 8 10 12 16 20 10 4 4 |45 3
6 8 12 16 20 25 30 10 4 4 | 45| 3
8 5 10 12 16 20 13 5 5 ]163] 38
8 10 | 12 16 20 25 30 40 | 13 5 5 | 63] 38

» EiREEEEE A

m Cover Bolts - Extra Low Head

— P =
L= U Type+M-i-L CEVG TP 70t Type+M-£-L
‘I Bl4n ZGUTBG3-2-6 order ZGUTBG3-2-6

£
M
A

——

A EXIEBZER (Materials) SRR (Specifications)

12#2Screw Bz{Part Number t
e Al E]| B
Type HR BEDHE Type M| ¢ L max.
Material Strength Class 3 2 5 8 10 6 | 13| 15| 22| 2
ZGUTBG | SUS304 A2-50 3 135 6 10 6 | 13|15 22| 2
3 4 8 10 6 13| 15| 22 2
4 3 6 8 10 12 8 15 2 3 2.5
4 5 10 12 8 1.5 2 3 2.5
ZGUTBG 5 3 8 10 12 16 9 15 3 3.9 3
5 6 | 12 16 9 |15 3 [39( 3
6 4 8 10 12 16 20| 10 | 15 3 4.5 4
6 8 12 16 20 25 10 | 1.5 3 4.5 4
8 5 10 12 16 20 13 | 15 4 6.3 5
8 10 ( 12 16 20 25 13 | 15 4 6.3 5




» FELA ARSI

m Cover Bolts - Button Head Cap Screw

= s BT Type+M-L Part Number Type+M-L
Buan ZCBBT3-8 order ZCBBT3-8

{
A [

2y

0
—0. 3|

,,,,,

A RXIEBR (Materials) SHFIIRF (Specifications)

1242 Screw Biz{Part Number E C
Fatl=" £ A B . d

*Z”)ﬁ\ ﬁ}ﬁﬁ\*f& Type M L max. min.

Type )

Material | Strength Class 3 8 10 12 16 20| 4 [55( 16| 2 [104] 22
ZCBBT SUS304 A2-50 4 |10 12 16 20 5 [75|22]|25]|13] 3
ZCBBT 5|12 16 20 25 6 | 95|27 | 3 |156] 3.9
6 | 12 16 20 25 8 |105( 33| 4 |208]| 45
8 |12 16 20 25 10 | 14 | 44| 5 [ 26| 63

» SR+

q.\ u Cover Bolts - Phillips
p A U= BT Type+M-{-L CEV I B0 Type+M-£-L
k i f5ugn ZGUTBJ3-2-6 order ZGUTBJ3-2-6

<

ro. 3 M

Ve

o

0
—0. 3

| S

A EXIBBZER (Materials) SHIFIIBF (Specifications)

1242 Screw B¥z{Part Number
ne A E d
Type R B Type M|t L

Material Strength Class 3 2 5 8 10 12 | 69| 19| 22
ZGUTBJ SUS304 A2-50 3 |135]| 6 10 12 69| 19| 22
3 4 8 10 12 69| 19| 22

4 3 6 8 10 12 16 | 94| 25| 3

4 5 10 12 16 94 | 25 3
ZGUTBJ 5 3 8 10 12 16 20 |118( 3.1 | 3.9
5 6 12 16 20 118 3.1 | 3.9
6 4 10 12 16 20 14 | 3.7 | 45
6 8 12 16 20 25 30| 14 | 3.7 ]| 45
8 5 16 20 178 48 | 6.3
8 10 | 16 20 25 30 40 (178 48| 6.3




» SERIRERTEINKEY

m Cover Bolts - with Long Knurled Head

L=l BT Type+M-{-L CET AN TT A U5 Type+M-£-L
Buan ZGUTBR3-2-6 order ZGUTBR3-2-6

— 3
1.0
T ro.3 /M
-3
e
{
D A L
122 Screw B Part Number
e A A d
Type B Type M| ¢ L

Material 3 2 6 10 12 55| 10 | 2.2

ZGUTBR SUS303 3 |135( 6 10 12 55| 10 | 2.2
3| 4|8 10 12 55| 10 | 2.2

41 3|6 8 10 12 16| 7 |16 3

4 | 5 |10 12 16 7 |16 3

ZGUTBR | 5 | 3 | 8 10 12 16 20| 85| 20 | 39

5 | 6 [12 16 20 85| 20 | 3.9

6 | 4| 8 10 12 16 20| 10 | 30 | 45

6 | 8|12 16 20 25 10 | 30 | 45

8 | 5|10 12 16 20 13 | 36 | 63

8 |10 12 16 20 25 30| 13| 36 | 63

» R EIEIRIRE
m Cover Bolts - Knurled Large Head

LSS B Type+M-{-L Part Number Type+M-{-L
4N ZRNCB3-2-6 order ZRNCB3-2-6

=E
- M
] = /o
S |
E 2 {
L
A EXIEBZR (Materials) SHIFIIRR (Specifications)
12t Screw Bzt Part Number
me = Aldi|d2]| E
Type MR Type M|t L
Material 3 2 4 8 10 12 | 2.2 6 2.5
ZRNCB SUS303 3 3.5 6 10 12 15 12 | 2.2 6 2.5
3 4 8 10 12 15 20 12 | 2.2 6 2.5
4 3 6 8 10 12 15 16 8 3.5
ZRNCB 4 5 10 12 15 20 16 8 3.5
5 3 8 10 12 15 20 [ 39| 10 4
5 6 12 15 20 25 20 | 39| 10 4
6 8 12 15 24 | 45| 12 5
8 10 (| 15 20 30 | 63| 16 6




w [ ESiEtH
= Knurled Knobs - Drop-Proof, Standard or Stepped

=gl BT Type+M-L Part Number Type+M-L
Bign ZNOBD3-10 order ZNOBD3-10

BHiBY/Stepped
trtEBY/Standard ZNKBD/ZNKOSD
ZNOBD/ZNOOSD
M S A
S L
T
= ¢ AL S | ¢
A [EXIERZER (Materials) SEXIARE (Specifications)
RBSType ke Screw Bzt Part Number
=P = = D|d|A|H|s]|¢t]a
FERY B MR FEALE Type M L
Standard | Stepped Material Surface Treatment 3 10 | 12 6 | 25| 75| 5 6 2
ZNOBD T S R 4 10 16 8 35 ([ 95 6 5 3
Buff Polished Chrome Plating 4 | 15| 16| 8 | 3595 6 | 10| 3
BEbhE 5 10| 2| 10| 4 |115| 75| 4 |38
ZNOOSD | ZNKOSD | - 55303 Brushed Finish ZNOBD | 5 |15 | 20 [ 10 | 4 |115| 75| 9 | 38
ZNOOSD
ZNKBD 5 20 | 20 10 4 (1151 75| 14 | 3.8
ZNKOSD 6 15 24 12 5 15 10 7 45
6 20 | 24 12 5 15 10 12 | 45
6 30 | 24 12 5 15 10 22 | 45
8 20 | 30 16 6 18 12 10
8 30 | 30 16 6 18 12 20




n RCEE R

m Adjusting Stopper Screws with Knurled Knob - Fine or Coarse Thread

=g BT Type + M- L Part Number Type + M- L
Bign ZANKSB3-15 order ZANKSB3-15

1

A REYIERZE (Materials)

BEType Bife-(—MEIE) Accessories(Nut 1 pcs)
— (%153 TR FEALE
Bk Material | Hardness Surface Treatment Mﬁ. HREGHE
Classification of thread Material Surface Treatment
ZANKSB SCM435 |40~45HRC &ZEBlack Oxide SS400 $B5¥Trivalent Chromate
1)
Fin?‘ﬁ\grzad ZANKSM SCM435 | 40~45HRC R Nickel Plating SS400 {E$£Trivalent Chromate
ZANKSS SUS410 |40~45HRC / SUS304 /
ZANKB SCM435 | 40~45HRC &ZEBlack Oxide SS400 {E$£Trivalent Chromate
3 1y
ik ZANKM SCM435 | 40~45HRC| #E$ENickel Plating SS400 #E$¥Trivalent Chromate
Coarse Thread
ZANKS SUS410 |40~45HRC / SUS304 /
SEIVIERFE (Specifications)
Bzt Part Number M*i82EE
Bl B2 A L {1 SR B C T
Type M L AFFine |¥EFCoarse
. 3 15 20 25 M3*0.35 M3*0.5 10 2 7 2 16 3 55| 64 | 24
M7 (Fine)
ZANKSB 4 15 20 25 M4*0.5 M4*0.7 10 | 25 7 25| 1.6 4 7 81| 3.2
e [ 520 25 30 40| mso05 [ ms08 [ 15[ 3 [15] 3 5| 8 |92] 4
6 20 25 30 40 | M6*0.75 M6*1.0 15 4 15 4 2 6 10 | 115] 5
o) "8 [ 30 40 50 60 | M8075 | Men25 | 15| 5 | 15| 5 | 25| 8 | 13 | 15 | 65
ZANKM 10 30 40 50 60 M10*1.0 M10*1.5 20 6 25 5 3 10 17 (196 8
ZANKS
12 | 40 50 60 80 M12*1.0 | M12*1.75 | 20 8 25 6 3 12 19 (219( 10




» RUCINKEURE
m Long Knurled Head Screws
=g BT Type+M-L Part Number Type+M-L
fugn ZLRLM3-6 order ZLRLM3-6

E=n I BT Type + M- A-L Part Number Type + M-A-L
Buan ZLRLBS3-15-10 order ZLRLBS3-15-10

Jn 0
ll

L=l B Type+M-A-L-D Part Number Type+M-A-L-D
fian ZLRLMF3-15-10-5 order ZLRLMF3-15-10-5
ZLRLM/ZLRLB ZLRLBS
M
T
D A L
ZLRLMF/ZLRLBF [M4BYiRETE/The head has a checkered pattem]
M
Va
D A L
2RI ERFR (Materials) SEXIIRE (Specifications)
e Ll RELE BstPart Number o | a
Type Material Surface Treatment Type M L
ZLRLM SCM435 & Nickel Plating 3 6 10 55| 10
ZLRLB SUS303 / 4 6 10 16 7 16
ZLRLMF SCM435 = Nickel Plating ZLRLM 5 10 16 20 85| 20
ZLRLBS/ZLRLBF | SUS303 / ZLRLB 6 |10 16 20 25 30| 10 | 30
8 20 25 30 13 | 36
10| 20 25 30 40 16 | 40
SHIARER (Specifications) SH3IARZE (Specifications)
Bz{Part Number Bzt Part Number
Type M 1mm fEE8M | ImmigEes | D Type M Imm B8N | ImmiEEEA | 1mm IEEE
yp /Increment A /Increment L yp /Increment A /Increment L /Increment D
3 10~40 6~40 55 3 10~60 6~40 5~10
4 10~40 6~40 7 4 10~60 6~40 5~10
ZLRLBS ZLRLMF
5 10~40 10~50 8.5 ZLRLBF 5 10~60 10~50 10~25
6 10~40 10~50 10 6 10~60 10~50 10~25




n RIREUEHF
m Fully Threaded Screws

= s BT Type+M-L Part Number Type+M-L
Buan ZANE6-100 order ZANE6-100

HAEXIERER (Materials) SE¥IERFR (Specifications)

12 Screw Bz{Part Number P
BE *
Type HE EmEaLE Type M L
Material Surface Treatment 6 100 200 300 6*1.0
ZANE SUS304 &=EBlack Oxide 8 100 200 300 8*1.25
ZANE -
ZANES SUS304 / ZANES 10 100 200 300 500 10*1.5
12 100 200 300 500 12*1.75
16 100 200 300 500 16*2.0
n T i ERhiRes

m Stopper Screws

L= AU Type+ M- L Part Number Type+ M - L
Buan ZSTSCC4-20 order ZSTSCC4-20

by lr_hi-.'l AR { M (45 °>

/<

A ~
- K®)
~

,,,,,,,,,,,

2R3 IERER (Materials) SEXIIRER (Specifications)

ne 1ZF2Screw B Part Number M*#2EEPitch 81 . @
Type Mﬁ, EEE EERME Type M L #MFFine thread

Material | Hardness Surface Treatment 4 20 25 30 35 40 M4*0.5 2 25| 25

ZSTSCC SCM435 | 40~45HRC & 2EBlack Oxide 5 20 25 30 35 40 M5*0.5 2.5 3 35
ZSTSNCC | SCM435 |40~45HRC| & Nickel Plating ZZS?SS'\JCCCC 6 |30 35 40 45 50 60 M60.75 3 [35] a

ZSSTSCC | SUS420 (40~45HRC / zsstscc | 8 30 35 40 45 50 60 M8*0.75 4 5 | 45
10 | 40 45 50 60 70 M10*1.0 5 7

12 ( 40 45 50 60 70 80 M12*1.0 6 8.5




» A7 ATk iR

m Hex Socket Screws

BISsh)

R Type+ M -L

Type+ M - L

f5ugn

ZMSSG4-16

Part Number
order

ZMSSG4-16

ZMSSG

ZCBBG / ZCBBGS

(A75f LEEhi8£2B) /Hex socket set screws)

o RC

X
©
M / +0.2
0
-0.3
0. 6

(FFLAI75AiEi2BY/Hex Socket Screws)

s R G

ﬁs
< =
\\\kéf//
S M / +0.2
1]
B2 E LS
0.6
1A REJERE (Materials)
18 Screw
BE
T HIE s HEGNE
ype . M L
Material Hardness Surface Treatment
ZMSSG SCM435 45HRC~ & 2ZBlack Oxide 4~10 12~50
ZCBBG SCM435 38~43HRC & 2ZBlack Oxide 4~10 12~50
ZCBBGS SUS304 / / 4~10 12~50
SEYIERE (Specifications)
2 d
Part Number B1 | B2 A E R wE b C R
Type M L Reference Dim. | Tolerance
4 12 16 20 25 30 2 3 7 4 3 3 0.3 [ 0.5
-0.1
zmssg | 5 |12 16 20 25 30 25| 4 | 85| 5 4 02 4 | 03] 05
ZCBBG 6 12 16 20 25 30 35 40 5 10 6 4 4 0.3 [ 0.5
ZCBBGS | g |16 20 25 30 35 40 45| 4 | 6 | 13| 8 6 0.1 5 | 05| 05
10 | 20 25 30 35 40 45 50 8 | 16 | 10 8 -0.3 6 | 05| 1




/ n [E4XhEH

i rw ]1 » Knurled Knobs
alt! L=l B Type+M-L Part Number Type+M-L
Eg BN ZNOB3-10 order ZNOB3-10
ZNOB / ZNOOS / ZNOBB ZNOMS /ZNOMB

=

[N

=

feo
[>T

>, [T

D L
ZNKB / ZNKOS / ZNKBB ZNKM / ZNKMS / ZNKMB
= b
] . \M
 |[To | o
AL s |1t AL S
D H L H
A EJERZ& (Materials)
BEType 1242 Screw
HMREE PsRLE IR R
Threaded Tapped Material Surface Treatment
ZNOB ZNOM SUM23 By Chrome Plating
730
R ZNOOS ZNOMS SUS303 KA EBrushed Finish
Standard Type
ZNOBB ZNOMB SUSM23 % EBlack Oxide
ZNKB ZNKM SumM23 sEERhY¢Chrome Plating
PN
aRE ZNKOS ZNKMS SUS303 RoAbEBrushed Finish
Stepped Type
ZNKBB ZNKMB SUSM23 A& EBlack Oxide

SE3$88% (Specifications)

B Part Number
pldalalT|H]|s ]|
Type M L
3 6 10 16 2] 6 |25] 3 [75] 5 | 1
ZNOB ZNOM
ZNOOS INOMS 4 6 10 16 20 6| 8 [35] 4 |95 6 | 12
ZNOBB ZNOMB 5 10 16 20 25 20| 10| 4| 5 [115] 75| 14
ZNKB ZNKM 6 10 16 20 25 30 24| 12| 5| 6 | 15| 10] 15
ey L 8 16 20 25 30 30| 16| 6| 8| 18]12] 2
ZNKBB ZNKMB
10 20 25 30 40 36| 20| 8 |10 23] 15] 25




» ERELEH
m Knurled Knobs - Thick
E=En T BT Type+M-L-A Part Number Type+M-L-A
N ZNOBA3-10-5 order ZNOBA3-10-5
ZNOBA / ZNOOSA / ZNOBAB ZNOMA / ZNOMSA / ZNOMAB
M
1 ©
i3 A
A L T
ZNKBA / ZNKOSA / ZNKBAB ZNKMA / ZNKMSA / ZNKMAB
\M
© e
A S |1t A S
D H L H
H3EXIEEZR (Materials)
BEType 18 Screw
HMRLYEY PIREEY R FEE
Threaded Tapped Material Surface Treatment
ZNOBA ZNOMA SUM23 gyt Chrome Plating
T i)
FitER ZNOOSA ZNOMSA SUS303 Ko EBrushed Finish
Standard Type
ZNOBAB ZNOMAB SUSM23 & ZBlack Oxide
ZNKBA ZNKMA SUM23 EgHtyeChrome Plating
£ 1
aial ZNKOSA ZNKMSA SUS303 AR S4bEBrushed Finish
Stepped Type
ZNKBAB ZNKMAB SUSM23 & ZBlack Oxide
Bzt Part Number
D d T H S l
Type M L A
3 6 10 5 12 6 [ 55| 10 5 1
3 6 10 6 12 6 6.5 | 11 5 1
3 6 10 8 12 6 9 13 5 1
3 6 10 12 12 6 |135( 17 5 1
4 6 10 16 7 16 8 75 | 13 6 1.2
4 6 10 16 16 8 [105( 15 6 1.2
4 6 10 16 11 16 8 12 17 6 1.2
ZNOBA ZNOMA
4 6 10 16 17 16 8 |185( 23 6 1.2
ZNOOSA ZNOMSA | 5 10 16 20 8 20 | 10 9 [155| 75| 14
5 10 16 20 10 | 20 10 11 (175 75| 14
ZNOBAB  ZNOMAB [5 1775 16 20 1220 [ 10| 13 [195] 75| 14
ZNKBA ZNKMA 5 10 16 20 26 | 20 10 | 295|335 75| 14
6 10 16 20 25 30 | 10 | 24 12 11 20 10 | 1.5
ZNKOSA ZNKMSA | 6 | 10 16 20 25 30| 13 | 24 | 12| 14| 23 | 10 | 15
6 10 16 20 25 30 | 15 24 12 16 25 10 | 1.5
ZNKBAB ZNKMAB
6 10 16 20 25 30 | 25 24 12 | 265 35 10 | 15
8 16 20 25 30 12 | 30 | 16 | 14 | 24 | 12
8 16 20 25 30 15 30 16 17 27 12
8 16 20 25 30 30 | 30 | 16 |315( 42 | 12 2
10 | 20 25 30 40 16 36 20 18 31 15 | 25
10 | 20 25 30 40 20 [ 36 | 20 | 22 | 35 | 15 | 25
10 | 20 25 30 40 40 36 20 [415( 55 15 | 25




J w /JMRELSEH

m Small Diameter Knurled Knobs

I:wﬂ'!i_. ’ = =M B Type+M-L-D Part Number Type+M-L-D
Eg M Bign ZNOBC3-10-10 order ZNOBC3-10-10

ZNOBC / ZNOSC ZNOMC / ZNOMSC
—_— =
— M —
- /o |
] M
| -
it A
D A L LT
ZNOBC / ZNOSC ZNKMC / ZNKMSC
| b M
I o e o
Al s |1t Al S
D H L H
A EXIEBE (Materials)
BEType 122 Screw
HMEEEY PREREE MR RELE
Threaded Tapped Material Surface Treatment
o 3a4) ZNOBC ZNOMC SUmM23 By Chrome Plating
Standard Type ZNOSC ZNOMSC SUS303 KB EBrushed Finish
amE ZNKBC ZNKMC SUM23 4RI Chrome Plating
Stepped Type ZNKOSC ZNKMSC SUS303 KB4EEBrushed Finish

SHFIEBZE (Specifications)

Bzt Part Number
dl Al T|H]| s | ¢
Type M L D

3 | 6 10 *5s 8 10| 6 | 25| 3 |75] 5 | 1
JNOBC INKBC 4| 6 10 16 7 12 14| 8 | 35| 4 |95]| 6 | 12
ZNOSC ZNKSC 5 |10 16 20 *12 16 18 | 10| 4 | 5 |115| 75| 14
ZNOMC ZNKMC 6 (10 16 20 25 30 |*13 20 22| 12| 5 6 | 15| 10 | 1.5
ZNOMSC ZNKMSC 8 |16 20 25 30 *17 26 28 | 16| 6 | 8 | 18| 12| 2
10| 20 25 30 40 20 30 32| 20| 8 |10 23| 15| 25

[!] & * #AE(XBRNOBC-NOSC [ '] Band * only for NOBC and NOSC



» RISCEH

m Twill Knurled Knobs

=gl BT Type+M-L Part Number Type+M-L
fugn ZNOBX3-10 order ZNOBX3-10
!
1
{

ZNOBX / ZNOOSX ZNOMSX
M
P
- | -
e A
D A L T
ZNKBX / ZNKOSX ZNKMSX
M M
Ve
_ | il
<] | -]
A st A S
D H L H
#1EX$BBZE (Materials)
BEType 12teScrew
IMBLEY PREE (%153 RELE
Threaded Tapped Material Surface Treatment
oy i) ZNOBX / SUM23 gyt Chrome Plating
Standard Type ZNOOSX ZNOMSX SUS303 REGtEBrushed Finish
AmaEL ZNKBX / SUM23 igegisEChrome Plating
Stepped Type ZNKOSX ZNKMSX SUS303 K4 IEBrushed Finish
SE¥IE8FEK (Specifications)
Biz{Part Number
A D d T H S {
Type M L
ZNOBX ZNKBX | 3 | 6 10 10126 11|15 5|1
ZNOOSX ZNKOSX 4 6 10 16 | 11 16 8 12 17 6 12
ZNOMSX ZNKMSX [ 5 | 10 16 20 | 12 [ 20 | 10 | 13 [195| 75 | 14




Adjusting Bolts

B G

3

CATTEEEER R R R R
baace LALAERERRRES

LTIV T Ty

s

GG R e T )

ﬁ Hhﬁﬁﬁﬁ#ﬁﬂl&&ﬁl

wd JAAIILLI LALLM A

*

ZHENGCHEN HARDWARE



» RAFLELERRIR AL A
m Adjusting Stopper Screws - Hexagon Socket

EO=n T BT Type+M-L Part Number Type+M-L
fBugn ZANBM5-20 order ZANBMS5-20

(AN

S A
N

ul OB

L
B
#A[EXIERE (Materials)
BEType 1242 Screw 12Nt
LRJiEEE LR<1EER
L Selectable L Configurable HE R LR E LR
SHTFR YATFR sHTFR YATFR Material | Hardness Surface Treatment Material Surface Treatment
Fine Thread Coarse Thread Fine Thread Coarse Thread
ZANBM ZANBNM / / S45C  [45~50HRC| #E&ENickel Plating S45C #E$2Nickel Plating
ZANB ZANBN ZANFB ZANFBN S45C 45~50HRC | §E$¥Trivalent Chromate S45C #85¥Trivalent Chromate
ZANBH ZANBNH ZANFBH ZANFBNH SCM435 S50HRC~ | #Bf£Trivalent Chromate| SCM435 | $Bf¥Trivalent Chromate
ZANBS ZANBNS ZANFBS ZANFBNS SUS304 / / SUS304 /
ZSANB ZSANBN ZSANFB ZSANFBN SUS420 45HRC~ / SUS420 /
LR T8 / L Selectable
HF {HF Bz, Part Number
M Fine Coarse Bl ! SR B © T Type M L
Thread Thread - B 15 20 25
3 M3*0.35 M3*0.5 15| 15 3 55| 64| 24 (Fine Thread) 4 15 20 25 30 35 40
4 | Ma05 | Ma*07 | 2 (22| 4 | 7 |81 4 ZANBM 5 |15 20 25 30 35 40
5 M5*0.5 M5*0.8 25| 28 5 8 9.2 4 | 6 15 20 25 30 35 40 45 50 60
6 | M6*0.75 | M6*1.0 3 3 6 10 [115( 4 (Coarse 8 |20 25 30 35 40 45 50 60
8 M8*0.75 | M8*1.25 4 4 8 13 15 5 Thread) 10 | 30 35 40 45 50 60 70
10 | M10*1.0 | M10*15 [ 5 | 5 | 10 | 17 [196] 6 ZANENM 1240 45 50 60 70
12 | M12*1.0 | M12*1.75| 6 6 12 19 |219]| 6
16 | M16*1.5 | M16*2.0 8 7 16 | 24 (277 8
20 | M20*1.5 | M20*2.5 | 10 8 20 | 30 346 10
LR %3R5 / L Selectable LREER / L Configurable
Biz{Part Number Type iy LS L mm
Type M L
3 *10 *15 20 25 30 35 40 3 10~40
4 |*10 *15 20 25 30 35 40 *45 *50 *60 4 10~60
(ggi (C*fagrzse 5 |*0 15 20 25 30 35 40 *45 *50 *60 (ﬁf; (C*o’ﬂa;fse 5 10~60
Thread) Thread) 6 |*15 20 25 30 35 40 45 50 60 Thread) Thread) 6 15~60
ZANB ZANBN 8 20 25 30 35 40 45 50 60 ZANFB ZANFBN 8 15~60
ZANBH  ZANBNH | 19 | «25 30 35 40 45 50 60 70 *80 *90 *100 ZANFBH  ZANFBNH (| 79 20~100
;IS-\X"\?: ;:2'3:; 12 (*30 35 40 45 50 60 70 80 *90 *100 ;ls\:l'\':g; ;;T;g:; 12 30~100
16 | 40 45 50 60 70 80 *90 100 *120 16 40~120
20| 45 50 60 70 80 *90 100 120 20 40~120

[!] B SHRIKEANERTZANBHIIZANBNH
[ ! ] Dimensions marked with * do not apply to ZANBH and ZANBNH



n PRFIETLERRIR B
m Adjusting Stopper Screws - Wrench Flat

EO=n T BT Type+M-L Part Number Type+M-L
fBugn ZANS5-20 order ZANS5-20

f1

=

an)
g

/)
ml G 5~

12 EIEBZE (Materials)

BEType 1248 Screw 12N ut
RIS RFHEE MR e REAE %15 REAE
Classification Of Thread Wrench Flats Material | Hardness Surface Treatment Material Surface Treatment
HFE ZANS S45C 45~50HRC | §2££Trivalent Chromate SS400 $B5¥Trivalent Chromate
Fine Thread ZSANS SUS420 | 45HRC~ / SUS304 /
EFE ZANSN S45C | 45~50HRC | #E#¢Trivalent Chromate | SS400 | #E$¥Trivalent Chromate
Coarse Thread ZSANSN SUS420 | 45HRC~ / SUS304 /
Bzt Part Number M*Pitch
¥ A 1 SR B C T
Type M L Finegl'];ﬁead Coars*eﬁ?:hread “
3 15 20 25 30 35 40 M3*0.35 M3*0.5 2.5 4 3 55| 64 | 24
4 15 20 25 30 35 40 45 50 60 M4*0.5 M4*0.7 3 4 4 7 8.1 4
wF | 5 15 20 25 30 35 40 45 50 60 M5*0.5 M5*0.8 4 4 5 8 9.2 4
(Fine  (Coarse | 6 | 20 25 30 35 40 45 50 60 M6*0.75 M6*1.0 5| 5| 6| 10|115] 4
Thread)  Thread) 8 |25 30 35 40 45 50 60 M8*0.75 M8*1.25 6 6 8 13 | 15 5
ZANS  ZANSN | 19| 30 35 40 45 50 60 70 M10*1.0 M10*1.5 8 | 8 |10 17 [196] 6
ZSANS ZSANSN 12 | 35 40 45 50 60 70 80 M12*1.0 M12*1.75 10 10 12 19 | 219| 6
16 [ 40 45 50 60 70 80 M16*1.5 M16*2.0 14 14 16 | 24 | 277 8
20 | 45 50 60 70 80 100 120 M20*1.5 M20*2.5 17 17 | 20 | 30 | 346 10




» AR BRI IR Bt
m Adjusting Stopper Screws - Wrench Flat with Hexagon Socket

EO=n T BT Type+M-L Part Number Type+M-L
fBugn ZHANS5-20 order ZHANSS5-20

(30

kA M <

‘ /[ ‘ |

® D) o O B
S O T

B1 L t : _T/

12 EIEBZE (Materials)

BEType 1252 Screw 12Nut
B ﬂ?i%:\%‘é Type ME WEREE RELE MJ'BE. RELE
Classification Of Thread Material | Hardness Surface Treatment Material Surface Treatment
TR ZHANS S45C 45~50HRC | §E#£Trivalent Chromate SS400 $B$¥Trivalent Chromate
Fine Thread ZSHANS SUS420 45HRC~ / SUS304 /
$ATFRY ZHANB S45C [ 45~50HRC | #E$¢Trivalent Chromate [ SS400 | #E#¥Trivalent Chromate
Coarse Thread ZSHANB SUS420 45HRC~ / SUS304 /
Bzt Part Number M*Pitch
Type M L . YRSFRY $HoFRY Bl { E D SR t B (@) T
Fine Thread Coarse Thread
4 15 20 25 30 M4*0.5 M4*0.7 2 2.2 4 4 2.5 7 8.1 4
HF HF 5 15 20 25 30 40 M5*0.5 M5*0.8 25| 28 4 4 5 3 8 9.2 4
(Fine — (Coarse g1 50 25 30 40 50 M6*0.75 M6*1.0 3| 3| s as| 6] 3]10][115] 4
Thread) Thread)
ZHANS ZHANB 8 25 30 40 50 M8*0.75 M8*1.25 4 4 6 6 8 4 13 15 5
ZSHANS ZSHANB | 10 | 30 40 50 60 M10*1.0 M10*1.5 5 5 8 8 10 6 17 |196( 6
12 | 40 50 60 M12*1.0 M12*1.75 6 6 10 9 12 7 19 |219] 6




» NARAIZE
= Stopper Bolts

EO=n T BT Type+M-L Part Number Type+M-L
fusn ZSTRCB5-20 order ZSTRCB5-20
¥rERY/standard type

30°
.l ’}_‘ (F) /M
U B

©

B @
H L
-
A75BFLE /hex socket type
30° B1
=) M
£ /,
3 8| &
B @) tal B
H L
12 EIEBZE (Materials)
BEType 1Zk2Screw
LEA ] ZiEn INAFLE (%153 TR FEALE
Classification Of Thread| Standard |Hex Socket| Material | Hardness Surface Treatment
ZSTRCB ZSTRCC SCM435 | 40~45HRC &ZBlack Oxide
HHFE —— -
Fine Thread ZSTRCN | ZSTRNCC | SCM435 | 40~45HRC R Nickel Plating
ZSSTRCB | ZSSTRCC SUS416 |40~45HRC /
ZSTRB ZSTRC SCM435 | 40~45HRC &ZBlack Oxide
W J
AR ZSTRN | ZSTRNC | SCM435 |40~45HRC| #E#Nickel Plating
Coarse Thread
ZSSTRB ZSSTRC SUS416 | 40~45HRC /
SEIIERFE (Specifications)
Bzt Part Number M*Pitch
ggm | TR g || H|t|o|la]|e
Type M L Fin— Thread Coarse
€ threa Thread
#=F (Fine) 10 15 20 25 30 / M3*0.5 55| 64| 2 1]101)| / /

ZSTRCB ZSTRCC
ZSTRCN ZSTRNCC
ZSSTRCB ZSSTRCC

15 20 25 30 35 40 45 50 55 60 | M4*05 | M4x07 | 7 | 81|28 21[02] 22
M5%0.5 | M5+08 | 8 | 92| 35| 24|02 28] 25
20 25 30 35 40 45 50 55 60 M6*0.75 | M6*1.0 | 10 [115 4 | 3 | 03
i Coarse) 25 30 35 40 45 50 55 60 M8*0.75 | M8*125 | 13 | 15 | 55| 3.7 | 04
JSTRN 7STRNC | 10 | 30 35 40 45 50 55 60 65 70 M10*1.0 | M10*L5 | 17 [196| 7 | 45| 05
76STRB 7SSTRC | 12 [ 35 40 45 50 55 60 65 70 75 80 | M12:1.0 [ M12*175| 19 |219]| 8 [ 52 05

N

[l |bdh|w
=
(%,
N
o
N
ul
w
o
w
(%]
Y
o
B
(%]
vl
o
vl
(%]
2]
o

$H5F (Coarse)

o|lu|lbh|w
oalu|b|lw




» NRIRE B EIR A B
m Adjusting Stopper Screws - Hexagon

EO=n T BT Type+M-L Part Number Type+M-L
fBugn ZANH5-10 order ZANH5-10

(30°) RILLT
= R1 or less
{

M
A
>

(30
iy
ol & o [
= - , V] Y
[z 1 T
B T

: L L

12 EIEBZE (Materials)

BEType 184 Screw RFNut
3 ?&?i%s\%‘é Type ME TR REAE Mfﬁ. RELE
Classification Of Thread Material | Hardness Surface Treatment Material Surface Treatment
TR ZANH SCM435 | 45~50HRC | $B$¥Trivalent Chromate SS400 $B$¥Trivalent Chromate
Fine Thread ZSANH | SUS416 |45~50HRC / SUS304 /
ZANHN SCMA435 | 45~50HRC | &£ Trivalent Chromate| SS400 | §&&#Trivalent Chromate
Coafsﬂegfr%read ZANHNS SUS304 / / SUS304 /
ZSANHN SUS416 |45~50HRC / SUS304 /
B5{Part Number M*Pitch T
e | m ) e é%?r ;i: wF | EF Blol|Bl| H| ¢ ]|a]| s
Fine Thread Thread Fine| Coarse
e 3 15 20 25 30 35 40 / M3*0.5 / 24 55| 64 | 15 2 0.7 3 3
(Fine) 4 15 20 25 30 35 40 45 50 60 M4*0.5 M4*0.7 4 32 7 81| 25| 28| 13 3 4
ZANH 5 15 20 25 30 35 40 45 50 60 M5*0.5 M5*0.8 4 4 8 9.2 3 3.5 2 3 5
ZSANH [ g [ 20 25 30 35 40 45 50 60 M6*0.75 | M6*1.0 | 4 10 115 4 | 4 | 25| 5 | 6
| 8 25 30 35 40 45 50 60 M8*0.75 M8*1.25 5 6.5 13 15 5 5.5 3 5 8
(Coarse) | 10 | 30 35 40 45 50 60 70 M10*1.0 | M10*15 | 6 8 17 |96 6 | 7| 4| 5|10
ZANHN 12 | 35 40 45 50 60 70 80 M12*1.0 | M12*1.75 6 10 19 | 219| 8 8 5 10 12
ZANHNS | 16 [ 40 45 50 60 70 80 100 M16*1.5 [ M16%20 | 8 13 24 (2771 10| 10| 6 | 10 | 16
ZSANHN 20| 45 50 60 70 80 100 120 M20*1.5 M20*2.5 10 16 30 |346| 14 | 13 | 74| 10 | 20




n SLEBREGEMIZE
m Locating Bolts - Round Head

E=n T BT Type+M-L Part Number Type+M-L
Buan ZSTCB5-20 order ZSTCB5-20

ZSTCB / ZSTCBM / ZSSTCB / ZSTBB / ZSTBBM / ZSTBBS / ZSSTBB

~
w
(=]
(2

r M s

s LD
<\

()]

A5
\
A
U U

B {1 B /T
H L
ZSTCCM / ZSSTCC / ZSTBC / ZSTBCM / ZSSTBC
B1
r
~~
= \L p\ S
B £1 £2 B
H L
2 EIEBZE (Materials)
BEType 1248 Screw 1Z2RNut
$RE52E SLERREL TNFREHESLERREY MR e REALE %15 REAE
Classification Of Thread| Round Head Hex Socket Round Head Material | Hardness Surface Treatment Material Surface Treatment
ZSTCB / S45C 45HRC~ &ZEBlack Oxide SS400 | #E$£Trivalent Chromate
Fin?’ﬁgriad ZSTCBM ZSTCCM S45C 45HRC~ & Nickel Plating SS400 fE£Trivalent Chromate
ZSSTCB ZSSTCC SUS420 45HRC~ / SUS304 /
ZSTBB ZSTBC S45C 45HRC~ K =EBlack Oxide SS400 {E$£Trivalent Chromate
$EoFRY ZSTBBM ZSTBCM S45C 45HRC~ #EiENickel Plating SS400 | #E#£Trivalent Chromate
Coarse Thread ZSTBBS / SUS304 / / SUS304 /
ZSSTBB ZSSTBC SUS420 45HRC~ / SUS304 /
SHFIERE (Specifications)
M*Pitch .
M MF HF H | SR2| (n | (f1) | (¢2) | B1 B (@] ItﬁC?:ef:ej) T%im(ﬁnﬁe?
Fine Thread Coarse Thread
4 M4*0.5 M4*0.7 2.8 8 02|21 22] 22 7 8.1 32 4
5 M5*0.5 M5*0.8 3.5 8 02 ] 24| 28] 25 8 9.2 4 4
6 M6*0.75 M6*1.0 4 10 | 0.3 3 3 3 10 | 115 4
8 M8*0.75 M8*1.25 55(12|04]37]| 4 4 13 | 15 6.5 5
10 M10*1.0 M10*1.5 7 16 | 0.5 | 45 5 5 17 | 19.6 8 6
12 M12*1.0 M12*1.75 8 20 | 05 ] 5.2 6 6 19 | 219 10 6
16 M16*1.5 M16*2.0 10 | 25 | 0.6 6 / / 24 | 27.7 13 8

SHFIERE (Specifications)

Bzt Part Number L L Bzt Part Number L
ZSTCBM/ZSSTCB/ZSTBBM/ ZSTCCM/ZSSTCC

Type | M ZSTCB/ZSTBB ZSTBBS/ZSSTBB Type | M| S orBC/ZSTBCM/ZSSTBC

@FFneg | 4 [ 10 15 20 25 30 35 40 20 @mFFine) | 4 | 20

ZSTCB 5110 15 20 25 30 35 40 50 20 ZsTCCM 5 | 20

ZSTCBM ZSSTCC

ZSSTCB 6 |15 20 25 30 35 40 50 20 25 30 40 50 6 | 20 25 30 40 50

. 8 [15 20 25 30 35 40 50 60 70 80| 25 30 40 50 60 |#EF(Coarse)| g [ 25 30 40 50 60

ZF(Coarse) ZSTBC

zSTBB 10|30 35 40 50 60 70 80 30 40 50 60 70| zsteem | 10 | 30 40 50 60 70

ZSTBEM ZSSTBC

2STBES 12|30 35 40 50 60 70 80 40 50 60 70 80 12|40 50 60 70 80

ZssTBB 16 | 50 60 70 80 /




(RN

¥
A

!
\

n SRV ETIRRELE(TIRE
mLocating Bolts - Round Tip R
EO=n T BT Type+M-L Part Number Type+M-L
fBugn ZSTCA5-10 order ZSTCA5-10

(30°) ( ) (309
i r) M g —
/] &
~ > A AN <
(& Q
| =
B {1 B T/T1
H L Z
2 EYIBRZE (Materials)
AEType 1242 Screw 12N Ut
BREy 3 SLEBREY R HE FEE R FEE
Classification Of Thread Round Tip Material | Hardness Surface Treatment Material Surface Treatment
ZSTCA S45C 45HRC~ &ZEBlack Oxide SS400 | #E$£Trivalent Chromate
4 1
Finf‘?:\%ad ZSTCAM S45C 45HRC~ & Nickel Plating SS400 fE£Trivalent Chromate
ZSSTCA SUS420 45HRC~ / SUS304 /
ZSTBA S45C 45HRC~ K =EBlack Oxide SS400 fE£Trivalent Chromate
$ATFRY ZSTBAM S45C 45HRC~ & Nickel Plating SS400 §B5¥Trivalent Chromate
Coarse Thread ZSTBAS SUS304 / / SUS304 /
ZSSTBA SUS420 45HRC~ / SUS304 /

SEIIERE (Specifications)

M M Pitch e |lo|n|ae| ol z]| d|sk|BEIRT | THEFRY
#MFFine $@FCoarse T (Coarse) | T1 (Fine)
4 M4*0.5 M4*0.7 7 81| 28| 21| 0.2 3 2 3 3.2 4
5 M5*0.5 M5*0.8 92| 35| 24| 0.2 3 4 4 4
6 M6*0.75 M6*1.0 10 | 115| 4 3 03| 35| 45 4 4
8 M8*0.75 M8+*1.25 13 15 [ 55| 3.7 | 04 5 6 5 6.5 5
10 M10*1.0 M10*1.5 17 | 19.6 451 05| 55 5 8 6
12 M12*1.0 M12*1.75 19 | 21.9 52| 05 8 10 6
16 M16*1.5 M16*2.0 24 | 27.7| 10 6 0.6 12 10 13 8

SEIEBZE (Specifications)

Bzt Part Number L L
ZSTCAM/ZSSTCA/ZSTBAM/

Type M ZSTCA/ZSTBA 2STBAS/ZSSTBA

R 4|15 20 25 30 35 40 20

zsTCA 5 |15 20 25 30 35 40 50 20

ZSTCAM

zssTCA 6 | 15 20 25 30 35 40 50 20 25 30 40 50

A COARSE) 8 |15 20 25 30 35 40 50 60 70 80 | 25 30 40 50 60

zsTBA 10|30 35 40 50 60 70 80 30 40 50 60 70

ZSTBAM

ZSTBAS 12|30 35 40 50 60 70 80 40 50 60 70 80

zesTBA 16 | 50 60 70 80 /




Ay

n RIChEHE RS

L= IS Type+M-L

ZAJKTN5-10

fugn

= Adjusting Bolts - Knurled Head with Hex Socket

Part Number Type+M-L
order ZAJKTN5-10

1 EXIBR%E (Materials)

BSType
, %153 REALE
o G1 . ?&?i%%:‘% Type Material Surface Treatment
s a Classification Of Thread
o R m ZAJKTN $45C %Black Oxide
! FAFEL — -
3 Coarse Thread ZAJKTNM S45C &%= Nickel Plating
\ : / ZAJKTNS SUS304 /
] i ; f ygoFE ZAJKTNF $45C % ®Black Oxide
= " - Fine Thread ZAJKTNMEF S45C {&4ENickel Plating

S¥J88ZE (Specifications)

Biz{Part Number M*Pitch
d T B D A F E2 {
Type M | LIEEE(Z5mm / L 5mm Increment | #FFine |$87FCoarse
3 10~45 / M3*0.5 2.5 7 3 4.5 10 5 4
e 4 10~60 M4*0.5 M4*0.7 3.5 7 3 5.5 10 5 4
(Coarse)
ZAJKTN 5 10~70 M5*0.5 M5*0.8 45 9 46 | 75 [ 15 15 8 7
ZAJKTNM 6 15~80 M6%0.75 | M6%1.0 | 55| 9 |46 | 85| 15| 15| 8 | 7
ZAJKTNS
mF 8 20~100 M8*0.75 M8*1.25 75 | 12 6 |115]| 15 15 8 7
(Fine) 10 25~100 M10*1.0 M10*1.5 | 95 | 16 7 |155] 25 20 10 9
ZAJKTNF N "
ZAIKTNME 12 25~150 M12*1.0 | M12*1.75 | 11.5( 19 7 |175] 25 20 10 9
16 25~150 / M16*2.0 | 155 19 8 |215] 25 24 10 9
l n WNARFLENER IR
m Adjusting Bolts - Hex Head with Hex Socket
L=l AU Type+M-L Part Number Type+M-L
& N ZAJSTR5-10 order ZAJSTR5-10
g [ SMILSRAE) SKARALED RIS IR R ERE
g [ 1] The outer hex head E and the hex socket E1 are not aligned
—a { HEIEEE (Materials)
1 o $ T BEType
oA -3 HIE HEGNE
! . Bk Type Material Surface Treatment
Classification Of Thread
ZAJSTR S45C & 2EBlack Oxide
. TR - -
ZAJSTMR S45C &= Nickel Plating
5 Coarse Thread
L B T+0.1 C ZAJSTSR SUS304 /

SEIERE (Specifications)

i‘\‘,Part Number YA £l
Type M | LIEEE{5mm /L 5mm Increment | Coarse Thread
4 10~50 M4*0.7 35 7 3 5.5 5 7 25| 25
ZAJSTR g 10~50 M5*0.8 45 46| 75] 10 | 8
ZAJSTMR -
ZAJSTSR 6 15~50 M6*1.0 5.5 9 46 | 85 | 10 10 4 4
8 20~50 M8+*1.25 7.5 12 6 115]| 15 13 5




» NREEERE
= Adjusting Bolts - Hexagonal

EO=n T BT Type+M-L Part Number Type+M-L
fBugn ZAJST5-10 order ZAJST5-10

o B

_E

#1EYIEBZE (Materials)

AEType o N

; &R L

TR . R Material Surface Treatment
Coarse Thread Fine Thread

ZAJST ZAJSTF S45C & EBlack Oxide

ZAJSTM ZAJSTMF S45C R Nickel Plating

ZAJSTS ZAJSTFS SUS304 /

S¥$E8%E (Specifications)
BIx{Part Number M*Pitch

Tvpe M LIEEE {5 mm HF AT d T B D C E
yp L 5mm Increment Fine Thread Coarse Thread

¥a5F 3 10~45 / M3*0.5 2.5 7 3 4.5 5 6
(Coarse) 4 10~60 M4%0.5 M4*0.7 351 7| 3 [s5] 5|7
ZAJST P *
ZAJSTM 5 10~70 M5*0.5 M5*0.8 4.5 9 46 | 75| 10 8
ZAJSTS 6 15~80 M6*0.75 M6+1.0 s5| 9 [46(85] 10 10
HF 8 20~100 M8*0.75 M8*1.25 75 | 12 6 |115] 15 13
Z‘;‘J’;ET)F 10 25~100 M10*1.0 M10*15 95| 16 | 7 |155] 15 | 17
ZAJSTME 12 25~150 M12*1.0 M12*1.75 115 19 7 |175] 20 19
ZAJSTFS 16 25~150 / M16*2.0 155] 19 8 |[215] 20 24




» NSRRI BZ RIS

= Adjusting Bolts - Hexagonal, T Dimension Compact
E=n T BT Type+M-L Part Number Type+M-L
f5ugn ZAJSTC5-10 order ZAJSTC5-10

M 5
C1 *\ ?a o

E

L Bl T:2| C

#A[EXIERE (Materials)

S Type
J— p— %154 FEE
TR . AR Material Surface Treatment
Coarse Thread Fine Thread
ZAJSTC ZAJSTCF S45C A& ZBlack Oxide
ZAJSTCM ZAJSTCMF S45C #E$RNickel Plating
ZAJSTCS ZAJSTCFS SUS304 /
SHIIERE (Specifications)
Bzt Part Number M*Pitch
Tvoe M LigEgE5mm AT W d| T|B|DJ]C/|E
yp L 5mm Increment Fine Thread Coarse Thread
HF HF 4 10~60 M4*0.5 M4*0.7 3.5 3 3 5.5 5
(Coarse) (Fine) 5 10~70 M5%0.5 M5%0.8 45| 5 [46]75] 10
ZAJSTC ZAJSTCF
ZAJSTCM ZAJSTCMF 6 15~80 M6*0.75 M6*1.0 5.5 5 46 | 85| 10 10
ZAJSTCS ZAJSTCFS 8 20~100 M8*0.75 M8*1.25 7.5 5 6 [11.5( 15 | 13

» RICIEHE R RS
m Adjusting Bolts - Knurled Head

L=l AU Type+M-L Part Number Type+M-L
Buan ZLVB8-5 order ZLVB8-5
M ($27F/Coar se) B Twk: 1 F

%% +

o0 z2°S
fe%0%e%s z i N
RS % + \

%9 ?F Sob o~
(]
L 5| A \M5L/Crisseroos
A ExSERZR(Materials)
BSType (153 RELE
$HF 8 Coarse Thread Material Surface Treatment
ZAJSTK S45C & ZBlack Oxide
ZAJSTKM S45C & Nickel Plating
ZAJSTKS SUS304 /
SEIERFE (Specifications)
Bz{Part Number M#*Pitch
HF d T B D A E
Type M L Coarse Thread
|5 3 10 15 20 M3*0.5 2.5 7 3 4.5 4 16
(Coarse) 410 15 20 25 30 M4*0.7 35( 7 | 3 |55 4 |16
ZAJSTK 5 10 15 20 25 30 35 40 M5*0.8 4.5 9 46 | 7.5 6 20
ZAJSTKM 6 |15 20 25 30 35 40 45 50 M6*1.0 55| 9 | 46| 85| 6 | 20
ZAJSTKS
8 20 25 30 35 40 45 50 M8+*1.25 7.5 12 6 |115| 6 20




» TERNERIRE
= Standard Leveling Bolts

EO=n T BT Type+M-L Part Number Type+M-L
fBugn ZLVB8-5 order ZLVB8-5

L
| M
awa
7777777 e BSType .
LR LRIiEEE Mz{eﬁ;ial Surfacﬁeﬁ'ﬁzﬁment
i L Selectable L Configurable
S0 T D W ZLvB ZLVFB $45C %%Black Oxide
\/ ZLVBM ZLVFBM S45C & Nickel Plating
\_ ZLVBS ZLVFBS SUS304 /
SHIIERFE (Specifications)
Biz{Part Number M*Pitch .
Type | M Ligesa | LEEEfiimm BF d | T |8 Appﬁi%%mw
L Selectable Configurable 1Imm Increment Fine
8 5 10 15 20 25 30 5~50 M8*0.75 3.5 4 13 M3
Zf_l\-I\I;?VI 10 10 15 20 25 30 40 50 10~60 M10*1.0 | 5.5 4 17 M4/M5
ZLVBS 12 | 10 15 20 25 30 40 50 10~60 M12*1.0 7 5 19 M6
16 15 20 25 30 40 50 60 80 15~80 M16*1.5 9 5 22 M8
ZLVFB | 20 | 20 25 30 40 50 60 80 15~100 M20*15 | 13 [ 5 | 27 M10/M12
ZZIL\\I;BB'\SA 24 | 25 30 40 50 60 80 20~100 M24*1.5 17 8 32 M16
30| 30 40 50 80 100 25~120 M30*1.5 23 8 36 M20

» SEIRIERYEERIRSY
m Lock Nuts

=l B Type+M Part Number Type+M
Buan ZLVN10 order ZLVN10

B T 2 A EXIBBER (Materials) SHFIIER (Specifications)

Bz Part Number | M*Pitch
s HE REIE — T | B

. Surface Type M | 4% Fine

Type Material

Treatment 8 M8*0.75 4 13
ZLVN S45C & ZEBlack Oxide 10 M10*1.0 4 17
m ZLVNM S45C  |4E48Nickel Plating z2ivn | 12 | M12710 | 5 | 19
ZLVNS SUS304 / ZLVNM 16 M16*1.5 5 22
ZLVNS [ 30 [ M20%15 | 5 | 27
24 M24*1.5 8 32
30 M30*1.5 8 36




» RFEINEAERR
= Standard Leveling Bolts

EO=n T BT Type+M-L Part Number Type+M-L
fBugn ZLLVBB8-8 order ZLLVBB8-8

e MR SEEAME Biz{Part Number M*Pitch .
Type Material Surface Treatment Type . LIEER I Imm 4HTF d T B Appli%imf%crew
ZLLVBB S45C % Black Oxide Configurable 1Imm Increment Fine
ZLLVBM S45C #E$RNickel Plating 8 5~35 M8*0.75 | 3.5 ( 13 | 13 M3
ZLLVBS SUS304 / 10 10~55 M10*1.0 | 5.5 | 16 17 M4/M5
zuves BB 10~60 M12:10 | 7 | 18 | 19 M6
ZLLVBM 16 15~70 M16*1.5 9 20 22 M8
ZLLVBS | 29 15~80 M20*15 | 13 | 24 | 27 M10/M12
24 20-80 M24*1.5 17 28 32 M16
30 25~80 M30*1.5 | 23 [ 30 | 36 M20
» TOEBLER IR

= Standard Leveling Screws

L= AU Type+M-L Part Number Type+M-L
BN ZLVW12-10 order ZLVW12-10

o -57 HEATERSR (Materials)
] BEType - N
T N — b EE
LR LRTIEEQ Material surface Treatment
L Selectable Type L Configurable
ZLVW ZLVFW S45C & ZBlack Oxide
ZLVWM ZLVFWM S45C #E#ENickel Plating
L ZLVWS ZLVFWS SUS304 /
SHFIERE (Specifications)
BIF{Part Number M*Pitch EmER
T iy Liggay LigES A 1mm mF B | d [HL]| H |Applicable
ype L Selectable Configurable 1mm Increment Fine Screw
ZLVW 12 10 15 20 10~30 M12*1.0 6 3.5 4 8.5 M3
ZLVWM | 16 | 15 20 30 15~40 M16*15 | 8 | 45| 5 | 12 M4
ZLVWS -
ZLVEW 20 | 15 20 25 35 40 15~40 M20*1.5 10 | 55 6 13 M5
ztvewm | 24 [ 20 25 30 40 20~50 M24*15 | 14 | 65| 8 | 17 M6
ZLVFWS 30 ( 25 30 40 25~60 M30*1.5 17 9 10 22 M8




» RFEEREAAF BERRR

m Leveling Screws - Large Holes for Adjustment Wrench Flat

EO=n T BT Type+M-L Part Number Type+M-L
fBugn ZLVGB12-10 order ZLVGB12-10

1
(TS

.

e

1

(

=

)

\

d1
S
D

B [ L L
#1EXIBR%E (Materials)
F{KkMain Body #HEWasher
BE
Type (%153 FEALE (%153 FEALE
Material surface Treatment Material surface Treatment
ZLVGB S45C &ZEBlack Oxide SPCC $BE¥Trivalent Chromate
ZLVGM S45C & Nickel Plating SPCC &&= Trivalent Chromate
ZLVGS SUS304 / SUS304 /
SEYIERE (Specifications)
B Part Number M*Pitch EmiEe B Washer
T M LigiEsy WF B d T | Applicable| ZLVGB/ZLVGM ZLVGS
ype L Selectable Fine Screw D d1i t D | d1 t
12 10 15 20 M12*1.0 10 6 6 M4 10 [ 45| 16| 10 | 45| 15
zlvge | 16 | 15 20 25 30 M16*15 | 12 | 8 | 8 M5 16|55 2 | 12|55] 2
ZLVGM 20 15 20 25 30 35 40 M20*1.5 17 9 10 M6 16 [ 65| 32| 13 [ 65 3
ZLVGS | 24 | 20 25 30 35 40 M24*15 [ 19 [ 9 | 10 M6 16 | 65|32 13|65 3
30 | 25 30 35 40 M30*1.5 22 12 12 M8 20 | 8.5 3 22 | 85 3




AR e o

Shoulder Bolts

P 2% [ K&

w

ZHENGCHEN HARDWARE



= S5
m Shoulder Bolts

s= s ] B Type+D-L Part Number Type+D-L
fign ZMSB4-10 order ZMSB4-10

max. T

De9

jﬂ 2. Bmax.
E L+o0.1 F

1 EXIERZER (Materials)

k= R HE BESHE RERME
Type Material | Hardness | Strength Class Surface Treatment
KRB
ZMSB SCM435 | 33~38HRC 10.9 Black Duide
ZSMSB SUS304 / A2-50 /
BEIVIERZE (Specifications)
B Part Number
Tvoe b L [!] SMSBHILR &SRR De9 Al B C|E M FLT
yp [ ! ] SMSB is applicable only to sizes marked with *
4 |[*10 *15 *20 *25 *30 *35 *40 45 -0.02 65| 25| 16| 3 | 25%045 | 5 | 45
45| *10 *15 *20 *25 *30 *35 *40 45 50 -0.05 7 125|116 3 3%0.5 6 5
5 | *10 *15 *20 *25 *30 *35 *40 45 50 8 | 25| 16 | 35 3*0.5 6 | 55
55| *10 *15 *20 *25 *30 *35 *40 45 50 55 :g'gg 9 3 122 4 4%0.7 7 6
6 | *10 *15 *20 *25 *30 *35 *40 45 50 55 60 65 70 9 2 | 4 4%0.7 7 | 65
*10 *15 *20 *25 *30 *35 *40 *45 -0.025
6.5 10| 4 | 25| 5 5+0.8 9 7
*50 55 60 65 70 75 80 -0.061
*10 *15 *20 *25 *30 *35 *40 *45 *50 *55 *60 -0.025
8 13 | 5 3 6 6*1.0 9 | 87
*65 *70 *75 *80 85 90 95 100 110 120 -0.061
ZMsB *10 *15 *20 *25 *30 *35 *40 *45 *50 *55 *60 -0.025
ZSMSB | 10 16| 6 4 8 8*1.25 12 108
*65 *70 *75 *80 *85 *90 95 100 110 120 -0.061
10 15 20 25 30 35 40 45 50 55 -0.032
12 17 | 6 | 4 8 8+1.25 12 | 128
60 65 70 75 80 85 90 95 100 -0.075
10 15 20 25 30 35 40 45 50 55 60 -0.032
13 18 | 8 5 | 10 10*1.5 16 | 14
65 70 75 80 85 90 95 100 110 120 130 -0.075
15 20 25 30 35 40 45 50 55 60 65 70 -0.032
16 24 (10| 7 | 14 | 12*175 | 18 | 17
75 80 85 90 95 100 110 120 130 140 150 -0.075
20 40 50 60 70 80 90 100 110 120 130 140 150 _'0060;2 27 | 14| 9 | 18 16*20 | 24 | 21




» KEBTLES

lemina

m Precision Shoulder Bolts - Configurable Length

sl ] B, Type+D-L Part Number Type+D-L
filan ZMSBL6.5-10 order ZMSBL6.5-10

-
"
LE, /o
o
[}
(=]
—
B 2. Smax.
A L+o0.02 F
#3RITEBFR (Materials)
BE L5 WEE RS RELE
Type Material | Hardness | Strength Class Surface Treatment
KRR
ZMSBL SCM435 | 30~35HRC 10.9 Black Oxide
SRR (Specifications)
Bzt Part Number
De9 A B @ E F M T
Type D L
65| 10 15 20 25 30 40 10 4 25 5 9 5*0.8 7
8 (10 15 20 25 30 35 40 45 :gggi 13 5 3 6*1.0 8.7
10| 10 15 20 25 30 35 40 45 50 16 6 4 8 12 8*1.25 10.8
ZMSBL 13 |15 20 25 30 35 45 50 -0.032 18 8 5 10 | 16 10*1.5 14
16 | 20 25 30 -0.075 24 | 10 7 14 | 18 12*1.75 17
-0.040 .
20| 20 25 30 -0.092 27 | 14 9 18 | 24 16*2.0 21
» HMESEIRLESIEE

m Large Head Shoulder Bolts - Tolerance €9

sl =ed] ] B Type+D-L Part Number Type+D-L
Ban ZMSBY6-15 order ZMSBY6-15

=B
e M
Y A
o |
D R
112
0 0
-0.2 0.2 L F
#3RITEBER (Materials)
BE MR BE REALE
Type Material | Hardness Surface Treatment
ZMSBY S45C 40HRC A& 2EBlack Oxide

BEIVIERZE (Specifications)

BIF{Part Number
L M A E F

Type De9

-0.02 *
6 i 15 20 4%0.7 24 | 7 7
ZMSBY

8 -0.025 25 30 35 40 6*1.0 30| 8 9
10 -0.061 25 30 35 40 8*1.25 36 | 10 | 12




» ERAESRE

= Shoulder Bolts - Tolerance g6

=] B Type+D-L Part Number Type+D-L
N ZGMSB4-10 order ZGMSB4-10

max. T

=

e

jﬂ 2. Smax.
E L+o.1 F

1 EXIERZR (Materials)

B DAZE MR 353 RS RELE
Type Tolerance | Material | Hardness | Strength Class Surface Treatment
ZGMSB SCM435 | 33~38HRC 10.9 & Black Oxide
ZSGMSB ce SUS304 / A2-50 /
ZMSBH ho SCM435 | 33~38HRC 10.9 A& Black Oxide
ZSHMSB SUS304 / A2-50 /

SHVIEEZ (Specifications)

BIF{Part Number
T D L [!) {XGMSBEYILETH*RIR T Dgb Al B | C E F M T
ype [!] Dimensions in () are only available for GMSB
4 [ 10 15 20 *25 *30 65| 25| 16| 3 5 | 25%045 | 45
5 (10 15 20 *25 +30 ROl 8 | 25| 16|35 6 3%0.5 5.5
ZGMSB ™m0 15 20 25 30 35 40 oo 3 2 | 4 7 4%0.7 6.5
ZSGMSB . :
8 |10 15 20 25 30 35 40 45 50 -0.005 13| 5 3 6 9 6*1.0 8.7
10 | 10 15 20 25 30 35 40 45 50 55 60 -0.014 16 | 6 4 8 | 12 8125 |10.8

SHVIERZE (Specifications)

Bzt Part Number
Dh7 Al B | C E F M T
Type D L

4 |10 15 20 65| 25| 16| 3 5 | 25%045 | 45
5 (10 15 20 0 2516 |35]| 6 3%0.5 5.5
ZMSBH 0 15 20 25 30 0012 3 2 7 4%0.7 6.5

ZSHMSB : .
8 |10 15 20 25 30 0 13 9 6*1.0 8.7
10|10 15 20 25 30 35 -0.015 16 | 6 4 8 | 12 8+*1.25 |108




» SRR
m Low Head Shoulder Bolts - Selectable Step Length
s= s ] B Type+D-L Part Number Type+D-L
fugn ZLMSB4-10 order ZLMSB4-10

=

C| 2. 5max.
E L+0.1 F

1 EXIERZR (Materials)

Bs DRE MR BE BESE FREALE
Type Tolerance | Material | Hardness | Strength Class Surface Treatment
ZLMSB SCM435 | 28~37HRC 9.8 A& BBlack Oxide
ZLSMSB e SUS304 / A2-50 /
ZLMSBG SCM435 | 28~37HRC 9.8 & EBlack Oxide
ZLSMSBG ce SUS304 / A2-50 /
ZLMSBH o SCM435 | 28~37HRC 9.8 & EBlack Oxide
ZLSMSBH SUS304 / A2-50 /

SE¥IERZR (Specifications)

Bix{Part Number
L (96/h7’A§ﬂEFHT¥*?§%E‘JE?) €9 Dg6 Dg6 A B C E F M T
Type D | (G6 / H7 tolerances are only applicable
for * dimensions)
4 | *10 *15 *20 65| 25| 16 2 5 25*045 | 4.5
ZLMSB 45| *10 *15 *20 25 30 35 40 7 25| 16 2 6 3*0.5 5
-0.02 -0.004 0
* * * * *
ZLSMSB 5 10 *15 *20 *25 0.05 0,012 0,012 8 |25 16| 2 6 3*0.5 5.5
ZLMSBG | 5.5 | *10 *15 *20 *25 30 35 40 9 | 3 |22]|25] 6 4%0.7 6
ZLSMSBG | 6 | *10 *15 *20 *25 9 3 2 2.5 7 4*0.7 6.5
ZLMSBH * * * *
ZLSMSBH 6.5 | *10 *15 *20 *25 *30 35 40 10 4 2.5 3 9 5*0.8 7
-0.025 -0.005 0
* * * * *
8 10 *15 *20 *25 30 35 40 -0.061 -0.014 0,015 13 5 4 9 6*1.0 8.7
10 | *10 *15 *20 *25 30 35 40 16 6 4 5 12 8*1.25 10.8




» TR EHRE

m Fulcrum Pins - Straight Slot Groove, Configurable

=] B Type+D-L Part Number Type+D-L
fuan ZCBBD4-1 order ZCBBD4-1

—=f& / Slotted ZCBBD / ZCBBDH / ZCBD A75[ / Allen ZCBDBR / ZCBDBRH / ZCBDR
L
M M
T - z8 —
75 i
= Fa} [
hil i | h1 g
A El Liw F A E| Loa F
¥Fih[ENEE / The edge spacing ZCBDBW / ZCBDBWH / ZCBDW 733k / Hex ZCBDBL / ZCBDL
% "
M
= ra . z4 L
2= by
T fn
[
s -
T
| i 1 it
W E sl F 6 El Lis | F
11 EXIERZR (Materials)
S Type R B KRR
—i&/Slotted | PIMFL/Allen | ¥ibiEEE /The edge spacing 7fask/hex Material | Hardness Surface Treatment
ZCBBD ZCBDBR ZCBDBW ZCBDBL S45C / & ZEBlack Oxide
ZCBBDH ZCBDBRH ZCBDBWH / S45C 40~45HRC & EBlack Oxide
ZCBD ZCBDR ZCBDW ZCBDL SUS303 / /

S¥¥IERER (Specifications)

BIz{Part Number
Type D L
_— 4 1 2 3 4 5
Slotted  Allen e edge 5|1 2 3 4 5 10
=i HAE7, spacing hex
e WibEE  Afk | 6 [ 2 3 4 5 6 10
ZCBBD ZCBDBR
ZCBDBW  ZCBDBL | g 5 6 7 8 9 10 12 20
ZCBBDH ZCBDBRH ZCBDBWH  ZCBDL
10 5 6 7 8 9 10 12 15 20
ZCBD ZCBDR ZCBDW
12 6 7 8 9 10 12 13 15 20

S¥¥IERER (Specifications)

BI5Y E
Part Number A —=f TEE/ A ERL M F L w B h hl C |W1l| G
Type D Slotted ﬁ%%i“/Other
The ed 4 2 3.5 25045 | 4 | 08| 08| 2 1 2 05| 5 7
e e e
Slotted Allen 9 h 5 8 2 40 3*0.5 6 1 ]08|25( 1 |25([05]| 7 8
—=pm AAR spacing ex
Fi= N ihiEIE AL 6 | 10 25 4 4%0.7 8 |12[12] 3 | 15| 3 o5 8 | 10
ZCBBD  ZCBDBR
ZCBDBW ZCBDBL | 8 | 12 3 45 5*0.8 10 (14 (12| 4 15|35 1 | 10| 13
ZCBBDH ZCBDBRH ZCBDBWH  ZCBDL
ZCBD ZCBDR ZCBDW 10 | 16 4 5 6*1.0 12 | 15[ 14| 5 [ 18] 4 1| 13| 17
12 | 18 5 5.0 8*1.25 12 15| 15| 5 2 4 1| 14| 19




» TR EHRE

m Fulcrum Pins - Straight Slot Groove, Configurable

=] B Type+D-L Part Number Type+D-L
N ZCBDG4-1 order ZCBDG4-1

—1% / Slotted ZCBDG W7<F / Allen ZCBDGBR/ZCBDGR

C B C

=
=

W
De6
Des

=2

- hi i
E| L | F A E

1 EXIERZR (Materials)

BSType IR FELLE
—=7{&/Slotted RI7<fa7l/Allen Material Surface Treatment
/ ZCBDGBR S45C & ZBlack Oxide
ZCBDG ZCBDGR SUS303 /

BEIVIERZE (Specifications)

BIF{Part Number
Type D L
4|11 2 3 4 5
51 2 3 4 5 10
Allen
5'°j:‘;’ mAgA | 6| 2 3 4 5 6 10
1=
ZCBDGBR | 8 5 6 7 8 9 10 12 20
ZCBDG 5 cgpeRr
10[5 6 7 8 9 10 12 15 20
12| 6 7 8 9 10 12 13 15 20
SHXIBRE (Specifications)
st E
Part Number Dg6 A —=jE Yav-th M F { W B h hl C
Type D Slotted Allen
4 2 3.5 25%045 | 4 | 08| 08| 2 [ 1| 2 |o05
5 :8’82‘2‘ 8 2 4.0 3*0.5 6 | 1 |08]|25| 1 [25]|05
Allen 6 10 25 4 4+07 8 12|12 3 |15 3 |05
Slotted HAET,
—is /N 8 _0.005 | 12 3 45 5%0.8 10| 14|12 4 |15]|35] 1
ZCBDGBR
ZCBDG phGr | 10 | 0014 | 16 4 5 6*1.0 12|15 14| 5 [18| 4| 1
-0.006 .
12 [ o, |18 5 5.0 8125 | 12 |15]|15| 5| 2| 4|1




Ll
PRALLAA

w FESLAhEEIRE

m Stepped Screws - Low Head Selectable

B Type+M-L-F

Type+M-L-F

ZDBB 3- 3-3

ZDBB 3- 3- 3

hi

Dh7

=) Jz{,Part Number

Tg;:e Mzatteﬁrial Surfac%eﬁ'i'fi%ment Type Mi_t L F E | Dh7| A B ¢ hl
ZDBB S45C & 2Black Oxide 3 3 3 4 5 6 2 5 8 2 1 2
ZDBS SUS303 / 3 4 3 4 5 6 2 5 8 2 1 2
3 5 3 4 5 6 2 5 8 2 1 2

3 6 3 4 5 6 2 5 8 2 1 2

3 7 4 5 6 2 5 8 2 1 2

3 8 4 5 6 2 5 8 2 1 2
4 3 4 5 6 8 2.8 6 10 [ 25 | 1.2 | 25
4 4 4 5 6 8 2.8 6 10 [ 25| 1.2 | 25
4 5 4 5 6 8 2.8 6 10 | 25 1.2 | 25
4 6 4 5 6 8 2.8 6 10 | 251 12| 25
4 7 4 5 6 8 2.8 6 10 [ 25 | 1.2 | 25
7DBB 4 8 5 6 8 2.8 6 10 | 251 12| 25

ZDBS 4 10 6 8 2.8 6 10 [ 25 | 1.2 | 25

5 3 5 8 10 3.5 8 12 3 1.4 3

5 4 5 8 10 3.5 8 12 3 14 3

5 5 5 8 10 3.5 8 12 3 1.4 3

5 6 5 8 10 3.5 8 12 3 14 3

5 7 5 8 10 3.5 8 12 3 1.4 3

5 8 5 8 10 3.5 8 12 3 14 3

6 3 10 12 4 10 16 4 15 ] 35

6 4 8 10 12 4 10 16 4 15| 35

6 5 8 10 12 4 10 16 4 15| 35

6 6 8 10 12 4 10 16 4 15| 35

6 7 8 10 12 4 10 16 4 15 ] 35

6 10 8 10 12 4 10 16 4 15| 35




n G
m Stepped Bolts - Low Head

S]] B Type+M-L-F Part Number Type+M-L-F
N ZDBGB3-5-3 order ZDBGB3-5-3

#B#5LB! / Extra Low head ZDBGB / ZDBGM / ZDBGS #8:LBY / Low Head ZDBTB / ZDBTM / ZDBTS

B1 hi ¢ B2 h2 {
7 M T
/.

—0.2_

0

A E1| L1 F A B2 |12 F

RS Type IR FELLE M L F
B33k BYExtra Low head 583k 8L ow Head Material Surface Treatment
ZDBGB ZDBTB S45C & ZBlack Oxide 3~10 5~20 3~15
ZDBGM ZDBTM S45C #E$RNickel Plating 3~10 5~20 3~15
ZDBGS ZDBTS SUS303 / 3~10 5~20 3~15
SHEEFE (Specifications)
B3y fEEEMImm
Part Number 1mm Increment E D A B L hl
Type M L F
3 5~20 3~6 1.5 5 8 | 15 1 1.5
4 5~20 4~8 1.5 6 10 2 1.2 2
ZDBGB 51" 5 20 5~10 | 15| 8 | 12| 3 |14 3
ZDBGM
ZDBGS 6 5~20 6~12 15| 10 16 3 15 3
8 5~20 8~12 15| 12 | 18 4 | 15| 35
10 5~20 10~15 15| 15 20 5 15 4
SHIIERZE (Specifications)
Bis{ fEERfilmm
Part Number 1mm Increment E D A B L hl
Type M L F
3 3~20 3~6 2 5 8 15 1 2
4 3~20 4~8 28 | 6 10 2 12| 25
ZDBTB 151" 3. 20 5~10 | 35| 8 |12 3 [14] 3
ZDBTM
ZDBTS 6 3~20 6~12 4 10 | 16 3 15| 35
8 3~20 8~12 5 12 18 4 15 4
10 3~20 10~15 6 15 | 20 5 15| 45




	8b68266b4577960cf327de466a9c873b53c756bfe27e059790ae9214aac51bda.pdf
	8b68266b4577960cf327de466a9c873b53c756bfe27e059790ae9214aac51bda.pdf

